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PREVIOUS QUESTIONS |

q IZF FIOT ST A G FEAR SN giadiw SrRe vl iR S1-280T T Yo I5Ed o W3R TeR (ot
AN O 491 7t | B Wi AT dgfen Tie TieE (ot AT SetEE AIF Tewr T WAHNGTEe (T «3e

TS (681 A1 | ST FTEAwa FI07 21 | I 9002 376 939 Memory Test-9 a4 (AT & 4107 |

St TS _ (General English
RO IP-RORO Fill in the blanks with Eppmpriate words

FE: ¢o (A% Hf40) | voxd.2e=9¢ (Questions 13-15)
G 13. The tall gentleman ------- by the door is the bank
. , manager.
01. ‘9= ."Ff?zﬂ'm TSR AT -9 IAEFT TEHS A. who standing B. is standing
TSR >0 (1 FAF (T {T5(E? C. stands D. standing
A. ﬁﬁmﬁaiwmﬁqﬁ’r B. :r"“ﬁlﬁ 'ﬂ% 14. 1 am looking forward to ------- you.
C. D. g4t A. seeing B. see
02. ‘w1 R @ oereng qE I@ ... '~ R C. saw _ D. sees
T (T - 15. Eﬂle_l:ll( aj a child, sleep ------ ]5?. Sl]I]I:jEII&EI.
Ly . like elude
2' @Ef BD a frota C. disturbed D. loved
' - eI Fill in the blanks with appropriate prepositions
03. fAws 1 e Fd? (Questions 16-17)
A foem, e, oz, ot B. =R, Witd, <@, 79 16, The building is made ------- bricks.
C. 949, A=l o9, (M D. (%, “19<, *4q, ohE! A.with B.of C.on D. from
04. Z=FeeT T A 02 17. The Bullet Train travels ------- 200 miles an hour.
A B e A. for B.in C. at D. off
C. =t D. et 18. Choose the correct sentence:
‘ ' - A. Who belongs to the book?
05. ﬁﬂ%? iniidd S ;gﬁ? B. Whom does the book belong?
A. T B. R ¢l C. To who the book belongs?
C.oerra s ghiaean D, 2ffests fampig D. Who does the book belong to?
06. w¥srs s (it ‘et o @iferm =2 19. Which is a synonym of the word Incredible?
A cliifes B cifss A. Impervious B. Probable
C. = D. cuisi=o C. Unspectacular D. Inconceivable
: ' 20. Choose the closest opposite meaning:
07. foeitets s g wiRs grg FFib? Pp &
) A B i She is indeed human
kR ' w A. universal B. devilish
C. 3zd D. s C. divine D. terrestrial
08. w3 &= | FieE" @272 21. Find the misspelt word:
A. 8% B. wtstey A. Percieve B. Receive
C. olaqg D. 36 C. Belief D. Concelive
09. ‘=g’ I I GTR (T St CATF- 22. The word 'Paradigm’ means:
F1a - A. Proof B. Parallel
s 3 B, G C. Advice D. Example
C. , D. 23. Salman is one of the richest persons in the town.
10. F R @+ B e sa @t a3z Searm - 2
What does the sentence imply?
ﬁ'ﬂ"’l'ﬂ'iw ifos za? A. No other man is as rich as Salman in this town.
A ALY A B. Spdre) A9 B. No one in this town is rich.
C. o9&y 7 D. %% AqH C. Very few persons in the town are as rich as Salman.
11. & ofaal® 1 51T TER? D. Salman 1s very rich but others are also rich.
A e B. foe 24. The expression 'distinctive qualities' means those
C- N D- g e qualities of a person which.
' - A. are the same as those of others.
12. =@ Wﬁq:ﬂ*ﬁ_’r B frcafea- ‘ B. make him/ her different from others.
A. ddo¢ A | B. 33 AT C. emphasise honesty in him/ her.
C.saeqa s D. 5849 HITA | D. depend on his/ her instincts.
Answer: 1.C 2A3.B 4D5.C6C7.B 8B9.A Answer: 13.D 14.A15.B 16.B 17. C 18.D 19. D

10B 11.B 12.B 20C21.A 22D 23.C24B
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=or=i=esiv_(Accounting)

(Which of the following accounts is closed at the
end of an accounting period?)
A. Capital (I514¥)
B. Unearned revenue (Sg=iifers =)
C. Prepaid insurance (s faar)
D. Drawings (®re=+)
R 7=4ife Ft 437 &7 gt F@? (What type of
balance does a contra asset account show?)
A. 8RB (Debit)
B. @&t (Credit)
C. =1 (Zero)
D. tefab «ae (@ et g2 (Debit and Credit both)
D T T @EE @@ g FIe AE? (How
many types of balances can an account show?)
A. Tef<b =@ (Debit Balance)
B. t&f%t (&@ (Credit Balance)
C. Tefb 9ae (&%t (5@ 712 (Both Debit and Credit
Balances)
D. teieb, @rel «ae 7 & (Debit, Credit and Zero Balances)
e &= T Af6e w1? (Which of the
following equation is not correct?)
A. A=L+0O/E B. A-L=0/E
gﬁ%;Or’E o D. A+O/E=L

. g . MISIERSTE R A
R0, 000 ;1-1:', Yo, 000 ;E S TETE:W T [Seacath
*it19 19 ¥5? (How much is the cost of goods
available for sale if the beginning stock, closing
stock and the cost of goods sold are Tk. 20,000,
Tk. 30,000 and Tk. 70,000 respectively?)
A. ¢o,000 5= (Tk. 50,000)
B. »o,000 519 (Tk. 90,000)
C. so0,000 B9t (Tk. 100,000)
D. »o,000 51 (Tk. 80,000)
e (=l garererss I7a? (Which of the following
is revenue expenditure?)
A. Ti*tsa @aw=n (Purchase price of machinery)
B. waf*it7 fa=it 995 (Insurance cost of machinery)
C. tuf*it =i« @% (Import duty of machinery)
D. tf*Itm 3i2g1+i= <59 (Installation costs of machinery)
Tl 2A¥e FAl T/ - | (Balance Sheet is
prepared ------ )
A. «3fb a2 ©1fftd (on a specific date)
B. 7€ 9=ig9 &9 (for the year end)
C. «=b f2o1q q=tad w0 (for one accounting year)
D. «=fC wifd= gw@a &0 (for one financial year)
TRIed A (@9 Tgw AFe WEF FEFR? (During

inflation, which inventory costing system is more

important?)

A. FIFO B. LIFO

C. HIFO D. Average Cost

TR LAMIER TAF I57 APS 2D | TSEGATF S/¢

Qe TATF IDLA PrECS IR IIAER ST FLAAI
ReE agd T It IDET 797 w9 F97 (The
profit sharing ratio of two partners is 2:1. What
is the new profit sharing ration of partnership
business if they accept another partner with an
agreed profit sharing ration of 1/5 of total
business profit?)
A, e (2:1:5)

C. »:8:9 (8:4:3)

B. 235 (2:1:1)
D. 8:2:¢ (4:2:5)

34.

35.

36.

37.

38.

39.

40.

41.

(Which depreciation method shows the lowest
amount of depreciation in the first year?)

A. F=a4% “mfe (Straight line method)

B. @z« afe (Declining balance method)

C. 39 345@ 313 4=fe (Sum of the years digit method)
D. ®esims «<s (Units of production)

NETWIRTE (A O¢o BIFRT (BF B W IS VG0
Bt (et TR | R TR0 T wuEd FEadics Feiw
TS TE? (A creditor was paid in cheque Tk.
3520 which was wrongly recorded in the cash
book as Tk. 3250. How will this error be adjusted
in bank reconciliation statement?)

A. 75w 98739 AIY (@151 2 290 B (Added with cash
book Tk. 270)

B. @it fagadlia wd qsl =@ 290 Biwt (Added with
bank statement Tk. 270)

C. 75w 92 (Ats Al =@ 290 G (Subtracted from
cash book Tk. 270)

D. T fTaadlt (At st =@ 290 B9 (Subtracted
from bank staement Tk. 270)

oe (i wifds Readis =t 78?7 (Which one of the
following is not a component of the financial
statements?)

A. w4 g[ <99l (Statement of Financial Position)
B. 3= Searee et (Value added Statement)

C. 5% 2% 733 (Cash flow Statement)

D. sFeitEae 9 f99ad! (Statement of
Comprehensive Income)

Answer : 25D 26B 27. D 28D 29. C30.B 31. A
32.B 33.C 34.A 35.C36.B

[ NS« st (Business Principles)

TF Fragem 7 W Fem A Reiwsty =mda?
(For which work Frank Gilbreth's name is most
noted for?)

A. 53 @ sif$ faqr=1 (Time and motion study)

B. =14 sifata* (Working condition)

C. o wtaifes== (Work psychology)

D. sifer K7 2o <ie (Work as a social setting)
HANIME AAS o ITACHF F06 7wv0 gearea? (What

is the minimum number needed to form
cooperative society?)

A. b & (8) B. 5 &= (9)

C. o &+ (10) D. s (11)

fomrarz fefe §1? (What is the base of controlling?)
A. F¢15 (Organization)  B. #f&<g+t (Planning)
C. =i95#g (Staffing) D. wf=eit (Motivation)
oM Wizzd 8 AfFEEead IIAEE FN IERER
w@+1s? (Which of the following functions of business
include collection of resources and processing?)

A. =44 (Production)

B. #fz=ze (Transportation)

C. anreresa¢d (Warehousing)

D. #difTes79 (Grading)

FATSEF 7Eaaa BeRF &7 (Who is the founder of
functional organization?)

A. =79 %=1 (Henri Fayol)

B. ww w@e. oo (F. W. Taylor)

C. tzafa @=. 76 (Henry L. Gantt)

D. tafd 1< T (Mary Parker Follet)
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WYfAE Teerdw o FEie? (Which one is the
modern organization structure?)

A. We=ta¥< (Line) B. «iwg <4 (Staff)

C. 3fefes (Functional) D. w® (Matrix)
GFHIEFET FIAET 9 G341 &FAG? (Which one
is the main disadvantage of sole proprietorship
business?)

A. Aifre I=19a (Limited capital)

B. Fifs® wrRre« (Limited area)

C. =3 w13 (Unlimited liability)

D. gfax srsigiet (Lack of artificial entity)

wAmIa AIAER g7 f6fe @WG? (Which one is the
foundation of Partnership Business?)

A. W@ (Ownership)  B. 5f® (Contract)

C. 7719+ (Capital) D. 1511 (Profit)

TR BiEw S§ SR FETRE ITY (FIF 490
5ifZwi? (According to Maslow's need hierarchy

theory, what type of need is the 'friendship in
work-field'?)

A. t&if<= (Physiological)

B. fat=ral (Security)

C. e (Social)

D. wiw<=r (Self actualization)

AR ATWE I IE - | (Numerical
expression of plan is called ----- )

A.¥if® (Policy)  B. @ (Goal)

C. e (Budget) D. @ (Strategy)

e wfeg 19 93t72? (Which one is the entity
of company?)

A =g=e« (Short term)  B. o=@ (Perpetual)

C. ™2 (Certain) D. @izt (Long term)
R T4 TR Tuizat I e feff
Twizad | [A (n) would be an example of a
principal, while a (n) ----- would be an example of

an agent.]
A. fRess; @[ (Accountant; Shareholder)

B. IstzrwR; ke (Bondholder; Accountant)
C. T=Rati=ieq; 959319 (Shareholder; Manager)
D. Tigi#ie; e[ (Manager; Bondholder)
Answer : 37.A 38.C 39. B 40.A 41.B 42.D 43. C
44.B 45.C 46.C 47.B 48.C

TH62 (Marketing)
T T coret Imm Refermm Tigs oo a7
(Which of the following is not a recognized base

for segmenting consumer markets?)

A. gegEIETe (Demographic)

B. teitiifs® (Geographic)

C. dferifsreme® =g  (Competitive position)

D. w=ifgs (Psychographic)

e @Rl IR FerEs Boimm e Ravs?
(Which of the following is considered to be an
element of marketing promotion?)

A. TP (Services)

B. ©1939 (Location)

C. si9=ieziel (Public Relations)

D. @if%2 (Branding)

PO (SIS FIr 97 ¢fi=m &7 (Who supplies the
product to the final consumer?)

A. t@=iifd (Company)

B. samzidl (Supplier)

C. gferait (Competitor)

D. 9413353 (Middleman)

53.

54.

55.

56.

57.

58.

59.

60.

IEREeFY PR duiw 84w F3? (How many
are the main elements of marketing mix?)

A. 336 (Two) B. f&=1f6 (Three)

C. 7@ (Four) D. 715 (Seven)

e =6 csty #1437 (Which of the following is a
consumer product?)

A. 3BE (Raw materials) B. T& 163 (Generator)
C. 33-iifs (Machinery) D. wfEfe= (Television)
wedn R e Souret €% 497, ¢Rt 8 iR
[oriia Ak e pic i | -7 p— | (A paid form of
nonpersonal presentation of goods, services and
ideas by an indentified sponsor is called ----- )

A. g9 (Publicity)

B. 7if&= fa@w (Personal selling)

C. faei#« (Advertising)

D. f<@a @¥i= (Sales promotion)

e FED OIT @i IRF TgEEE IR
wwee! (Which of the following includes in
external greening activities of a company?)

A. ¥4 (g1 (Pollution prevention)

B. I=t%t wg= (Earning profit)

C. =47 feega (Product Design)

D. %9t ¢ofd (Preparing strategy)

*ITHR AIRA 5Ld (17 BCA Frofa =iz 38y ifezsa
<afa ¢68t 3?7 (In which of the following stage of

the product life cycle, the company tries to
modify the characteristics of the product?)

A. 751 ¥4 (Introduction stage)

B. %4 (Growth stage)

C. 9=t 9 (Maturity stage)

D. 7@« &9 (Decline stage)

e e T SR Prate der R g
Rtzer ©dm=? (Which of the following is an
external consideration atfecting price decision?)
A arergereead e (Marketing Mix)

B. vifes qremaetessae et (Overall Marketing Strategy)
C. S (Objectives)

D. <t 2o «=z vifewt (Nature of the Market and Demand)
fAwa R ga A0 o9ge Tama AfFmm o ael?
(Which of the following is the last step of new
product development process?)

A. Jififegseae (Commercialization)

B. @197 fareae (Business Analysis)

C. =97 tefq (Product Development)

D. <iEEreddd Fetea g¥s (Marketing Strategy
Development)

Fieeeaet e (A JoT Te-9g Twiggd? (Which
one of the following 1s an example of
supermarket in Bangladesh?)

A. =it (Agora)

B. wi@®l a6 (Mustafa Mart)

C. =iee (Aarong)

D. s=ifd ©6 9 (Rokomary dot com)
=S JTe w9 (SieF Fge] Med & ==
¢=ta garen? (Im which of the following products
strong brand preference and consumer loyalty
are applicable?)

A 71 =<y (Convenience product)

B. =%z #43 (Shopping product)

C. faf*f2 7«1 (Specialty product)

D. =@ifew =<y (Unsought product)

Answer : 49.C 50.C51.D 52.C53.D54.C55. A
56.C 57.D 58.A 59.A60C

3
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2 (Finance and Banking)

e L FaE FEFs Fiew 71?7 (Which one is

NOT the function of a central bank?)

A Igidife g4z 8 989 | (Formulate and implement

monetary policy)

B. R MR IR TFCFH ATC 9T 8 JFIEA |

(Formulate and implement intervention policy in the

foreign exchange market)

C. 7gaifq Qe W e wgw ¢ g9z 1 (Hold

and manage the official foreign exchange reserve.)

D. wiffeas @iifiatera agd @ svkf@ | (Regulate

and supervise listed companies.)

e AT e g9 8 (ST TEIT WG @I [T

4% Rwra=? (What is the relationship between

market interest rate and bond value?)

A Tg9ifes (Proportional) B. ==t (Neutral)

C. 3919 (Negative) D. g51< (Positive)
FCEMBR-9F *IF Sz o e (FAites aFEs

Efwmqm 8 T Afm el Rasst 3@ =i?

(Which one of the following methods of capital

budgeting does not consider the time value of

money and the cash flow aspects of a project?)

A. -2 793 (Pay-back Period)

B. 46 <ew« ¥=17 (Net Present Value)

C. 9es=y =19 (Internal Rate of Return)

D. *1% ¥41%1 =19 (Average Rate of Return)

e A vafe JEamy $AmE? (Which of the

following is a component of working capital?)

A. 3ffdfens @ (Commercial paper)

B. @wifa f9e1 (Treasury bill)

C. fe@% (Debenture)

D. wgm¥e (Inventory)

faree wifdfs sz o I 39 I (AT wigs

IFa Ty wiFEw? (Which of the following

sequences lists financial assets from least risky to

most risky?)

A. Seif4FR ofum, F9Rd |, 9% (Preferred stock,

Common stock, Bonds)

B. 99, @ ¢Ri[, Sedifge® Ri9 (Bonds, Common

stock, Preferred stock)

C. JigRd w7, W9ifdF™ w4, 95 (Common stock,

Preferred stock, Bonds)

D. 3%, S@ifqsd e, YR <9 (Bonds, Preferred

stock, Common stock)

-t 429y v 7@ @ @et? (Which country

was the first to introduce Marine Insurance?)

A 127 (Greece) B. 3w=m® (England)

C. geifs (Italy) D. = (France)

e b TIHAEs werEad gEyq 719? (Which one

of the following is NOT internal capital of a

business?)

A. &% 99 (Taxes Payable)

B. 9t wiwsz (Accruals)

C. weifgs@ <@ (Preference share)

D. #wfs I1%! (Retained earnings)

fea S 00 (FAbE SEET 496 FEWE Z03?
(Which of the following sources bear the lowest
financing cost?)

A. 914 <= (Preference share)

B. 93 (Bond)

C. @< g%l (Retained earnings)

D. 7ng@d =9 (Common share)

69

70

71.

712.

e W Ga-RR cvra gaw@es 719? (Which of
the following is not applicable to Life Insurance?)

A. =Ffeszreq 5@ (Contract of Indemnity)

B. w4 3= (Surrender Value)

C. ™= =i (Insurable Interest)

D. pere e (Utmost good faith)

R R dee<sit &7 (Who is the maker of bill
of exchange?)

A. €155 (Holder) B. ©iitwel (Drawer)

C. wiw2 (Drawee) D. gi#i® (Payee)

&9 A4 (63 TSR TR e (72? (Which
cheque doesn't require any endorsement for
negotiation?)

A. 9123 (3 (Bearer cheque)

B. wist 9161 (6% (Crossed cheque)

C. ue=idd 6% (Traveler's cheque)

D. €F3 (63 (Order cheque)

iy wfy-= e=< &? (Who is the father of
modern fire insurance?)

A. iz 9199+ (Nicholas Barbon)

B. 2efew wrat (Eugene Fama)

C. ©3feram i@ (William Carry)

D. f&=1a @< (Fischer Black)

Answer : 61.D 62.C 63. D 64D 65. D 66.C 67. A
68.B69.A70.B 71.AT72.A

WRITING ABILITY TEST

Duration: 40 Minutes Total Marks: 45
The test contains 6 questions. Question 1-5 carry 5
marks for each and question 6 carries 20 marks.
Write answers only in the given space; no additional
paper will be supplied.

Translate the following sentences into English: 5

A. &1 SR ¢ora *f@w= | - Answer: He / She is stronger than 1.
B, /i =#0 47 | - Answer: Education is an invaluable treasure.
C. (T3 THATTR &+ TS AT58 HaTH |

Answer: A combined effort is
development of the country.

D. 57 o= 3411 - Answer: It's a long story.

E. S0l O AR 53 OIE |

- Answer: He has a wholesale business in Chattogram.
Translate the following sentences into Bangla: 5

A. It is now three minutes to four.

- Answer: BRIB1 A1eTs © i G 217 |
B. The growth in the export sector this year surpassed all
expectations.

- Answer: @ J2(E7 71 4TS &3 R ererr e |

C. He has run into debts. - Answer: (3 94T I0AZ |

D. To err is human, to forgive is divine.

- Answer: T8 @2 ©F FF/ W 90W / T A=A |

E. How much do I owe you? - Answer: S (S Sz T8 o7
Explain the following concepts in English: 5

A. Cyber Crime -

Answer: Cybercrime, also called computer crime, is the
use of a computer as an instrument to further illegal ends
B. The literary term 'Sonnet’-

Answer: Sonnet is a poem of fourteen lines using any of
a number of formal rhyme schemes.

needed for the

4
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C. International Mother Language Day-

Answer: International Mother Language Day stands for
the opportunity I have to speak a language which
preserves my tangible and intangible heritage, traditions,
and culture

D. Corporate Social Responsibility--

Answer: Corporate Social Responsibility is a
management concept whereby companies integrate social
and environmental concerns in their business operations
E. Online Shopping -----

Answer: Online Shopping is the action or activity of
buying goods or services over the Internet.

Make a précis of the following passage: S
There is an enemy beneath our feet- an enemy more
deadly for her complete impartiality. She recognizes no
national boundaries, no political parties and no population
groups. Everyone in the world is threatened by her. The
enemy is mother earth herself. When an earthquake
strikes, the world around us trembles. The power of a
quake is greater than anything man can produce. An
earthquake strikes without warning. When it does, its
power is immense. If it happens in urban areas, the
damage is huge. Buildings collapse, bridges fall and
gaping cracks appear in busy streets. If the quake strikes
at sea, huge tidal waves sweep inland. Earthquakes
happen when tow large pieces of Earth's crust called
tectonic plates suddenly slip. These plates slowly move
over a long period of time. It is not possible to predict
when an earthquake is due, but scientists today are trying

to find some way of fighting earthquakes. It is possible
that sometime in the near future mankind will discover a

way of protecting itself from earthquakes.

Answer :

Precis : Mother earth is a hiden enemy

Earthquake 1s mankind’s deadliest enemy which strikes
without any discrimination and is a threat to everyone. Its
power supersedes anything mankind can produce. It
strikes without any prior warning. It can wipe out an
entire city, cause huge tidal waves. Scientists are trying to
find out ways to protect the world from earthquakes.
TEFC IRATe A0 P et 8 e’ S
FiEH To 41 = | 5
Beg: #1407 W6 ¥ | TRTOR A7 @ 9 @R #¥o
fitg SqaeTR I (N (A2 | (Il Figte wdiATes e
s e e =@ o R 1y 8 AAfRedie weeE
TSI UGN FYY LS FAF6! Pofu =, Reae
TSRS ZE JICURE 1 AR @ IS G AL
FI® Wi I T T G | FEIAEET T TIPS
frtefarn wiFrsmet (A I S T AT |

e ANER (@ ARl Sonteie gIwE Srans |
AP A AFSI STV ANTTOR U I (FCER A
oI+ SISt MiferaTR | o1 A6t fg afoa ¢ st A2
O (RS St WIS SIS 2| @ (FE g
AR CIANIES BRGNS 4967 (I oG (SFAPR
Hete-gt ABR & @RS SEUEIE FTe SIS 2 |
q (% fAee e eivdNige ZRatate 4904 (7 oIty
coreTR Fe- Ayl #E A A4 SNl AR |

W Ty ([FS CToNIea @9, GiRel, Bieka wrwes,
4IPS, TNEW I CRYFT RS, F9e I SIS
WA A (Frg Ffie R @re A geEen
SRS I SwidTe! a0 | aiaimeis [, saam,
ARNE WP G-, TGF-]RE G 91 W=l B
40w R4 Frve @ 92 Fiem e <9 @re A |
AR FWa A, e AR A A, ©E@L AL0T
fItem faer o oY@ 2@, AE @3 |

6.

Answer the following short questions:  5x4=20
A. ‘TP - (3 (@4 ANISS AT 9] TU?

Tea: ‘AR’ AWM Yo FwEKe Wi woe 9l
TEAREA | TAMEGIS TSR PRFM, SUE, NSO
frfreta <91 ow (o 2R W AMR2 AVS@ TS |
©12 AEPIE] SATIHALLE GFI0 ANErE A I ZF |

B. Write a few lines about your mother. Mention the
qualities that make her dear to you.

©&3: My mother is the best mom in the world. She is
only 35 years old. She is very hard working women.
She 1s a housewife. She gets up early in the morning

and makes breakfast for us. She takes care of my
Papa, Grandfathers, grandmothers, and sister.

Everybody in my family loves and appreciates her.

Really, she deserves it. She 1s very kind-hearted
women. Nobody 1s as kind as my mother. If any

family member of our family become 1ll then she
takes care of him. My mother 1s truly prosperous.
These qualities make her very dear to me.
C. 7=y wiawl e S0 Srad 391 (State the
purpose of passing adjusting journal entries.)
Te: T HieA! FLEs SraereE HEmet:
Y. AMG! T EARSEs AN AU SEd Fe
feotasten v «fow I | T eWmRetE T  fg e
M e Y | Wi faaad! 2igren 24d TS Ml ERmAatEl
FATH WIREAR TG FNTY a1 2 |
2. WIS I IS JLAF ANEN: A [AfSy wee
WfEIfa 597 Qe AAEA (IS W | GG I T A
o4 476 a1 70 AR Ffiee vq 73 | [w gstEms e
o ZARSIE IRge FI8 [ AN | «F TeLP (S 4
IRHS TR I T[T WRHS Witg ZARIE <19 71 26w
74 @9 (I WIRA (7 T A | SR AN IS WL
WH M @32 SRS WHE ¥ REw e R
vk faey wifds feasdi cofa sat =3 |
0. WY WRSAEiS I35 FlETad: A wfeww vemE
HCA BIA WEIME (@ To0 ZH 9 OIte 96 90 | ¢ SAbY
fRRmE i1 zeuR A RS e 9 23 7 | IRAS
g 4F6 AT WIRAR WGW AT I W | JIFLSIE
eN &9e 4F067 TS5 (AW SEif ZR ©itE <476 AR
ATTTR &=y Iy wifder vre =3
8. fads wiffs Tates @ 7= itz wifdfs EoiEw ¢ Ty
dfepica Afoe wifde Toea @i 2y @ Sifeviem
FOMAYEA A ¢ WY TR O WA, T, FE 8
TEASATET FATTY A LA |
D. taesifera q5agi= @2 (What is scientific management?)
Tez: qwlive SgEEE @ AdrE FdFe g adie
g qag 74 [difas s 8 Rt @irerEs drere
- I FAMT IR A O oSl [RYiF S
IR IS FI-HO @ AR @GR ED
TRA @ TAZFIR el (A TZIeAT |
E. (oret reir [Refewariq fefemiz @4 <2 1 (Mention
the bases for segmenting consumer markets.)

Taz: o e [Fefesars e dyivs 8 sttt =it

Fq1 <9 | 991-
s, (ol fasfeagd . EATifefes fqelfeaad
o, TEifes [Kefesad 8. Tipalds Aefesad
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csiotiae fefesat (Geographic Segmentation)
OTHGE G0 AT AC[T IS OIS TG AN
fafen Bofqeits! ot sa1 =3 |

G T A W @, (Sl IR [feg vaer ceemE
2irTe, ¥, T ey ofefe for 27 |

it Refemrr I SAmmarE oE: [ e 3 o
(World religion or country), @@ == (Country
region), *zq 91 itaq Sred (City or metro size), 999
(Density), s=9iy (Climate) |
gedTifefes Aesfewad (Demographic Segmentation)
Gl faams fafeq taficem fefere amme faofewsqd wat
2 ©ite sk [ans [qefewad e |

OTHGE WA [ =W @, I, AR e, W, i 2o
PR (SIS BIRAR N i (71 T |
e RarsReiesara 19 Mt 2 339 (Age),
e (Gender), #Ra@@ wiweq (Family size), #R@E=
sib@ (Family life cycle), =@ (Income), ¢o*!
(Occupation), =1 (Education), i (Religion), 3
(Race), @er4 (Generation), sreizst (Nationality) |
Teifgs fAefesa (Psychographic Segmentation)
TR T [aaRfEm FRre eime siftmE T ks
w4l T |
FRel Tois iy Qe vifgnl wix fafae i <ifeq vifzml

G [y |

Teifgs Refesqarn dum Sammaral 2= wifes i
(Social class), ®iw 4 (Life style), <feg
(Personality).

wieafds fFefesad (Behavioural Segmentation)
Haee Aefesa T@ (S @W, TEeR, 9926, I AT
2ifs AR fofere Wit IemT R[feg wa o 41 |
ubaide Refesar 9w  TAMERerEl  Z0EAL TATS
(Occasions), #<4l (Benefits), Tez@<qa 34wl (User
status), 19239 =@ (User rate), @gf9a 9 (Readiness
stage), A gfe TS (Attitude toward products) |

OR
GFB TIIE JAF AREHIFI TCWE  BE TR
FAEHFAY T @ 7 UGt T3 1| (Why is the goal

of wealth maximization superior to the goal of
profit maximization of a firm? Explain.)

Teq: Tl AR T STRET TAITR (@ SAES] TR
©f IR @ AE G0 A8 qIRell G2 ©f AAfieiw Awte
eI TR T TR F27 AT CF0 | @ (50
{2 JAEE ARRCS g W0 Wi 9 s ke
IR = |

Gt (I TR doEa W0 v g]rr, weda e [rane
@ A AT IR [EEA T 2 A | S[ER 5W
SRR WrHaS! G FIRR fEgel R @) 72 18k
2R Tt SR 21 TN Yo Feeie 6l 24 |
Ao Ferid ©4we e T RFErER [RFEETR I
gfm A T o et Yo wst SAfeesy | et 19
At TR FHmE To FA<ifeeed 91 76 qewE 3=
wHifsar ew dfewas Rrnr wifds Grates wtef |
g Qe welte I FANSad AU (@ W4 vhere]
AT =M AP 7] %091 (A 9 TSIt va a1 Fe
TETE | & T AR TR IS e TH |

IS RY_Rwi&aT o d-200s

01.

02
03.

04.

05.

06.

07

08.

09.

10.

11.

12.

13.

14.

15

16.

17.

18.

19.

20.

AA: S 901 *{fia: S0
<

‘watw g’ Iyt wd-

A. To5s [aie B. wndq $g=]

C. viaoaEma &g D. Ar3EE *eet

CFIF ARG FAo?

A sl B dfewriet C.ymd D, sifeem

A He =it Swigadt 737

‘GO cofreRt’ FvigTie g wd-

A TS0 S o4 B. et #idr=1 341
C. 9arz=1 =41 D. wgts 91 991
A e ‘AE-wefa’ [t Q94w a1fe za-

A. BB (AT B. 51t (ATF

C. Ta3S! (ATE D. TIREHE (AT
‘Sfags’- 97 Foiae *= @EG?

A fags B. a3 C.=el D.feeig2

‘I T (AT I T I @ G139 I IR (@' -1

9T I I I |
A T¥@"E  B. ~{5% C.+fes D. sl

iy FieE FESR EER @R &2

A. 3FI 1R B. W33 TP 78
C. =<t s vt D. a5y a¢
‘weifEost’ st SgeitEs T oot 1 | ?
A.vigm  B.3eFaiRe  C.esm@mts D. Frees
5T W == o%?

A 9839 B. @34 C.gegsa D.9@89d
en FRGT J=FTaT *% (711?

A oigaEt B.aw C.wyga  D. e
eI e e 12

A.g3i=n  B. foammi C. wewmdl D. ot
"1 S I IR 1— 9% I R I 1o TS

TLACR?
A Re=m  B. ™Mt

TorfE'—a3 % Rom F1?
A. a+3E B. URk+8e C.874+ye D. Si343@
iwi -m mmﬁ_

C. woifdfest D. /R 7%

A. =izRAE B @itz C.wigsis D, WigsiH
TS T TS R (S Ain?

A. &4 B. =3 C. g9 D. FAE[
‘THAT >0 (@ Sl (T GR?

A 9T B. TR C. of% D. “gdire
STt 5T TN FT (727

A I B. & C.sgslm  D. 3wl
TR 1S FRiE fe=?

A. frereem B, e C.73¢R D. Imeeis
(ISR (KT IR (i T g i ITF =e=?
A ast B, < C.sm D .q== &

Answer Keys: 1.B 2D 3. BD4ASB 6C7T7A
8.C9C 10C 11.B 12D 13.D 14B 15D 16. A
17.B 18. C19.C 20.D

English

Read the passage below and answer the questions that
follow (21-25):

The earth is about 4.5 billion years old, and during its
life, the climate has changed quite often and the planet

has experienced an Ice Age, warming, and everything in

between.

Scientists agree that the Earth’s average

temperature has increased by about 1.8°F over the past
200 years. It may not sound like a big change, but it will
influence the earth. The earth 1s covered like a
greenhouse, which is used by some farmers, florists, ang

6



others to grow plants. A greenhouse 1s a ‘glass-covered’
building that absorbs the heat from the sun. It 1s usually
very hot. Of course, the earth is not covered with glass,
but the greenhouse effect refers to the retention of the
sun’s warmth 1n the earth’s lower atmosphere by
greenhouse gases. The greenhouse gases include mostly
carbon dioxide, methane, and nitrous oxide. These gases
(instead of glass) act as a blanket for the earth, helping to
keep the earth warm enough to support life, at an average
temperature of about 59°F. An increase in the greenhouse
gases causes the earth to become warmer. Think of it as a
heavier blanket. The ‘blanket’ i1s created by the gases
released into the atmosphere when fossil fuels-such as

oil, coal, and natural gas — are burned.
21. A suitable title of the passage is

A. Global climate
B. The greenhouse effect
C. The long history of earth
D. The problem with fossil fuels
22. According to the passage, the Ice Age came
A. As an effect of global warming
B. After 4.5 billion years of earth’s life
C. When greenhouses were built
D. Early 1n earth’s life
23. A greenhouse is where
A. Plants are grown 1n a protected atmosphere

B. Plants are grown at 59°F

C. Farmers grow plants because it 1s green

D. Carbon dioxide protects plants and flowers
24. In the past 200 years

A. The earth has seen an Ice Age, warming and

everything in between

B. The earth has become very hot like a greenhouse

C. The earth has become a warmer place

D. Fossil fuels have been used for making greenhouses
25. The greenhouse gases

A. Cover the earth with a blanket of glass

B. Sharply increase earth’s temperature

C. Keep the earth warm to sustain life

D. Reflect the sun’s rays to the earth’s lower

atmosphere
Fill in the blanks with appropriate prepositions
(questions 26-29):
26. I think he is familiar this subject.
A to B. for C. of D. with
27. My best friend Mazhar is named his great-
grandfather.
A. after B. to C. about D. from
28. Economists divide resources four categories.
A.on B. into C. for D. with
29. The committee has arrived a decision.
A. at B. on C.1n D.to

Fill in the blanks with appropriate words (questions 30-33):
30. Money seems to be the primary

A.effect B.hope C.motivator  D. aspect
31. The young entrepreneur as well as her sales team

members praise.
A. deserve B. deserves
C. has deserved D. deserving

UccC

for most people.

32. The doctor suggested that the patient ——

weight.

A. would lose B. lost C. loss D. lose
33. It was a very situation.

A. embarrass B. embarrassing

C. embarrassed D. embarrassment

Choose the pair that expresses a relationship similar to the
one expressed by the capitalized pair (questions 3433):
34. BRUSH:PANINTING
A. Piano: Sonata B. Body: Dance
C. Typewriter: Novel D. Chisel: Sculpture
35. DOG:LEASH
A. Belt: Buckle B. Cow: Tether
C. Bird: Cage D. Bicycle: Chain
36. Which of the following sentences is correct?
A. Paper 1s made of wood
B. Paper 1s made from wood
C. Paper 1s made by wood
D. Paper 1s made on wood
37. Choose the correctly spelt word:
A. Accelarate B. Accelerate
C. Accelerrate D. Accilarate
38. The word ‘Euphemism’ means-
A. Stating one thing like another
B. Description of a disagreeable thing by an
agreeable name
C. Contrast of words made 1n the same sentence
D. A statement made emphatic by overstatement
39. Choose the antonym of the word ‘NOTABLE’
A. Considerable B. Famous
C. Insignificant D. Provocative
40. Choose the synonym of the word ‘FAIR’.
A. Share B. Status C. Unjust  D. Impartial

Answer Keys: 21.B 22D 23.A 24.C 25.C 26.D
27.A 28B 29.A 30.C 31.B 32.D 33B 34.D 35B
36.B 37.B 38.B 39.C 40.D

Accounting

41. = I77 F [EtEm G ¢,00,000 BT T[W GFH
S WA T I, T do ITF WITEE TE@ @32
YT SR TS IR NIGHi«F ST T2 IS
@¢o,000 BIF | U2 FIAGETT CFw@ AITALARAF TI6T AFTS
FIZT FI TH | IO IM 92 FAFGD ,¢0,000 HIFIH
a2l @, o @ 3a Rew 7o bt = 1rs 9 =% 73?2
(Four years ago, Jhilmil Traders purchased an
office equipment costing Tk. 5,00,000 which will
have a life of 10 years and an estimated salvage
value of Tk. 50,000 at the end of its life. The
straight-line depreciation method is used for this
equipment. If this equipment could now be sold
for Tk. 2,50,000, what would be the amount of
gain or loss on this sale?)

A. = ¢o,000 5= | (Loss Tk. 50,000)

B. =ire-%feq (itaio2 20d w1 (No gain no loss)
C. =% 90,000 519t | (Loss Tk. 70,000)

D. %f® 3,00,000 Bl (Loss Tk. 2,00,000)




42

43.

44,

45.

Nfom GWEHT SAGE ¢o,000 BIFH IFA (FFT W
AAEY HAlgT FAw | T Faadfits 97 Fos F 23?

(Gungchil Express forgot to adjust the accrued
service revenue of Tk. 50,000. What would be its
impact on the financial statements?)

A. I @ @< 2@ | (Revenue will be overstated)
B. 7=ife @ (a4t =3 | (Asset will be overstated)
C. 6 Tt @ (741 =1 | (Net income will be overstated)
D. wia @ w4t 223 | (Liabilities will be overstated)
i TR IwEe oitm 35 F@ @a @? (Which
account is closed at the end of an accounting
period?)

A. &¥ a9 (Purchase return)

B. wgeiifere @& 9w (Unearned revenue)

C. 7&@<® =539 (Accumulated depreciation)

D. T-%¢ H%fs (Provision for bad debt)

*iorert (Frsitfes 6 55T® @4 3, bro,000 BIFT W3R FEHTS
TS ¢ BF (AR vAfe wite o 352

(Shapla Company has a net working capital of
Tk. 1,80,000 and a current ratio of 5:2. What
would be the amount of its current liabilities?)

A. 330,000 5 | (Tk. 1,20,000)

B. 23,000 B9t | (Tk. 72,000)

C. woo,000 519t | (Tk. 300,000)

D. ¢3,835 613 | (Tk. 51,429)

A 8 S GIT TR IIACERT GREA FLAWIF |
SITHA TATE IOF TS 90:2 | ST FAGE S0 e AT
FHAA FrECS JIACH 7S NN AW A% F | T3,
55! 8 FIFF T IAFR 75 Hg7TS FS 23? (Bithi and
Chaity are two partners of a partmership firm.
Their profit sharing ratio is 3:2. They admitted
Shathi as a partner for 1/3 share of profit in
business. What would be the new profit sharing
ratio among the partners Bithi, Chaity and
Shathi?)

A. (6:4:5) B.(4:3:2)

C.(3:2:1) D.(5:4:3)

46. FANFISTR @FHifva rame R TR s e

UccC

A FAE;

I e 3,2¢, 000 Bt 50 AZLe= AT ¢o 000
DIFl; 4TWAE Ji61 aWitad «ifEwid 3000 Bil; FHTIR
AT ¢,000 BIF | AP (EF-9F “fFqY 5¢,000 BiF |
& IGET SFCS (AR R +© Bt SRfes o fe?

(The receivables control account of Sunflower

Company provides the following information for
a period: Sales Tk 1,25,000; Cash received Tk

50,000; Discount allowed to customers Tk. 2,000;
Bad debt expenses amounting to Tk. 5,000 and
ending balance stood to Tk. 95.000. What was the
balancing figure of receivables at the beginning
of the period?)

A. 29,000 B (¢8.) | [Tk. 27,000 (Dr.)]

B. 23,000 5@ (¢&.) | [Tk. 22,000 (Cr.)]

C. 3,000 519 (¢8.) | [Tk.18,000 (Dr.)]

D. 0,000 5=t (&.) | [Tk. 20,000 (Cr.)]

47.

48.

49.

50.

31.

52.

wiifers o vy wifk=t— (Adjusting entries for

unearned revenues—)

A. MRAZF F@ ¢ AEE-9 I 36 | (Decrease liabilities
and increase revenues)

B. Wi EA <9 8 AErF-9 2 9@ | (Decrease habilities
and decrease revenues)

C. sif& 3w It @ wiw 9% It | (Increase assets and
increase liabilities)

D. if& 3% <tx ¢ Aers-wr g% It | (Increase assets
and increase revenues)

e @Al AffgSasia ara? (Which of the following

is variable cost?)

A. faat 425 (Insurance expense)

B. Tg1#iteq @@« (Manager’s salary)

C. g 3w (Direct material)

D. g8+iifeq w<59 (Depreciation of machinery)

qF6 F=HaT 2059 A7 SR fFame:

56 fA&w 3,q9¢,000 BiFl, |6 W@ S¢,000 BIFl, IO

Fﬂmﬁmﬁ?ﬁﬂmﬁ ¢S4 IYIG 9,00, nuaﬁmiﬂﬁ‘

8.00,000 GIFT | MWWWW

(The following information 1s given for a

company for the year 2017:)

Net sales Tk. 1,75,000; Net income Tk. 95,000;

Beginning balance and ending balance of total

assets account are Tk. 3,00,000 and Tk. 4,00,000

respectively. What is the company’s asset
turnover ratio?)

A. 0.38 (0.24) B. 0.24 (0.27)

C. o.¢o (0.50) D. 0.8 (0.54)

=t @eieE [T 2,00,000 BiF Reagist At I3
3,20,000 BIF, AN Tgw 47 0,000 BIF I [aFw @
HHF T ¢¢, 000 BIF A AT GO CH6 IAF
f=<fa <21 (Lamia traders had Tk. 2,00,000 in sales;
Tk. 1,20,000 in cost of goods available for sale;
ending finished goods inventory of Tk. 20,000;
selling and administrative expenses of Tk. 55,000.

Determine the gross profit of Lamia Traders.)
A. vo,000 5= (Tk. 80,000)

B. vo,000 5= (Tk. 60,000)

C. 3¢,000 o9t (Tk. 25,000)

D. 3,00,000 5% (Tk. 1,00,000)

o 1 g 9eiRRfSs diFm, W e &\ @@’ vare

TS FieAl g @Eed 41- (All other things

remaining constant, which of the following

transactions would not affect the current ratio?)

A. I #e T vafs Wi #{f@eei | Short-term loan
is issued to pay off current liabilities)

B. RiR w=via Zt® «1+1% =W | (Accounts receivables
are collected)

C. fafay “freavratas =viw @i | (Cash is used to pay off
accounts payables)

D. =it 313 %@ @ | (Fixed assets are sold for cash)

5 e (@ Sedtitaa B golfas 7 w112

(Which of the following transactions would not

affect the balance sheet total of a firm?)

A. TIfF® 99 000 B1F1 @ | (Withdrawal of Tk.
8,000 by the owner.)

B. 9,000 GiS1d &l 496 “far=ig <41 | (Payment of Tk.
3,000 accrued expense.)

C. (A9MItRR % AP 8,000 6 wWiE <4t | (Collection
of Tk. 4,000 from debtors.)

D. 41ta ¢oo GIFF <7 &¥ 941 x61 | (Purchase of goods

worth Tk. 500 on account.) 8



53.

54.

55.

56.

57.

58.
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PAMS IRF (A6 vl 1@ 0,000 i ©IF Tty Fs 59, aﬁmm‘{ﬂ? 9,00,000 BIFl| 2T “fFFgt 46 @

IELIF 8,000 BT @2 i IR 3,¢oo OIF, ere
QA IFY T ¢, ¢oo BT T WH-IF T oWt IEW
TS b1t (weits 207 | (Total subscription received in
the income year is Tk. 20,000. Out of this, Tk. 4,000

relates to previous year and Tk. 2,500 pertains to
next year. If accrued subscription for the current
year is Tk. 5,500; calculate the amount of
subscription that will be shown in the Income and
Expenditure Account of the current year.)

A. 20,000 5= (Tk. 20,000)

B. 5,000 /& (Tk. 19,000)

C. v,000 &t (Tk. 8,000)

D. 3¢ ¢oo 51 (Tk. 25,500)

qF A S AFeITEAY U Wz |
(Reconditioning cost of an old car is an example
of .)

A. @ J=gErey 49064 (a capital expenditure)

B. @3t fqafwe Jawee 4959 (a deferred revenue

expenditure)

C. 9=/t JArwiemsiy 49064 (a revenue expenditure)

D. «=fC «fasi== 2534 (an operating expenditure)
THea SR 7S A g Wi A T

ARWT TGS 3,40, 000 BIFl, T bb,000 BIF!, T (TS
8,000 BIF, A& 3,80,000 BIF | TAYETT BAT AF-=17t
% TE1| (Determine the value of ending
inventory from the following information: Beginning
inventory Tk. 1,60,000; Purchase Tk. 86,000;
Purchase return Tk 4,000; Sales Tk. 1,40,000. The
rate of mark-up on cost is Tk. 25%.)

A. 3,09 000 Bt (Tk. 1.37,000)

B. 3,90,000 5= (Tk. 1.30,000)

C. 3,353,000 51&1 (Tk. 1.12,000)

D. 3,03,000 6 (Tk. 1.02,000)

I (IR g8 ofa ageTiE R R e e
qraeiiG sty a1t 3 1?7 (While preparing balance sheet

of a firm, which one of the following accounting
concepts is NOT considered?)
A. @fezif% 259 «iaet (Historical cost concept)

B. verai= eifewts €€l (Going concern concept)

C. #d-a=m gf@eft (Full disclosure concept)

D. fi=@qd €ife (Matching concepts)

e I JNIRGER 9 e e TR
Tys O IIF T geew ¥ z@? (In which
account the balance of share forfeiture account is to

be transferred after re-issue of forfeited shares?)
A. Fier7 A4S &3] (Revenue Reserve Account)

B. A@fe =g+ fz#19 (Reserve Capital Account)

C. =4 wfesfe 25119 (Capital Reserve Account)

D. =¥ w754 2379 (Share Allotment Account)

e Rt @euitE st g gE? (Which of
the following affects the agreement of a trial
balance?)

A. IR T3 I (AF TGS A0 880 BN ARITE S [N
808 B (14l 2@z | (Purchase of Tk. 440 from Karim
& Sons entered 1n both accounts as Tk. 404.)

B. ¢?lG= 496 @N6a «iife f@oite i z@ee | (Petrol
expenses entered 1in motor vehicles account.)

C. ©Itz7 q% FH-gq IR o bR A4 fqew F=ifelg
R i IW <itetz | (Sale of goods Tk. 250 to
Taher & Sons completely omitted from books.)

D. ¥R 496 ¢oo B wy wwwH IR0 @4 =@ | (Electricity
expense Tk. 500 recorded only in cash book.)

60.

61.

62.

63.

FLFI#H 97 IYTFE ¢o,000 BIF! W2 20,000 BIFl | THDT
SIS HFHEEA 8 T R YT T 0¢,000 BIFT |
TEDT T ILET TIGH 46 TS WIGIE; I% WI6T YIT0R
@ TEEE 8ge AFte Wt ¥ 2W? (The
purchase price of a machine is Tk. 7,00,000. Its
carrying cost and erection cost are Tk. 50,000
and Tk. 20,000 respectively. Expected life of the

machine is 4 years with salvage value of Tk
35,000 What would be the amount of
depreciation expense in the first year of the
machine if Reducing Balance Method is followed
for charging depreciation?)

A. v ve,0o0 B1at (Tk. 3,85,000)

B. 3,53,¢00 5=t (TK. 1,92,500)

C. sy,2¢o o191 (TK. 96,250)

D. 3¢ 000 6@ (TK. 2,85,000)

‘FhErm ST Ahent oo — e vl 7@ (Journal
entry of the transaction ‘Commission received in
advance’ will be:)

A. a1 hre (ofkt, SheE s (@ et (Commission
receivable Dr., Commission revenue Cr.)

B. 7iwM 25" (@[, ¥ =@ @6 (Cash Dr.,
Commission revenue Cr.)

C. o= oo (efdn, Sgsiifere hre s @ed (Cash
Dr., Unearned commission revenue Cr.)

D. W+ R ke, gt shem (@es (Cash Dr.,

Commission receivable Cr.)

Answer Keys: 41.C 42. vfos Bea 3 43.A 44.A
45.A 46, A47.A 48.C49.C50.D51. A, B 52.C 53.B
54.A 55.B 56.D 57.C 58.D 59.A 60.C

Business Principles

GF0 =g = =L @ TS wiEgFF (@ e
giat Afawifers 2@ witg It — 1 (The right of a

company with respect to its name or logo are
governed by the law of .)

A. “51te6H (Patents)

B. @@ (Trademarks)

C. =*=186%(Copyrights)

D. @@ Ft&sH (Trade secrets)

whwifa-zeifs S g gt e feg b
7S =H w17 (Which of the following mechanisms is
NOT used as a tool to control imports and exports?)
A =1igwA: (Licensing)

B. = 917 (Imposition of duty)

C. =61 4= (Fixation of Quota)

D. =27 7@ (Bill of Lading)

Toet Teeime dfeam ToR @rE gz I Fei?
(How does an entrepreneur adopt new strategy in

production process?)
A. SEAICES W™ (Through perseverance)

B. @9 4509 (Through labour)

C. Suig =fem e (Through innovation)

D. 3514+ sie71 ¥ (Formation of capital)

A AR WEZS BN &@io? (Which one is

the legal element of business environment?)
A. wwEi[s® #=@ (International relations)

B. si<teing (Sovereignty)
C. fg«ife (Industrial Policy)
D. 7i9=19 91971 (Government System)
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65.

66.

67.

68.

69.

70.

71.

72

73.

74.

UCccC

(@ @ FNACE FIEASNT IS IS (A7 G FAR
FIE (TR F9g W@ F@ A1, o IwE: (The
leader who allows the employees to work
independently and imposes no authority on the
work of employees is called:)

A. TR e (79l (Participative Leader)

B. sidsifs® ef (Democratic Leader)

C. i€l sl (Autocratic Leader)

D. =iieitw&l 7ot (Laissez-faire Leader)
“caret-aR-Fem” Hife faeen ot REum i swee?
(Which one of the following is related to Scalar
Chain Principle?)

A faagafest (Discipline)

B. 39y @31z (Flow of authority)

C. 399 944 (Delegation of authority)

D. sis=i3 9% (Maintaining balance)

tge faumm qratfos gwen ¢F@: (The concept of

double insurance is applicable to:)
A. Tl "=t (Marine insurance)

B. i« &=t (Life insurance)

C. &% /=1 (Fire insurance)

D. seif fa=ii (Export insurance)

FTereF Aetoag BeleF ¢? (Who is the innovator
of functional organization?)

A. u%. ©fgS. (G2aw (F.W. Taylor)

B. & w=. 7fS (J. L. Lundy)

C. z7fs ¢&@= (Henry Fayol)

D. =ew7= (Newman)

e = Ff_fias e ¥9? (Which one of the
following is NOT a statutory company?)

A. 8ie= faat sei= (Jiban Bima Corporation)

B. o= (TCB) C. sa= (WASA)

D. #<ife 951¢@ fe1. (Pubali Bank Ltd.)

I A SO Aot Ayt @orEa [Rfvww o
AN I T ggure qE? (Which kind of
partner allows using his/her goodwill in business
in exchange of profit or salary?)

A. I uY (Dormant partner)

B. sisi@ wigAiwi@ (Nominal partner)

C. s wiekimia (Limited partner)

D. wirireyfgts wedw@ (Quasi partner)

= I SWOT [ee ‘0’ =t R (In SWOT
analysis of a business, the ‘O’ stands for :)

A. Objectives B. Obstacles
C. Opportunity D. Overcome

TR GFa T A AeFal Fees (I o
Fre Ata? (What is the maximum percentage of
share a member of cooperative can buy?)

A. 3% (10%) B. % (15%)

C. % (20%) D. 2¢% (25%)

e ggreg 4w “mrEet Fmie? (Which one is the
first step of decision making?)

A. 711 fofzesad (Identifying problem)

B. wt+i=ifs 4 (Determining standard)

C. #idr=9 (Testing)

D. fawgerz Selea (Generating alternatives)

AR BiRAt &g Wi s’ a9 43077 siEnt?
(According to Maslow’s Need Hierarchy Theory,

what type of need ‘RECOGNBITION’ is?)
A. sr=Ert (Self-actualization needs)
B. st sifzwt (Social needs)

C. =izw vifzwi (Esteem needs)
D. teife= sif2mi (Physiological needs)

75.

76.

77.

78.

79.

80.

81.

82

83.

84.

fEre 1= S &B? (Which one is the main
objective of control?)

A. A *97 @41 (To rule the employees)

B. ©¢ @&re <4t (To identify the mistakes)

C. siitmar= Aeies g4t (To correct the employees)
D. sfeega e Faeg 2oz @ @1 o @A (To see
whether everything 1s going on as per plan)

gigrer f&fde @Fredifm s o0 AT FOEA?

(What is the maximum number of members in a
Private Limited Company?)

A. 20 (20) B. ¢o (50)

C.a(7) D. =& (Unlimited)
frgmts = fof F? (Which one is the main
foundation of control?)

A. ©og@s! (Preciseness)

B. s (Standard)

C. cagsrarel (Understandability)

D. Fg=1e (Simplicity)

=D M7 @B Bewiw? (Which one is a

content of Memorandum of Association?)

A. @i Bow*1 (Objective of company)

B. ciwietaisiama wifse| (Rights of shareholders)

C. =rrerie= care = (Dividend declaration method)
D. «ifwsE= =45+ (Election of director)

EEites e T s 9w ZTEE 33ge 37

(Which one is used as a certificate of ownership
in international business?)
A. 51513 #if6 (Charter Party)

B. ¥49@ (Letter of Credit)
C. @G fe= (Bill of Entry)

D. st #itdd & (Airway Bill)

e = e fRww 9fms? (Registration of
which company of the following is optional?)

A. sy #fafe (Cooperative Society)

B. #ircfere ferfaee @4 (Public Limited Company)

C. elizreb Fhes &= (Private Limited Company)

D. sie¥iwife <919 (Partnership Business)

Answer Keys: 61.B 62.D 63.C 64.C 65.D 66.B 67.B
68.A 69.D 70.B 71.C 72.C 73.A 74.C 75.D 76.B
77.B 78.A 79.C 80.D

Marketing
fapa (W TR AT B e faafte?

(Which of the following is considered to be an
element of marketing promotion?)

A. TRFE (Services)
B. & =9 ( Brand name)

C. 593+ (Location)

D. gorF qreqereaad (Direct marketing)

23R T=TeEE Sages e Wo? (Which one is
the promotional activity of wholesale business?)
A. 7« (Advertising)

B. &v@ (Publicity)

C. fe@a &719 (Sales promotion)

D. s==gast (Public relations)

FEREOFAC  (FAOE FIGE @R vy vt z3@?
(Which one is given the highest importance in
marketing?)

A. ¢sr! (Consumer)
C. 3=11 (Price)
SAIASTSFAT (FIH 4T BTt
A. F2i5te B2t (Form utility)
B. sraste Bt (Time utility)
C. Z=ts ©oael (Place utility)
D. =g+® ©otalst (Possession utility)

B. #1 (Product)
D. 3= (Place)
78 FA?
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85.

86.

87.

88.

89.

90.

91.

92

93.

924.

UcCcC

i 7g (T (STeE AT Sgeiee Ia T@—(State
of deprivation felt by a consumer about

something is called-)
A. 5o (Want) B. &taiEs (Need)

C. sizm (Demand) D. it (Supply)
DU (19 g=me 43?7 (What type of product is
toothpaste?)

A. faf*2 =iy (Specialty Product)

B. wwifow #¢1 (Unsought Product)

C. HRygrem< 77 (Convenience Product)

D. wrefa =45 (Emergency Product)

s A IRESTICE CiEe R s a9?

(Which one of the following is not related to the
fundamental concept of marketing?)
A. qE9 (Market) B. I9i%t (Profit)

C. fafa (Exchange) D. sifzwt (Demand)
TR A4 oF AR geiR e et T |
STAIE ¥4 T8— (Products which are bought by

consumers without prior plan and just on sight

are called-)
A. JfRqrE=s 245 (Convenience products)

B. =% 747 (Shopping products)

C. wieefs 21 (Emergency products)

D. care«rs 7447 (Impulse products)

AeE JEieioead Toam (i it 3z F@? (Which
kind of 1dea is held by the sodetal marketing concept?)
A. (63912 JfEiFemsad (Sustainable marketing)

B. (@1 9jig si599z (Customer value delivery)

C. qregereaad afiean (Marketing process)

D. creid! qEimereasd (Customer focused marketing)
e e FiReEa wid 7=Fge? (Which of the
following is related to style?)

A. T @dsts T+ (High Quality)

B. =g ifoe (Eye-Catching)

C. 241 ¥+ (Product Design)

D. wfgFeg Sttt (More Attention)

IEAETSIAT AT TSI A4S oFg W T4 g7
(Selling concept of marketing mainly emphasizes on)
A. #tei1a =17 (Price of product)

B. =ite54q weted (Quality of product)

C. #itsi79 &9719 (Promotion of product)

D. #fteira 1%+ (Distribution of product)

@A AEFErsEAY  AfRIeE  Sfargasn ewiE?
(Which one is the uncontrollable element of

marketing environment?)
A. gfstaifiel (competition) B. (@i (customer)

C. &3 (technology) D. s@=arzat€l (supplier)
faea (et g <tz FrenzersFadt (387? (Which of

the following is a marketing characteristic of
industrial goods?)

A. TR 9% @F (Small unit purchase)

B. f[T@wtes o7a1 (After-sales service)

C. f<¥© are (Extended market)

D. <= (siet gia== (Huge consumer promotion)
g e ISl 3o RS A4 JREPRR
sifeFtE =t 23- (A list of all the product items

sold by a particular marketer is called-)
A #e3 3fq (product line)

B. =<1 e (product mix)
C. =3 gt (product strategy)
D. =<3 s 9= (product assortment)

95.

96.

97.

98.

99.

100.

101

102

103.

104

AEAC! TIAER CFGE (FIN TSIMG 7360w @A
F37® 4?7 (Which concept is mostly followed in

the business arena of Bangladesh?)
A. 7€ w99 (Product concept)

B. fa@g weam (Selling concept)

C. Te#m« 794w (Production concept)

D. e qrereeredae 3o (Societal marketing concept)
e e It {efdg Swigat? (Which of the

following is an example of multiple shop?)

A. ST (Almas) B. (3iE% 9iv (Mustofa Mart)
C. <151 (Bata) D. et (Agora)

e = S fomger v A TR E?
(Which of the following products is involved in
low price sensitivity?)

A. HRurE=$ 9443 (Convenience Products)

B. =¥z #43 (Shopping Products)

C. faf*12 741 (Specialty Products)

D. =@ifes #43 (Unsought Products)

CFI F1E 1 [ I GFHF WO A AW A0 A
G 1 NFFAFHE & Af53Sa I 71 oies T4 T5— (Any
activity or benefit that one party can offer to
another and which does not result in the
ownership of anything is called-)

A. 59 (Goods) B. | (Services)

C. =91 (Ideas) D. %97 (Information)
fawr e core e Refesacm W 7F?
(Which of the following is the behavioral dimension of
consumer market segmentation?)

A. oI (Profession) B. =1 (Education)

C. =eiey (Loyalty) D. iz« €16 (Life style)
M @D IEeTeed Gt S w@? (Which of
the following is not an element of marketing mix?)
A. =91 (Product) B. =11 (Price)

C. s (Policy) D. 3+ (Place)

Answer Keys: 81.D 82.C 83.A 84.B 85.B 86.C 87.B
88.D 89.B 90.C 91.C 92.C 93.B 94.B 95.C 96.C
97.C 98.B 99.C 100.C

Finance and Bankin
fAwea I 7o AAngeacTa (wea=<? (Which one of

the followings 1is the indicator of wealth
maximization?)

A. ¢31taR ©faR 3715 (Future value of Share)

B. c*aites wsf@e T (Intrinsic value of share)

C. 7R 6 s=°m =11 (Net asset value of share)

D. *itsa I€ui e %96 (Present market value of share)
e WD wdEas it 75? (Which one of the
following is NOT a principle of Finance?)

A. o= «iTe (Principle of Liquidity)

B. sidfa 1w =1 «ife (Principle of Time value of Money)
C. =fo9ariR «ifs (Principle of Compensation)

D. tafoasiaa «ife (Principle of Diversity)

wifdfs TageERE e azee ora Foe o e
REeat ==t 2@ 91?7 (Which one of the following

aspects in not taken into account while making
decisions of financial management?)

A. 9if¥< 916 & (Annual net profit)

B. 16 715iv @71z ((Net cash flow)

C. wtda »5d 7717 (Time value of money)

D. 3= (Risk)

=og (R TR FIAFE Wi I Bwg z@? (Which
one of the following reasons invites financial risk
info a business?)

A. 73l “{fapt== <79 9% (Increase of fixed operating cost)
B. #iteie vifzwiz™t (Decrease of product demand)

C. ¥4-371¢ i@ (Increase of debt-capital)

D. Ath7 fa@n qeene wigs W@y oo (high volatility

in the selling price of the product) 11



105. uow RfEctEs F Sitst I T Tt AT
Fa0o “E@? (Which principle can help an investor
to reduce risk?)

A. 9¥rtsg wm «ife (Ideal Principle of Financing)
B. =reniex «ifs (Dividend Policy)
C. wiw=n #life (Principle of Liquidity)
D. tafoaniz= <ife (Principle of Diversity)
106. 757 A0 woread wdmema ©\1? (Which of the

following is a source of internal financing?)

A. 391 ¥4 (Trade credit)

B. T51¢% #< (Bank loan)

C. 9= (Mortgage)

D. #e@af%® 3%l (Retained earnings)

1073 BooTzd i (FAoa wfEme 435 F111S?

(Which of the following sources bears the highest

financing cost?)

A. Te@®s@ (Debenture) B. % (Bond)

C. #@f%e 3% (Retained earnings)

D. sngtee <9 (Common share)

I 9 T IO o1, ¥R <916 &5 wed (If tax rate is

decreased, the cost of debt in real sense will)

A.Z¥ 93 (decrease)

B. gf& #i1ta (increase)

C. weifsafe® 2A%ta (remain unchanged)

D. B3ttt Fa@ (fluctuate)

109. fes= (M6 @Y (Fae 97 Awfea wq{4t? (Which of
the following is/are disadvantage(s) of pay-back
period method?)

A, TR (FRS AR AFSS! o HARGE s SR A |
(Does not consider cash flows after pay-back
period)

B. wg-cmiv gegte wwda @ @11 (Does not favour
short-term project)

C. wieda 7 3=t faea 9t 911 (Does not consider
the time value of money)

D. A 32 C =32 | (Both A and C)

110. 77 &7 IR w0 T3emE ol I IF A2

(Which one of the following reasons causes to
increase the financial risk of a business?)

A I FRE <R 2% A =81 (If common shares are
1ssued)

B. 3 fe3#e 25 <4t =3 | (If debentures are issued)
C. 3 = 391l 3 =i | (If retained earnings inssued)

D. 7w %126 ¢*r=iw 295 <1 =¥ | (If right shares are issued)

111, =47 ITEOL-9F Ao T8I o IS 8 W WH-ZF
*fea Ty il 77o: (A key difference between the
net present value technique and the internal rate of
return technique for capital budgeting is that:)

A. TG Teq= I Awion SWeAwFe F7e =44 | (the net
present value 1s easier to calculate.)

B. Seug o ogfen v &arz 9<% S | (they use
different cash flows.)

C. Teon2 fog smyse 99%9 0 | (they use different
time periods.)

D. &1 cFr@ iRt 7@ f&q 931 =¥ (they have
different reinvestment rate assumption.)

112. faea =6 Ffafeos Twss s_ow Iv 746 Rew
fatafos z@? (Which one of the following is treated
as the largest asset in commercial banks?)

A. ETTT TRCS ST -+ ©ZRE (Cash at Bangladesh Bank)
B. 711 77==ifé (Fixed Assets)

C. %4 8 wizw (Loans and advances)

D. =g-iioeet e 3 (Money at call and short notice)

108.

UcCcC

113. fvee =i g7 7w R I9g® =@ w1? (Which of

the following is NOT used as an alternative to
currency?)
A F5-eTioe crasiErs 4 (Money at call and short notice)

B. (A-weiq (Pay-order)
C. swe=tdia o= (Traveler’s cheque)
D. &i2& 3% (Prize bond)

(B0 qq2 (G0 F1G A= (WA (FIF BfF6 7e) 7H?
(Which one of the following statements is NOT
true about debit and credit cards?)

A. (@6 @3 (@FSh 16 ity «fbw (A= GBIt Braee 4

19 | (Debit and credit Cards are used to withdraw

money from ATMs)
B. (®R0 32 (&Feh 16 WMoy @il ¥4 7% | (Debit

and Credit Cards are used to shop)

C. (596 @32 (Ff6s I8 2152 31% | (Debit and Credit
Cards are plastic cards)

D. (GRE a2 (FT6 G-« ZANE Biel Al ATaree |

(Balance 1s needed 1n account for both Debit and
Credit Cards)

115. e =6 g@ezwEr wfem 7@? (Which of the

following is NOT a negotiable instrument?)
A. 51F §r%6 (Bank Draft)

B. T 16 (Bank Note)
C. fafay fa=1 (Bill of Exchange)
D. gifseat=i@ (Promissory Note)

116. 9% ¢A-weizz cEm Fowa? (How long a pay-

order is valid for?)

A. Yo e 1 (180 days)

B. 5o =1 (90 days)

C. @it M2 arm @2 | (No specific validity)
D. >3%491 (1 year)

117. ‘Jettison’ IS F @RME? (What is meant by

Jettison?)

A. 71 @&F (Goods purchase)

B. =<7 @312 (Goods loading)

C. =<1 3«84 (Goods shipment)

D. 741 ft= (Goods throwing)

tge R 43S gt ¢Fa: (The concept of

double insurance is applicable to:)

A. ¢I-f@=t (Marine insurance)

B. &9+ <@t (Life insurance)

C. sfql &1 (Fire insurance)

D. == faart (Crop insurance)

119. faea = owfea famm faar agier @ fRmwE Tong fam
¢&=iff"? (Under which of the following categories
of insurance, both the insurer and the insured are
insurance companies?)

A. ¥z-7= (Co-insurance)
B. 7<= (Re-insurance)
C. 371 /=t (Joint insurance)
D. ¢t =t (Group insurance)
120. e AT 3w S R IeFE? (Which of the

following is the oldest central bank?)
A. 3513 w1 2% (Bank of England)

B. 911t% =9 (=7 (Bank of Venice)
C. fa@an® (Riksbank)
D. <51t =< #ers (Bank of Egypt)

114

118.

Answer Keys: 101.D 102.C 103.A 104.C 105D
106.D 107.D 108.B 109D 110B 111.A 112 A 113.A
114D 115B 116.C117.D118.B 119.B 120.C
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I R9RWIEg Roda-20 0y

;320
L=

01. 7 R Botom wesEg w7
A. felaawt B. elidsy C.qd€2 D. 9@
02. ¢ ot &ffe 71, WraEeem- FiE 4950 39 TUR?

T S 901

A. E=Ea wrgeEs B, 7R C. D. sdlgaitdd
03. = e3 A FHLT == 74? ™
A e B.5gz C.gg™m  D.awmN
04. ‘=gl FiG_ AR _AIES -9 T IR
HWD (FIF IR (FI o]
A. 9 FRCE 79I B. sfg@ar w8t
C. 929t g9 D. <6t fesi
05. 'Fair weather friends'-92 W& 4Ivc9 IR
T2 &IB (P67
A. wigm wifg B. gfwigat Wi
C. fifee fa 3w =12 D. (5ITA (BICa TTgtet ©13

06. T TFET LT TR SHITS T OF F1 077

A. Ters3 B.I5w4 C.=ww9q D. ¥
07. Boeige == AT

A.size B. gEred C. svE= D. S5=
08. 'W'WWW‘?

A_WWW B. *sF9 ¢Aq=

C. J1&1 Towre 279 D. *leT® W=

09. ‘s’ it o F1?
A. 15 oa13tEa 78 B. wife [ew C. gfdewdd D. asueidh
10. =i =T 9F?
B. S wix

A, EET= WA
D. Q=== 75

C. |i=1+ wr*
11. ‘I -93 SFS-gor = ?

A NTT+® B.Va5+37 C. VA +3 D. VG + 31
12. ‘sifSa”-ug =uiw F?

A. 7”4 B.fomd C.sama  D. g+
13. 3 = AT 95?7
A. “iFsR B.#¥mewdnyg C. gz D. 157
14. =t fas! el IHEs & o@ qEee?’- i i’ g
A. =@ [ B. s
C. Aqra8l <=5 D. Swaa S1qw

15. ‘47 T’ Ity wd-
A. Tdwnd B, e e C. edzvafe D, ©9
16. Fatys =itq 1= ooz T2

A T B. TRwA C. o= D. s
17. F[Hads (et &g (FiAio?

A. #@-7e B. 20 C. 21z D. e
18. iy @ ofe™ SER *idw @i o @ sfaates a2

A. fareEe @ fasal B. Aoty @ fapad

C. fr<rwy @ Fam D. &t 8 99w
19. ‘=S’ =0 (i SrEl (ATE 9rER?

A .o  B.wRMH C. &M D. s&fq

20. WZIZ ™I ATRATER (FIA6?
AT+ 9x Buai+92 C.sR+3& D w4z

Answer Keys: 1LA2B3D4B5A6A7C8CO9B
[0.C IT.B 12.C 13.D 14D 15.A 16D 17.D 18.D

19.D 20.A
ENGLISH

Read the passage below and answer the questions that
follow (questions 1-5):
The loss of environmental purity 1s the price that we pay
for many of the benefits of modern technology. We now
have cars and buses on our roads and highways, but we
risk :3.1.71ff+:a=1‘i1'1%l from smoke and dust-induced diseases. We
have to build factories and expand our cities, but in the
process our forest lands are shrinking which is reducing
our wildlife. Many countries use nuclear power, but there
is always the risk of radiation. By increasing agricultural
liv_mduf_:tinn with fertilizers, we pollute our water bodies.
he highly developed nations of the world are not only
the immediate beneficiaries of the good that technology
brings: they are also the first victims of environmental
diseases that lechnﬂlnﬁy breeds. In the past, the
ironmental effects which accompanied technological

progress were limited to small areas, but in our time, the
new hazards are really widespread. Today's air
pollutions, for example, cover vast areas of the world and
can cause health problems for millions.
01. According to the passage, modern transportation
A. reduces the number of wild animals
B. exposes passengers and drivers to radiation
(. causes biological disasters
D. increases the risk of diseases
02. The passage Emdphasizes that modern technology
A. 1s an unmixed blessing
B. has caused serious hazards to life
C. has produced powertul chemicals
D. has benefited highly developed nations
03. A 'beneficiary’ is someone who
A. benefits others B. misuses benefits
C. benefits from an investment
D. derives advantage from something
04. Air pollutions now are
A. widespread and short-lived B. not widespread
C. responsible for health problems
D. limited 1n their effect
05. According to the passage the increasing use of
fertilizers is responsible for
A. abundance of food
B. disturbance in the ecological system
C. disturbance 1n the weather patterns
D. water pollution
Fill in the blanks with a

riafe sifions (questions 6-9):

06. Can you tell the difference butter and
margarine?
A.over B. with C.in D. between

07. When she parted her parents, her eyes
were full of tears.
A. from B.to C.of D. off

08. Javed was acquitted the charge of theft.
A. of B. from C.on . about

09. The new government took last year.
A.over  B. after C.upon D. out

Fill in the blanks with appropriate words (questions 10-13)

10. The art of cooking in ancient India.

A. 1s perfected
C. were perfected D. was perfected

11. The poor man said, ‘I starve than bt_‘ﬁ.'
A.rather B. would C. would rather D. better di
12. The person who has committed such an
crime should be severely punished.
A. uncharitable B. abominable C. unkind D. unworthy
13. He failed in the examination because his answers
were not the questions.
A. revealing of . allusive to
C. referential of D. pertinent to
Choose the pair that expresses a relationship similar to the

one ﬂrﬁrrssed by the mﬁiﬂﬂ . pair (guestions 14-15):

A. Scissors : Barber B. Painter : Color
C. Cloth : Tailor D. Wagon: Farmer
15. EGG : OMELET
B. Flour : Cake

A. Rice : Curnry

C. Fish : Water D. Banana : Ice cream
16. Find the correct spelling:

A. Leftenant B. Lieutanent % Letutenant D. Lieutenant
17. Which sentence is grammatically correct?

A. Our printer's don't work too good.

B. I introduced him to one of my friend.

C. Coming back home he found his key not anywhere.

D. Ask for assistance from someone around you.
18. The synonym of 'intrepid’ is

A.coward B.indifferent C. arrogant D. fearless
19. The meaning of the idiom 'a dime a dozen' means

A. something common B. something very rare

C. something we need  D. something very costly

20. The antonym of "harmonious’ is
A. discordant B. disrespectful C. amicable D. ruthless

Answer Keys: 1. D2B3D4C5D6D7.A8C9A
[ODTI.C I2B 13.D 14.A 15B 16D 17.D 18D
19.A 20.A 13

B. will perfect
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Accounting

ot FifSe T Eftesad dfgam ek oo
FAER | 9T TER (FHGT W @eFiE e A

(Padma Services has made the following errors in

its recording process. For which of these errors
the trial balance would not balance?)

A. TGS 278 (@94 3¢,000 BIF (o4 M9 (Sf6
TR do,000 B9 (Tk. 15,000 paid to employees
as salary was debited to Salaries Account with
Tk. 10,000)

B. TIER F% (I &l¥ Yo,000 b AfeqEE =W

(Tk. 10,000 received from debtors was not
posted to ledger)

C. TFFF 28 ¢,000 BIF WM TR @@= Tatz (Tk

5,000 paid to Maruf was recorded in the account

of Masud)
D. al 2WiA 30,000 BF wWAWEE =AW (Services

provided worth Tk. 20,000 were not journalized)
Ttz foseti @ aete g 9w wE fm @ Twter
gzt IFEgE? (When market price of material has

decreasing trend, Which method should logically
follow for issuing the stock?)
A. FIFO B. LIFO

C. ©iag% *Ie *afe (Weighted average method)

D. 44 1% “afe (Simple average method)

GF0 FITTR (WA ACSTET Wo S 3,00,000 BIFE
Fde ey =@ R e orwEs o s
Rt Mot T 93 RrwEs Yo ifFd @ 1w 9B
(5% gt T T | (wiwAe IFRS s@ii wabiEssad
NS gt F@ 1 FAF 3,00,000 BIF WS TEHCR I
557 =CI? ( A cloth store makes a sale of clothes for Tk

1,00,000 on November 30. The customer is sent a
statement on December 05 and a cheque 1s received
on December 10. The cloth store follows IFRS and
applies revenue recognition principle. When is the Tk

1,00,000 considered to be earned?)
A. Tr1%7 o¢ (December 05)

B. site99 wo (November 30)

C. f&=®a Yo (December 10)

D. &3 oS (December 01)

wifdz g2t g F9t =@ 7= (Financial statements
are prepared mainly for)

A. SerEdd %+ (internal users)

B. afzs3 Izt &+ (external users)

C. Fers=ma s (auditors)

D. T=9913E IRg149Me &5 (managers of the business)

TG YT (I O TER e Sy @ A1? (Which

method of depreciation does not rely on time?)
A. FREERE (Straight-line method)

B. a1 792 “wfe (Sum-of-the-years' digit method)
C. @i e 7w (Declining balance method)

D. St ws “iwfe (Unit of output/activity method)
e AT weeR g wet 989? (Which of the

following is not a component of conversion cost?)
A. go5% 3@ (Direct materials)

B. gfers w54 (Direct labor)

C. =itar=s 6= (Indirect materials)

D. #itars 959 (Indirect Iabor)

e (FEbe T g wastitsa g 9i? (Which of the
following results in a decrease in acid-test ratio?)

A. et E™ (Decrease in inventory)

. (Increase 1n accruals)

C. 173 39t&9 9i= (Increase in receivables)

D. 9ige AT qffi (Increase 1n retained earnings)

10.

11.

12.

13.

14.

SIS JgW Fi7 Yo 000 BIFl; T *,00,000 BIFl; RwFw
3,00,000 ot | Reas B T Tt w@% =LA At
Tgrae A ¥9? (Opening stock Tk. 30,000,
Purchase Tk. 2,00,000, Sales Tk. 1,00,000. If
profit on sales is 25%, how much is the value of
closing stock?)
A. 390,000 5 (Tk. 2,30,000)
B. »,90,000 51 (Tk. 1,30,000)
C. s,¢¢,000 51 (Tk. 1,55,000)
D. 2,00,000 5@ (Tk. 2,00,000)
T ORISR WET (F10 1T 7wy {379 toes
goi (F=eq |17 (Which of the following items of
jamuna Enterprise will not have any effect in
prepanngﬁm reconciliation?)

Sl 0,000 BIF| (Deposits-in-transit worth

Tk. 20,000)
B. Tits v9e Afardiis cfigqmim WA TPFS 6D

yo,000 Bl (Issued cheque worth Tk. 10,000
paid by the bank)

C. 971%ss 7S Biet ¢oo b1 (Bank service charge of Tk. 500)
D. siressidia 1 3,000 i@l (Depositor's error of Tk. 2,000)
BitF q51 TF- (Seller allows some discount when
receiving the amount from debtor is called-)

. 971z 2181 (Bank capital)
B. 2%s 151 (Sales Discount)
C. @i 3181 (Purchase Discount)
D. 317119 9161 (Trade Discount)
wiEFa i <@ Fw ©49? (On which is income tax
levied?)
A =479 €949 (On capital)
B. 5079 ©99 (On expense)
C. =4tma ©#4 (On asset)
D. ©iitag 42 (On income)
f7ee (BT o= FNFe S daem 23 717 (Which
one of the following does not require an adjusting
entry?)
A. wdiw gwe 1 (Prepaid insurance)
B. a3 496 (Accrued expense)
C. 5953 (Depreciation)
D. wfére 5 (Earned revenue)
ofe fAfbrea 6 F<al JF¢F 80,980 Gt |
Foha 551% WS 7= ¢:: | are F=+taa «ifemid @<
91 (Denim Limited has net working capital of
Tk 40,740. The current ratio of the company is
3:2 Determine the amount of current assets)
A. 33,480 5= (Tk 11,640)
B. 213,50 o=t (Tk 27,160)
C. 25,500 Bi=t (Tk 29,100)
D. ¥9,500 5= (Tk 67,900)
o anEa oo 3t =g wiE 8 AifEEEETes
A f&m ITFT v, ¢o, 000 BIF 8 b 3¢ 000 BIF | ©F
WWWWﬁ #13 3, 00,000 BIFl 8 BT
Z AW 300,000 BIF | FfEaEeg “ffes e
&N FmE 7 T I T Ig@d W6 qwrwt 3t &6
ey “AfFm I5? (At the beginning of the

accounting year, the liability and owner's equity
of a company were Tk. 6,50,000 and Tk. 8,25,000
respectively. During the year, the assets increase
by Tk. 2,00,000 and the hiabilities decrease by Tk.

1,00,000. If there is no other transactio 14



15.

16.

17.

18.

19.

20.
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affecting the owners' equity, what is the amount

of net profit or net loss during the year?)
A. 95 371%1 5,000,000 B (Net profit Tk. 1,00,000)

B. fii6 %% 3 00,000 5@ (Net loss Tk. 1,00,000)

C. 196 1% 9,00,000 Bi=t (Net profit Tk. 3,00,000)
D. 6 =f® v 00,000 5F (Net loss Tk. 3,00,000)
IEI&E mﬁmﬁﬁ?{%tﬂﬁw (Which of

the following is a limitation of an income

statement?)

A wim R@T off 7 o Ifm I (It is very
difficult to prepare an income statement)

B. wiw Readiz wfes weore w6 (It is very difficult to

audit an income statement)

C. fog T3 932 Fiffs o Afowsm Afamie s 3 =t
(Some expenses and provisions cannot be
estimated correctly)

D. cRREER SR 76 9@ @ =1 (Shareholders

do not believe the income statement)

fa@rs iz 5 = (In determining cost of goods sold)

A7 @@ (I @ B Iw ¢ =@ (Purchase
discounts are deducted from net purchases)
B. 70 @ A afzgoifaazs 496 51 <1 =0 (Freight-
out 1s added to net Purchases)
C. <6 @ (AT @ 99 v (q¥ =¥ (Purchase retutns
are deducted from net purchases)
D. 7% @aw e weseifdezs @t a1 =9 (Freight-in is
added to net purchases)
il e ey IR o I393° T 2@ (The
standards that are wused In making financial

statements universally acceptable are)
A. GAAP B.GAAS C.IFRS D. GAAT

% eafes Tgw A7, Tt 5w S99 RES =it
7T IFT 8,000 BIFL, Y, 000 BIF 8 3 80,000 GIF
7@ oizm [@awe <t 3@ 39?7 (If opening
inventory, closing inventory and cost of goods
sold are Tk. 48,000, Tk. 62,000 and Tk. 1,40,000
respectively, then what is the amount of cost of
goods available for sale?)

A. 3,03, 000 519 (Tk. 2,02,000)

B. 3,¢8,000 519 (Tk.1,54,000)

C. 3,vb,000 51t (Tk.1,88,000)

D. 5,3%,000 Bi&T (Tk.1,26,000)

1A oA w7a? (Which one is not a transaction?)
A. qifere W5 @F 991 26 (Purchased goods on credit)

B. Wi (@10 T S0 % 2@ =6 4 41 2eEt (Depreciation

is charged at the rate of 10% on the building)

C. 5% IR @ Iou+« WA 4w Fd1 zeen (Last
month's salary 1s paid in the current month)

D. *© q%Eq Te9Y g 24 [i& 9oc0 BIA I TR
(Sales have declined by Tk. 7000 compared to that
of the last year)

fme T gors “afers tofgs oW 3R RAadics
Al =87 (Which of the following is reported on

a cash flow statement prepared as per direct
method?)

A. SPRR7E [R@wese =e (Loss on sale of furniture)
B. @if<ts #i<3 fa@w (Goods sold on credit)

C. =531 (Depreciation)

D. Fesaizidice «oiv &wi (Cash payment to suppliers)
Answer Keys: 1.A2.A3B4B5D6A7B8.C9.B
10.B 11.D 12.D 13.D 14.C 15.C 16.D 17.C 18.A
19.D 20.D

8.

10.

Management

eTEts sifewt ©tgs sediw «iot g (The highest step in
the need hierarchy theory given by Maslow is:)
A. s9-of@ (Self-satisfaction)
B. wg-if$wi (Self-actualization)
C. -7 (Self-esteem)
D. wirg-"% (Self-confidence)
‘T oeEEd W@ @A e dftm IR0eE @R &
(Who is the author of the famous book titled 'The
Wealth of Nations'?)
A. wuifss (635 (Frederick Taylor)
B. z@fa frow@iet (Henry Mintzberg)
C. woi 94 (Adam Smith)
D. =7 @s=1 (Henri Fayol)
(I FISTCH FHOER (TS A1 2 @ ofed — 70 | (The
structure that creates dual lines of authority is
called —.)
A. Si=Tey (bureaucracy)
B. (i< S5 (matrix structure)
C. SipaE sAgsto (virtual organization)
D. et T (Simple structure)
OFEF AIZPIT (T FRF NGB SAfFpEa FEa o
FRAtE — 33 | (The number of subordinates that
a manager directs is called —)
A. Totgq w19 (leadership web)
B. Stwe*ia @< (unity of command)
C. SItae=is 24 (chain of command)
D. fAastes «ifa9@ (span of control)
el e = *w w=Es? (BRDB is located
at which of the following cities?)
A. 3%vl (Bogra) B. 3@ (Comilla)
C. 511 (Dhaka) D. aremiigl (Rajshahi)
MBO «= = ze@=it— (The full form of MBO is—)
A. Management by Operations
B. Managing Business Operations
C. Managing Business Objectives
D. Management by Objectives
(OGS ©g-9F 2795 (F7 (Who is the proponent of the
"Theory Z'?)
A. 9% g8 (6= (F W Taylor)
B. 7@ «@=1 (3% (Henry L Gantt)
C. e3feram fer ¢ (William G Ouchi)
D. cfa #1<= w6 (Mary Parker Follet)
& =i c&get ¥a? (Which one is NOT a non-
financial motivation?)

A. vi=f@a f=i+i@ (job security)

B. #itwi@® (promotion)

C. <ited 719 (performance evaluation)

D. =& T4wi (social status)

a5 st Fww wwged s==m gt (The most

important asset of an organization is:)
A. 94 (money)  B. W< 779 (human resource)

C. ¥ (land) D. F=1<= (capital)

TIZPAR (FIF TE YRABTS wFSl FIGW @ ST
ZA? (At which levels of management is conceptual
skill mostly required?)

A, 391 % (Mid level)

B. femmgy w5 (Lop level

C. T3y %9 (Upper middle level)

D. ©% @« (Top level)

15
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e A Wt O I @i e I[FEAE
3 ezare z8? (Which of the following documents is
mostly used for internal administration of a
company?)

A. <=4 “f@ (Prospectus)

B. 5g<id wita* (Government Order)

C. ~ifatw= ==w"f@ (Articles of Association)

D. «if@ts= 95 (Memorandum of association)

FiF WFOD 75 &I IIZNET &0 AT AT ?
(Which skill is equally important for all managers?)
A. 17+ (Technical)

B. cgsiicast (Communication)

C. gig=ie (Conceptual)

D. ¥+ 3=%% (Human relation)

=T o & wieEs g w52 (Which document
is NOT necessary for Export?)

A. qififess vrer gesifirs 5w (Consular Certified Invoice)
B. 3¢l viera (Export Invoice)

C. t-<rt+i@ (Marine Insurance Policy)

D. =i s (Bill of Lading)

— %= ey = It Fd™ o [=at Ema et |

(— is the process of selecting the best alternative
from different alternatives.)

A. #fs=g=i (Planning) B. g7 (Organizing)
C. ¥ gz4 (Decision making) D. 7933 (Coordinating)
fea (i z&fEm ©siwi=? (Which of the following

is a hygiene factor?)

A. Ffogte (Achievement) B. Figf® (Recognition)
C. o4 (Salary) D. &3f& (Growth)

e AT IIFEE Fw 79? (Which one of the
following 1s NOT a function of management?)

A. ifasg«i (Planning) B. 795 (Leading)

C. 5eeia (Organizing) D. T=1 fd=4 (Pricing)
“TRSTE ST FAMB [HAN-AITS WL TS TR, 92
Mfefe & frates? (“'Specific rules and regulations
shall be used in organizational work', who gave
this principle?)

A. T1F st3a[ (Max Weber)

B. czafd @@= (Henri Fayol)

C. % ©fge (6=1q (F.W. Taylor)

D. «=64 Tia (Elton Mayo)

et wEel I90s (@R_E- (Technical skill means-)
A. fo=1@ =wret (thinking ability)

B. ¥ 71(&® & (task related knowledge)

C. s1wifers &+ (social knowledge)

D. widtafes & (economic knowledge)

fatea = A siRwg=1? (Which of the following
is a standing plan?

A. 7=t (Budget)

B. @95 (Project)

C. zdta== (Strategy)

D. fat= ¢l (Special program)

=i gt T FigRt FsE TOIS1 FANET YT —

Ta @ g@ w1t 1 (The interim period between two
annual general meetings of a company should not
exceed — months)

A. 33 9 (12 months) B. ¢ 319 (15 months)

C. v I9 (18 months) D. & T (6 months)

Answer Keys: 1.B2.C3B4D5C6D7.C8B9.B
10D 11.C 12.B 13.A 14.C 15.C 16.D 17.C 18.B
19.C 20.B

10.

11.

Finance and Bankin
57 o SIS [ G e (Which of the

following is a technique of financial analysis?)

A. reEm f[eeRd (Break-even Analysis)

B. 7= @21z far=r"d (Cash flows Analysis)

C. J=14+ qrenive (Capital Budgeting)

D. ffeefat fareae (Security Analysis)

@ 3 TIF Bgs R ZF F91 W ©iF 799 Z3- (The risk
that is firm specific and can be minimized is called)
A. T991¥ < (business risk)

B. WS i« (unsystematic risk)

C. wiféfs 4 (financial risk)

D. Festabe 3= (systematic risk)

e = qifafens e 75? (Which one of the

following is NOT a commercial banks?)
A. =gt 7w 7@ (Palli Sanchay Bank)

B. ©f it (Woori Bank)

C. 3@ 2712F (Shinanto Bank)

D. &&= @i (BASIC Bank)

e = wid T9Ee o sw? (Which of the

following is NOT a goal of finance?)
A. 3] F<ifg@9e (profit maximization)

B. 7% 54194 (wealth maximization)

C. sregie* 3419234 (dividend maximization)

D. sEH<ad (cost minimization)

I AR FS AR FGI I N IJIAE
wroEsat  F@? (By which order insurance

business in Bangladesh was nationalized by
Bangladesh Government?)

A. 393 (1971) B. 593 (1972)
C. 529 (1973) D. 3548 (1974)
feen ol FASeRtre o witas wies® IEee? (Which
of the following security has voting right?)
A. Fgigd 19 (Ordinary share)
B. @@&@ (Debenture)
C. % (Bond)
D. weif4=3@ <17 (Preference share)
TE A6 Ia0s 1 3AE? (What does a bull market
mean?)
A. «=ft wf«fos atera (an unpredictable market)
B. =it 1= Bl arend (a market with rising price)

C e eiifes I= ~ifqaea=ian ate (a market with
high price vnlﬂtlht}r)

D. ¢« #@q IEF (a cattle market)

67 (F1 F=oWiod Sy J3wed <97 (Which of the
following asset has least liquidity?)

A. #iw (Cash) B. \fewis (FDR)

C. 946t (Apartment) D. <% (Bond)

& INT oF FHeFeR e Awes w=? (For which
insurance the contract of indemnity is not applicable?)
A. =f5< 1 (Fire Insurance)

B. &==<rat (Life Insurance)

C. -3 (Marine Insurance)

D. *5<€i (Crop Insurance)

Hee e = Ao wwaS a7y @ 71?7 (Which
of the following type of institution does not
accept deposit?)

A. Ba7 1S (Development bank)

B. s 9¥ 951¢F (Cooperative Bank)

C. =ifdfen® a7 (Commercial bank)

D. Rt 2523 (Investment bank)

@% =tw i7? (What is bridge loan?)

A. SETeiEEE g™ ¥4 (Interim short term loan)
B. vt 44 (Long term loan)

C. 3% ¥4 (Mortgage loan)

D. fg= ¢sfs@s &= ¥4 (Loan for constructing bridge)

16
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e AP TeR T wieekig? (Which of the
following is a cash inflow to a firm?)

A. @171 Rtemzt (Decrease in bills receivables)

B. ei#7 fate1a 9% (Increase in bills receivables)

C. eitwg ez (Decrease in bills payables)

D. dtv3 Jtv9 20 (Decrease 1n interest payables)
fawe At eIt wiEee Swiggd w3? (Which
one of the following is NOT an example of

negotiable instrument?)

A. 1= (@%b 316 (Bank credit card)

B. 99153 GiE6 (Bank draft)

C. 1@ 6 (Bank notes)

D. <N (= (Bank cheque)

(TG IRF TR 4w Bw? (Which is the main
source of bank fund?)

A. ifariifge Je1¢s (Raid-up-capital)

B. #ids wzf<e (Reserve fund)

C. 3w g7 ¥4 (Borrowing from the Central Bank)
D. si#@ (Deposit)

A AMITAF CFGa IMEFT 930 T 1 st w g
sgwara? (Which one of the following is most
preferred by a bank as security of loan?)

A. go5#@ (Letter of credit)

B. ¢=iw< (Share)

C. 3 wneres 4w (Fixed Deposit Receipt)

D. <@ (Debenture)

fa @ =R 6 & <7 =@? (Which one of the

following notes is regarded as government note?)

A. oo 519 (Tk. 100) B. So 5=t (Tk.10)

C. ¢o &<t (Tk. 50) D. ¢ o<t (Tk.5)

qFo A 5,00,000 bIF REES F@ FF-*17TS Fi6
TATF 3,92,¢oo B et T @ R SIHF FE TS
(G SABH 8,V 00 B | 4FFHA T WEeIE 57 (A
project yields a net profit after-tax of Tk. 1,32,500
from an investment of Tk. 9,00,000 and the total
depreciation of its fixed assets is Tk. 4,66,200.
How much is the cash inflow of the project?)

A. ¢,5v,900 5191 (Tk. 5,98,700)

B. w09 900 5F (Tk. 3,33,700)

C. So0,93 ¢oo o= (Tk.10,32,500)

D. 8,99 vco 591 (Tk. 4,33,800)

e IR = [EmEe o o6 IR RRAR 9 7
1?7 (Which one of the following account does not
provide any cheque book?)

A. %3 (Savings) B. =1t (Fixed)

C. far=5 v=fe (Special current)  D. veife (Current)
e 1A 3 Teh wiids S 78 Fw@? (Which of
the following leads to financial risk of a firm?)

A. 33 257 (Issue of bond)

B. ¢@ 2577 (Issue of common stock)

C. 33 #far*i¥ (Redemption of bond)

D. ggfea #ifagea (Change in technology)

fr e GFERP o [ =@ g f&f¥s 1=
sfzeiifes zg? (Which of the following security is
sold at discount and redeemed at par value?)

A. @« =T« (Bonus share)

B. @Gerifa fa=1 (Treasury bill)

C. weif¥a@ <173 (Preference share)

D. @13t ¢*i@w (Right share)

Answer Keys: 1.B2B3.A4C5B6A7B38C9B

10D 11.A 12.A 13.A 14D 15.C 16.D 17.A 18.B
19.A 20.B

10.

Marketin
Moo A7 It wABend , AT CTRT YIRS
FE F@, 92 (SF @TNT I [T @, 92 @wEd
(VIFIHT T IS T/ W, LI GF2 60 A9
T TG, OitE =1 TF- (A group of products that are
closely related because they function in a similar
manner, are sold to the same customer groups, are
marketed through the same types of outlets or fall
within a given price ranges is called.)
A, 9 (Product Line)
B. =<7 it (Product Mix)
C. =<7 =t (Product Class)
D. =41 79i=lF (Product Assortment)
o o erema T Ao TooF s 390
ot #@w F0a? (Which of the following is a key to
building long-term relationships with consumers?)
A. =it 9 =17 (Low price of the product)
B. (@i 7@ (Customer satisfaction)
C. grms= 99419= (Need recognition)
D. wfgs fewi#w (More advertising)
(GfeTEor @ we=? (Telemarketing is a part of?)
A. #fers Mo (Direct Marketing)
B. 3= wit=oe (Relationship Marketing)
C. Fifer WeRioe (Social Marketing)
D. sidqm Tine (Viral ;{r%rketing)
(T 12T T g fofers (aret 31 Rrars =rF
T W WAF FRIM 777 I3 g e wfEwm om
=1 SItF IC7- (A wholesaler who represents buyers
or sellers on a relatively permanent basis
performs only a few functions, and does not take

title to goods 1s called-) .
A. wi== (Broker) B. #51% =& (Rack Jobbers)

C. «aterb (Education) D. =ites (Merchants)
e @ ond-Reas Fefesmda SomE 73?

(Which of the following is not an element of
demographic segmentation?)

A. §==415 (Lifestyle) B. ¢#*1 (Occupation

C. =1 (Education D. a5 (Age)
TN G SO (FIF BLF (o1 &S 475 7w 2@? (At
which stage of product life cycle the cost per
customer is the highest?)

A. 95 878 %= (Product Development Stage)

B. 7541 ¥4 (Introduction Stage)

C. #i<fe1 wa (Maturity Stage)

D. #ieq €9 (Decline Stage)

AT, QTSGR FEBNT (S 4F0T7 I wf?
(Schools, hospitals and prisons are the
components of which market?)

A. o= qrend (Consumer market)

B. sw=if@ arei@ (Government market)

C. #jifesif<s arema (Institutional market)

D. @iiiE=s q@nd (Micro-market)

0L (FSIa &0 fATea (16 %2 F@? (Which of the

following does marketing create for customers?)
A. &1t (Service) B. 747 (Product)

C. =117 (Value) D. sifessst (Experience)
a5 Bt 8 e o weifagd =6? (Which one
is essential for production and selling?)

A. wiwefes s@eaiz (International Supply)

B. 3tetq w7 (Market Information)

C. 3i<ira sifzmi (Local Demand)

D. 3= (Contract)

FA-REE TOW & 437 St 58 21? (Which
type of utility is created through buying-selling?)
A, Z=ste B (Place Utility)

B. 7amaste @At (Time Utility)

C. s¥ists ©oitatst (Form Utility)

D. wifesists Azt (Possession Utility)
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www.exambd.net

"SEE WigEe RTeFEe oY e vE, @ e IO
TR & FAF AN T”-afb fAen Fmita Swzad?
(Many people want to buy BMW cars, but only a

few are able to buy'-Which of the following is an
example of this?)

A. (Demand) B. wfeees! (Experience)
C. 5= (Want) D. @@e™ (Need)

et"itag dyiw F15 F=6? (Which one is the basic

function of advertisement?)

A. FHEF (Employment)

B. wafzes94 (To inform)

C. #grma« (Industrialization)

D. si<= gi@® weaae (Improvement of standard of living)

“(FoEl G AT ST W G FF FAE (TR A

&= =t FgieaE = FU4? ("'Buyer will buy those
roducts which are available and affordable".
Vhich marketing management philosophy holds

this principle?)

A. Tesime 99 (Production Concept)

B. <7 799M (Product Concept)

C. fa@a woam (Selling Concept)

D. =t wreqm (Marketing Concept)

faee Al “caream” st Twizgd? (Which of the

following is an example of ""Impulse” Product?)
A. ‘ﬂlﬁ‘-‘ﬁ:éﬂ (Ice Cream)

B. pt=i@ ¢&=1 (Hair O1il)

C. ™ fo=1 (Child Vaccine)

D. siteg =14t 7<= (Bath Soap)

f5oa (=0 TF0L AT S e Rafvs 7a?
(Which of the following is NOT considered to be

an element of marketing promotion?)
A. fwi9i= (Advertising)

B. #f@egs (Transportation)

C. @@ 9 ©q3= (Sales Promotion)

D. =< casitatst (Public Relations)

iy 993 o= &? (Who is the father of

Modem Marketing?)
A. 1#51a gr=q (Peter Drucker)

B. f&f=#l @6erta (Philip Kotler)

C. o sarsigane (Lester Wunderman)

D. 9= I (Abraham Maslow)

e {99 Fwe F=o? (Which one is a
problem of online marketing?)

A cit=/rrer g3 (Disclosure of Secrets)

B. 9413 S94iss @[ (Lack of Middlemen)

C. 3f$s ama (Increased Cost)

D. #ifr® (@i (Limited Buyers)

& I @ 7™t & ? (In which market
buyers are large in number?)

A. o= FiEte  (Consumer Market)

B. 95914 &9 (Business Market)

C. 5gaia Ir&id (Government Market)

D. wiweifes arEd (International Market)

Sqifts A4 Rewe o IEFEsTadd FH ToIm’
©4g&? (Which marketing concept is appropriate
for selling unsought goods?)

A. 91 =9m (Product Concept)

B. qrEieresqd =49 (Marketing Concept)

C. 9w« weqm (Production Concept)

D. fa@a weqiv (Selling Concept)

ReEritie o0 e v =5 awss #7317 (Which of the
following aspects is NOT applicable to advertising?
A. ‘{(;]1{[% IS (Face-ml? ace cnmmunjcatinng )
B. t7dife= B=gi#i= (Non-Personal presentation)

C. =3fen 7w (Paid media)

D. fof=e Sraret (Identified sponsor)

Answer Keys: 1A2.B3A4C5A6A7.C8.C9B
TOD TT.A12B 13.A 14.A 15B 16B 17D 18.A
19.D 20.A

01.

02

03.

04

06.

07.

08.

09.

10.

11.

12.

13.

14.

15.

16.
17.
18.

19.

20.

TiIl YR vwiEg oduv-20d9

A S 9§01

sjsfa: S0
1L

“GTIR FE WAk ST EE i deus” FfRem g
TEATS T (@R ER?

A. TR T4 B. qiez o C. w17y
D. =g+ E. S SiviE=

e T wes [eem?

A. 4T B. TQR/MmR C. vifewy
D. Fzaffet E. ool

‘AT T AFTS 8 ATH-

A. GO B. 4F1+9H C. GTo[+8
D. @143 E.ag+om

T S AT TR A F57?

A. aft B. 5 C. 33/
D. o6 E. 35

I BIFt I~ I BIFE’ M (FIF FRE FIF RFefE?

A eI B. sgeme all C. sfe@ee o
D. SAWI a3t E. FISRE adit

‘ST’ 0 (I SE (AT THS?

A. 2% B. T@ C. b=t

D. iF® E. wi=fd

s 1 o wUT IFITT [ErE?

A. Stes, eEeE B Afaeg, s C. ¥wigh, 30y
D. feifast, fags  E. wa9g, fefgn

A. @F-5ma (vSl B, rEeife C. =] AN @
D. 7% FF E *1@-7t314

& S *tx “7" 93 IRGF 8 717

A. oY B. (af* C. Acge

D. wuq E. faea=it

‘Tt PieTE oW (TORA-9YTE i (I 1!

A. IR F9 B. 04 et C. ares ool
D. atares 9! E. <ifox o9

‘ofFrel’ *Itx ‘At Bl (i ol I7aee?

A. B. 94w C. [@¥dre
D.Eg'ﬁn E. e

A v B. 5=fg C. o7s
o o

A. =gaid B. famt C. Feiet
D. zfa= E. wW

T+ 2o=IAS, (FIH SSTAEITT AT5S =372

A qE R gem B, FC R 495Y

C. 1 oS o D. Fegs ofas ooy

‘qEE WY S f[Ee-9E REm N IR
&= Fefe?

A SfgFart qr B. 9swa a5t C. T4t st
D. sfgsart 3 E. Sq0t v

l-qﬁ.e'!wof_

A.-==w B.9m= C. & D.d= E. =
‘e =0 I SiEt (WA 9TR?

A SRR B. ¥ C. =i D. g™ E. g

et FAifeees “FAiREmin' BAfHTs & oFs !
A. 7559 fpesia B. If@any suaiAieE

C. o Jeredt W& D. 94 higdl B, 7drwed o194

SR (1 FAH?

A. oI5 ey B. 7g3i® C. faa

D. vodi ©7wd E. ffer

‘e’ =it wiss i Roww @min?

A. fE=i+=ma B. &Ta+w59 C. fZu+siea

D. fEmt+=ina E. fZa+se
E3.A4A5B6E7DS8.A9EI10C

Answer Kevs: 1.B 2

. 8
D 14D 15C16.C17B 18B 19.D 20.B 18



ENGLISH

Read the following passage and answer (questions 1-5):
We know that all species are important for maintainin
ecological balance. If one i1s lost, the whole natur
environment changes. In order to protect the environment
from being spoiled, we should protect our wildlife. The
good news 1s that many countries are now taking action

to

protect their endangered wildlife. George Laycock,

author of several books on wildlife, writes: Mankind
must develop a concern for wild creatures and a
determination that the wild species will not perish. We
should save the earth’s wild creatures to save ourselves.
To be kind to animals 1s to be kind to mankind.

01.

02. Wh

03.

04.

05.

06.

07.

08.

09.

10.
11.

12.
13.

14.
15.
16.

17.

UccC

Ecological SP’SIZEII]S are usually .

A. sustainable B. naturally beautiful

C. constant D. stable equilibrium

E. changing over time

y are countries now talking action to protect
their endangered wildlife?

A. to protect the forests B. to protect the food chain

C. to protect the environment D. to protect natural beauty

E. to protect the diversified wildlife

What do you mean by ‘ecological balance’?

A. balance of nature B. balance of wildlife
C. balance of forests D. balance of mankind
E. balance between mankind and wildlife

What can we achieve by ‘being kind to animals’?
A. protect wildlife B. save ourselves

C. diversift D. preserve natural forest
E. bring a balance

Mankind must develop a concern for wildlife
creatures save themselves.

A.to B.for C. by D.of E. despite

Fill in the blanks with appropriate words
(questions 6-11):

In such a gmuping, a wide range of talent
must be expected.

A. formal B. healthy C. heterogeneous

D. casual E. homogeneous

The type of clothing people wear tells others a lot
about '
A. what they are B. who they are C. who are they
D. they are E. when they are

Clothing made by Bangladeshi workers are
by millions of consumers around the world.
A.clad B.wore C. dressed D.worn E. wrapped

He gave up cricket when he got married.
A. of playing B. playing . to play
D. play E. played

I wishl a queen.

A.was B.1s C.are D.am E. were

They remain compared to other citizens
with higher levels of unemployment and lower

wages.

A. Eisadvantage B. advantaged C. advantageous

D. disadvantaged E. disadvantegous

Choose the correct prepositions (questions 12-17):
e olten go for nishing the river.

A.on B.in C. inside D. around E. of

Which of the following words is spelt correctly?

A. exaggerate B. exagerate  C. exaggerrate

D. exeggerate E. exeggerrate

I am writing this essa blue ink.

A.in B. with C. by D. from E.on

The synonym of ‘sever’ is:

A.cut B.harm C. mischeif D. unite E. extreme

The antonym of ‘divulge’ is:

A. reveal B. reprimand C. admonish

D. conceal E. cure

Cyber attacks are much easier to carry out than

to defend .

A. against

D. at

B. about C. after

E. down

18.

19.

20.

01.

02.

03.

Select the correct passive form of: We insist on
punctuality in this office.
A. It 1s to be insisted that punctuality should be in this office
B. Punctuality should be insisted in this office
C. Punctuality be insisted in this office
D. Punctuality 1s to be insisted on in this office
E. Punctuality is insisted on in this office
Find the correct sentence (questions 19-20):
A The intruder stood quietly for few moments.
B. The intruder stood quietly for few time.
C. The intruder stood quietly for sometimes.
D. The intruder stood quietly for moments.
E. The intruder stood quietly for a few moments.
A.If I find a bag in the street, I take it to the police.
B. If I find a bag 1n the street, I took 1t to the police.
C.If I find a bag 1n the street, I would take it to the police.
D. If I find a bag 1n the street, I will be taking it to
the police.
E. If I find a bag 1n the street, I had to take 1t to the police.
Answer Key: |lE2C3A4B5A6C7B8D9B
10.E 11.B 12.B 13.A 14 A 15.A 16D 17.A 18.E

19.E 20.A

ACCOUNTING
XA (1T FTHEES 3 WAW &ve ©fe! e oo fem
©3_ ooo BIF, (TIH Y iy 8 TITE Wiy &we

oot fge | 9 ot e Sifae ewem Jwea siEwt
fa=@e1: (The balance in the prepaid rent account
before adjustment at the end of the year is Tk.
32,000, which represents four months’ rent paid
on December 1. The adjusting journal entry
required on December 31 is:)

A. S8l I96 ZAR (SRE 28,000 BIFH NN 4vs
©1e! fZT (&S5 28,000 B1F (Debit rent expense
Tk. 24,000; credit prepaid rent Tk. 24,000)

B. Sfay 28 ©et 271 ©[6 b ooo BI=; Sl 496 ZAR
(@G0 b,oo0 BIA (Debit prepaid rent Tk. 8,000:
credit rent expense Tk. 8,000)

C. Wiy &we ©wl ZAK (B[ 8,000 bIFT; ©G A6
fesim (@6 28,000 B9t (Debit prepaid rent Tk.
24.,000; credit rent expense Tk. 24,000)

D. sol 435 &9 b,000 GBI &A% oG fZAe
(@G0 000 GBI (Debit rent expense Tk. 8,000;
credit outstanding rent Tk. 8,000)

E. S 496 9] bv,oo0c bi9: SN oW siw [
,0o00 Bi@l (Debit rent expense Tk. 8,000; credit
prepaid rent Tk. 8,000)

eTifey ey s e ¥™: (The trial balance
will balance if:)

A 2it*ly o1 T2 (@b A5 ¢ Bt am it (A credit
posting of Tk. 525 in Accounts Payable 1s omitted)

B. ©iut 495 &@d ofqb 84e 3@ 8¢q DIFl
¢1F62 =4t =7 (A debit of Tk. 475 as rent expense is
posted as Tk. 457)

C. A2liE QIS0 (B0 5,000 BTl 2PRATAL FISCD
doo B! (&fq6 <4l =¥ (A debit posting of Tk. 9,000
for supplies is debited to equipment as Tk. 900)

D. SE &R a6 FTma @6 a1 1 =8 (An entry
for rent paid 1s not recorded)

E. &t7d 85¢ GIFE (FMGD (1752 12914 T4 T
(A credit posting of Tk. 415 to Accounts Payable 1s
made twice)

&= Rewisa g4iw Sl gt=: (The main objective
of accounting is: f

A. FFE #EFEmA Sitd &@F© ¥4l (To record all the
transactions properly)

B. @3 &fe TR w93 T0d oy (i (To
provide information about cash position of an
organization)

C. IRiE IRZRFRAE Sre-d o7 (@@ (To communicate

the necessary information to interested users) 19



04.

05.

06.

07.

08.

UccC

D. «feviR wreems wermz fifFe <at (To identify
the profitable item of the organization)

E. 7<RtE aqy Fawin =7 F¥91 (To calculate the tax
liability payable to the government)

0d¢ HAIEE Y EigEE SR @@ Fou EhEmoes
crawiEa A @5 :¢o,000 BiFt @ T Fikfeg
(&2 T2 So,000 BIFt | FAt I8 W6 47 Reea «ifame
&= ¢oo,000 BIFt YA AIMRTHE FIR CATF NWE Fal
T 890,000 BIF! | BF IR(A T TV FIEHF T4t TF
20,000 BIF | BT CHTT ANN (AAMICAT ©5F ¢ % FH
AR ¢ T a7 FAT AfP(ST FAF=A (FF FS X7
(On 1 January 2015, Bengal Foods Limited had

a balance of Tk. 250,000 in Accounts Receivable
and of Tk. 10,000 in Allowance for Doubtful

Debts. During the year, net credit sales and

collection from accounts receivable were Tk.
500,000 and Tk. 430,000, respectively. Bad debts

written off for the year amounted to Tk. 20,000.
If a 5% allowance on ending accounts
receivable is kept, what would be the ending
balance in Allowance for Doubtiul Debts?)

A. @¢,000 13 (Tk. 5,000)

B. S¢,000 5 (Tk. 15,000)

C. Y%,000 GBI (Tk. 16,000)

D. 3¢,000 519t (Tk. 25,000)

E. 3y,000 Bi&t (Tk. 26,000)

PR 5T Wit FANSAT (GSIH 3,00,000 GIF IH GI(0
F TR T F@, TF FYSE 4371 W A5 27 932
SR T ¢,000 BRI S (AFR 4t ATF 0%
T SR (BF ARMOCS JI64 41F I3 TR | W&
«ft w3, 000 BT THFT a1 ¢Ita T BiFt 71S Jt wO
Z@? (Four years ago, Kalatia Traders
purchased an office equipment at a cost of TKk.
100,000 and estimated its useful life of five years
and salvage value of TK. 5,000. Since then, it has
been depreciated at 20% per annum under the
reducing balance method. If today it could be
sold for Tk. 32,000, what would be the gain or
loss on this sale?)

A. @r® v o000 B9 (Tk. 8,000 gain)

B. e o, svo 51 (Tk. 3,960 loss)

C. T v, 552 51 (Tk. 6,912 loss)

D. A v, avo 611 (Tk. 8,960 loss)

E. @ 9,000 191 (Tk. 13,000 gain)

o @t e e 97t wiffesE \eaE
za?(Financially, shareholders are rewarded by:)

A. S0 371%! (net profits) B. @=ie* (dividend)

C. 3w (interest) D. &' «iw172 259 (cost of goods sold)

SRR @i g dfs [ea T, g afe
sfFSaie 4" 8 (W6 Z3 IW T d0 B, aR
GIFl 8 0. b8 000 BIF | Y000 GIF TAF JEH FACS
B2 ¥ 93 o9 Fwm F30e z@? (The selling
price per unit, variable expense per unit, and total

fixed costs for the year of Taranagar Cnmj)ﬂnﬁ
Limited are Tk. 120, Tk. 72, and Tk. 384,00

respectively. How many units will have to be sold
in order to earn a target profit of Tk. 96,000?)

A. ,000 285 (8,000 units) B. ¢, 209 286 (5,333 units)
C. 9,300 380 (3,200 units) D. 8,000 280G (4,000 units)

E. 30,000 337 (10,000 units)
a6 @i T [ ffm @ s
wefzatea? (Which of the following information

is unnecessary to determine the breakeven point
of a company?)
A. %2 3@ (Fixed cost)

B. “f@a@==lte1 959 (Variable cost)

C. #ite19 v (Price of the product)
D. w7« i@ (Contribution margin)
E. 1% 919 (Average cost)

09.

10.

11.

fierad Sifen odifis B zt=: (The primary
objective of the matching principle is to)

A. I A wd] &9 9 (provide full
disclosure)

B. (F9 FAISIAR W GEAR T AS HPA 460D
wgwe a4l (record expense in the period in which
related revenues are recognized)

C. ©% QIR e ©d) anid @4 (provide
timely information to decision makers)

D. ffeg >t wids fResdin @ gaen <@

(promote  comparability  between
statements of different periods)
E. fedmicasy o497 ewe <4 (provide material

information)

feee (T Serivm-arw & fRwsitas $orr? (Which
one is an objective of Cost Accounting?)

A. 13 5ig®9 (Cost preservation)

B. 353 71973 (Cost coordination)

C. 5193 (Cost reduction)

D. 33 f541= (Cost incurrence)

E. a5 ffw@d (Cost control)

SAGCHA 0 ANFH A1 T4t 2= e = 7wy zi3? (If

an adjusting entry for depreciation is not made,
which of the following will be true?)
A. 776 ¥3 (A (Assets will be understated)

B. e g < (vitd (Owner’s equity will be understated)
C. =it T=rw @5 (7diid (Net income will be understated)
D. T3 =1 (q31td (Expense will be understated)

E. =53 ¢af* (w4t (Expense will be overstated)
@¢o,000 BIFT FREMH 6T (T8 T F4J Yo,000 GIF
ST XA G | ISAN IREFR G A6 GIEIml
&=? (Commission received Tk. 50,000 of

which Tk. 30,000 is for the next year. Which is
the correct journal for the current year?)

A. S99 I ©R6 wo,000 B W IF6 (SRO
20,000 BIA; W (&FHE6 ¢o,coo B (Prepaid
commission debit Tk. 30,000; Commission
expense debit Tk. 20,000; Cash credit Tk. 50,000)
B. IM9 496 (GG ¢o,000 BIF: WAV (@b ¢o,000
61t (Commission expense debit Tk. 50,000; Cash
credit Tk. 50,000)

C. % (GG @o,000 LI, I T (FHGL ¢o,000
5191 (Cash debit Tk. 50,000; Commission income
credit Tk. 50,000)

D. 797 (GR0 ¢o,000 BIFl; IN*M ST (HG6 0,000
B, Seiifere Sha (@S wo,0oo0 Bl (Cash debit
Tk. 50,000; Commission income credit Tk. 20,000;
Unearned Commission credit Tk. 30,000)

E. 7% (SR6 ¢o,000 G, Sgdifere IHRHE (@G0
¢o,oco 6@ (Cash debit Tk. 50,000; Unearned
Commission credit Tk. 50,000)

financial

20



13.

14

15.

16.

17.

18.

UcCcC

e fRwiee om T @t [Rfey gme wififs
gl Tl Fee iR F@? (Which accounting

principle helps comparison of accounting and
financial condition of companies over time?)

A. IFerst (conservatism)

B. @& A= (accrual)

C. v &f$¥ie (going concern)

D. &= (consistency)

E. amifsrael (materiality)

TEF &FFET d0,00,000 GIFE 19 ICE I ©ko
s wv a7 1 @ft e@wPs zza: (Alpha Company

has Notes Receivable for Tk. 10,00,000, due in
350 days. 1t will appear on:)
A. TgeeitE b7 37=91% RE1e (balance sheet as current asset)

B. Sgeeita g3t 57 f2ena (balance sheet as fixed asset)
C. Tge°ita bife Wi 2w (balance sheet as current liability)
D. =i Re=dite <5 ReTE (income statement as an expense)
E. wi Re=9lite Wi 20 (income statement as a revenue)
WA R 83 91 7@ Wea & 96@? (Which
one will happen after issuing bonus share?)

A. TFFETAg 7 “d (owner’s equity will increase)
B. W=t 9.2 @ (owner’s equity will decrease)
C. wWifFemreg w+if9afee 4@ (owner’s equity will
remain unchanged)

D. =% g% “1td (asset will increase)

E. 7=mZA “it3 (asset will decrease)

‘o SEERCE R’ &9 13e i &912? (What
kind of cash flow is the ‘sale of old furniture’?)
A. #f"5==ge (Operating) B. Rfsmsigs (Investing)
C. wdrm=ge (Financing) D. A 932 B (A and B)

E. A, B93R C (A, B and C)

ciee 8 e g2 SeimiE Tt 00 Sgeits I9Et
TS I FT | FTF /8 TN TH qSA WLATIE
ZrE crmm @ | s, a8 e T/
THE 7oA WS F5? (Sourav and Siam are two
partners who have their profit/loss at the ratio
of 2:3. Sayan joined the business as a partner
for %4 share. What is the new ratio of sharing
profit/loss among Sourav, Siam and Sayan?)

A 2098 (2:3:4) B. 35 (1:1:1) C.e:e:5(3:5:9)
D. ¢:5:¢(6:9:5) E. &%:8 (5:8:4)

XYZ =i 3,00,000 BiFt ¥ AR &0 1=
T T | aqrs R e F ger Awr? (XYZ
company issued shares of Tk. 100,000 for
repayment of loan. What will be its effect on
accounting equation?)

A. 3™q @ TMfEstrag 3% (Increase in Asset and
Owner’s Equity)

B. 7=#% @ ¥y j\% (Increase in Asset and Liability)
C. wa 3% ¢ WA (Increase and decrease in Liability)
D. f@sEreg 3% ¢ wiw 2 (Increase in Owner’s
Equity and decrease in Liability)

E. wiffeiareg 3% ¢ wim g (Increase in Owner’s
Equity and Liability)

19.

20.

01.

02

03.

04.

faren wc TEe T ordim edqins @8 7=?

(Which one of the following is not a qualitative
characteristic of accounting information?)
A. <73 =yt faes=et (Cost Benefit Analysis)

B. gar@EEet (Timeliness)

C. gmifrael (Materiality)

D. w719 (Comparability)

E. cargsirel (Understandability)

Ffeeire @F==ifwT Yo% TR 00,000 BIFF A, 3%
ZId 3,00,000 BIFF SifgFges CHE, 932 AP do
BIF! 3 @o,000 AYRT (IR IR | IW FAiwa
F9 RIS {0 AT 3,¢0,000 BIFT T, S YR
CRREISRNY AEH IS BIFT FAERH (TS #A3?
(Barigaon Company has 10% debentures of Tk.
100,000, 12% preferred shares of Tk. 200,000
and 50,000 common shares of Tk. 10 each. If the
after-tax net income of the company is TKk.
150,000, what is maximum amount of dividends
the common shareholder can get?)

A. %,¢0,000 5191 (Tk. 150,000)
B. 3,2 000 5% (Tk. 126,000)
C. 5,5%,000 5191 (Tk. 116,000)
D. 39,000 5% (Tk. 136,000)
E. 3,328,000 5@ (Tk. 124,000)

Answer Keys: 1.E 2D 3.C 4B 5D 6B 7.E 8E
OB 10E 11D 12D 13D 14.A 15C 16B 17D

18.D 19.A 20.B

MANAGEMENT
IZ#NE Firearet 99 &=i6? (Which one is not the
Principle of Management?)
A. IS (division of work)
B. Smt*d &35 (unity of command)
C. sfi=liael 8 siwere ¢ wlwrwe (effectiveness & efficiency)

D. === (order)

E. frzrigafest (discipline)

e W wieme Fetsmg &5 3= 78? (Which of
the following document i1s known as the blueprint
of the organization?)

A. "qiitv* (Ordinance)

B. =ifatw= =@ (Articles of Association)

C. feaza%i@ (Prospectus)

D. =mig=f® (Memorandum)

E. we=iwifa pfe (Partnership Deed)

T e 9 @fffs sese I= z@? (Pension
Insurance Scheme is categorized as)

A. liability insurance B. life insurance

C. property 1insurance D. personal insurance
E. social insurance

=to =6 IIAE AAEReE B4 71?7 (Which one

of the following is not a component of business
environment?)

A. 9973 *If& (economic forces)

B. &igfesie =if& (technological forces)
C. 7=w@ifgs =& (Psychological forces)
D. Igr#f® (inflation)

E. ¥ (labor force)

21



05.

06.

07.

08.

09.

10.

11.

12.

UcCcC

W 9 O Fq AIME FIEFT F@ (ST O TR-
(The asset that makes other assets effective i1s-)

A. =fi (land) B. =4+ (capital)

C. =4 (money) D. =g 7™*w (human resource)
E. @3f& (technology)

e i Itema UiF A @ 1?7 (Which of the

following is not sold by Central Bank?)

A. commercial paper B. fixed deposit receipt
C. banker’s acceptance D. treasury bill

E. certificate of deposit

HIWEATSE ©gd &3%% &7 (Who is the proponent of
the theory of bureaucracy?)

A. a% ©fgS. (631 (F.W. Taylor)

B. =77 @s# (Henry Fayol)

C. 711 sr@gi« (Max Weber)

D. %8 &% (Hue Grant)

E. s@g=a 1= (Abraham Maslow)

TR T AR AF3et w4 7 fEm? (Human
Resource Management was previously known as-)

A. @ieRFrETS TeTe® (Administrative

Management)

B. T witvea b (Functional Management)

C. iR wif45@ Witwerw® (Human Capital
Management)

D. #taeiiae Witmeeae (Personnel Management)

E. 125 R%< Witec o (Scientific Management)
i Fegt Iqt WifS ewa F3? (Which organization

sets the monetary policy of a country?)
A. Ministry of Finance

B. The central government
C. Central bank

D. National Board of Revenue
E. National monetary authority

g3 IR FRwe e e fm 5&em
...... & =75 A490e €2 | (The minimum number
of directors in the Board of Directors of a public
limited company is .)
A2 B.3

D.5 E.7

FERITE @Fiieg SgaE Fwe @t @ada Simi?

(Which of the following is a motivation factor
according to Herzberg’s theory of motivation?)
A. (397 (salary)

B. siefsa f7=r=iet (job security)

C. #itaafes Jwisl (opportunity for advance)

D. =4-#ifata= (working conditions)

E. sizsitnd #Aitd 3794 (peer relationship)

WwEif=e JIIFEEE 5% &7 (Who is the father of

Scientific Management?)

A. «% ©fge (52=7 (F.W. Taylor)
B. t=7f@ @@ (Henry Fayol)

C. % g% gi=[@ (P. F. Drucker)
D. fe. =g«

(D. McGregor)

E. w3 @ig=ib (R. Likert)

C.4

13.

14.

15.

16.

17.

18.

19.

20.

“Fen " e @3 Bwigzd | (Budget is an
example of plan.)

A. vt (long-term)

B. sgqitw@i™ (middle term)

C. @=ids (single use)

D. il (standing)

E. Ads «if@@g«1 (master)

A= fofaes W Mg wwoe? (Sugar mills of
Bangladesh belong to which corporation?)

A. Rfrizhi (BCIC) B. fqwiasfi (BSMC)

C. Reywewsiaf (BFAIC) D. Rysiew=iah (BSFIC)
E. f[Af&Res (BDBL)

L AT GiEire w5? (Which one is not a
basic principle of management?)

A. #i%=fs% (remuneration)

B. ¥4 (order)

C. [Rta3ea9 (decentralization)

D. 3 {919 (division of work)

E. G+l (initiative)

YIS werel Fece J/ME: (Conceptual skills mean:)
A #ifers @i (social knowledge)

B. sre+fes @@ (political knowledge)

C. fosi@ =9 (thinking ability)

D. =1 #@® @9 (task related knowledge)

E. w4tafes &M (economic knowledge)

EFIE BiRA G otg? @3%<s zeeE: (The Need
Hierarchy Theory of motivation was given by:)
A. =@l (Herzberg)

B. sigiz= It (Abraham Maslow)

C. wsie Wisew (Douglas McGregor)

D. f$%3 & (Victor Vroom)

E. cefes 1. aneeEen® (David C. McClelland)
o= a6+t Fd —— | (Where we are and where
we went to go the bond between the two is-)
A. Fa==1  (direction) B. 799 (leadership)

C. #ifasg=t (planning) D. =@ (controlling)

E. siesie (organization)

o7 & "9 vg" 93 TR wg” 20T d7e=F? (Who
is the pioneer of “Theory X” and “Theory Y”?)
A. IFEN I9E (Abraham Maslow)

B. wei=es Wwiwed| (Douglas McGregor)

C. B3 f& €™ (William G. Ouchi)

D. & wfge. Weeny (J. W. Newstorm)

E. 883 =% (Victor Vroom)

FEATHR FANIE AAS AT CFGa (FIF (AN
AP T 7@? (Which district of Bangladesh is
called the pioneer In cooperative movement?)

A. o<1 (Dhaka) B. 9279 (Rangpur)
C. g==11 (Khulna) D. =16 (Sylhet)
E. g (Comilla)

Answer Keys: 1.C2.D3.B4.C5D6A7.CR8DOI.C
10.B 11.C 12.A 13.C 14D 15.C 16.C 17.A 18.C
19.B 20.E
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01.

02.

03.

04.

05.

06.

08.

09.

10.

UccC

Finance
Which of the following is not a source of short-

term financing? (Rt =G I35 craifn sz s
a7?)

A. Trade credit

C. Retained Earnings

E. Line of Credit

To whom the right shares are issued? (w3 f5=6
R CMEE 27 A 7))

A. Potential shareholders
C. Existing shareholders
E. Elected directors
Which of the following securities has prior on
income and assets? (W = Gf<tRitre =i @
FATRa BT SR FeaR?)

A. Ordinary share B. Debenture

C. Preference share D. Bonus share

E. Bond

Which of the following asset has the highest
liquidity? (-T2 (F1 =+Itqa Siaes 7 @)

A. Share B. Bond C. FDR

D. Inventory E. Treasury bill

By whom the Insurance companies are regulated
in Bangladesh? (@rEimet It @@=l <= =t
frafEs =a?)

A. Insurance Development and Regulatory Authority
B. Bangladesh Securities and Exchange Commission
C. Bangladesh Bank

D. Insurance Academy

E. Microcredit Regulatory Authority

Which is the most important item reported in the
Income Statement that shows the results of
operations during the past year? (R Iw@wm
IGeR TEea aFet wE-gE {mafe < [
I FLH?)

A. Gross profit after tax
C. Net profit after tax
E.A&D

Which of the following is not a cash outflow for a
firm? (= &t Ty Fsttae IR ewg 707)

A. Dividends B. Interest payments

C. Taxes D. Depreciation

E. Utilities

How will the risk premium be if R, < Rf? (R, < Ry

B. Transaction Loan
D. Treasury Bill

B. Sponsor directors
D. Management

B. Net profit before tax
D. Earnings per Share

e it fAfmT e 23?)
A. Positive B. Negative C. Zero
D. One E. Equal

Stock Exchanges of Dhaka and Chittagong were
established respectively in: (51F 932 5549 %3
qe fAafae Ium dfeios 7))

A. 1972 and 1998 B. 1955 and 1994

C. 1954 and 1995 D. 1976 and 1999

E. 1956 and 1996

11.

12,

13.

14.

15.

16.

17.

18.

19.

Which one of the following is an institute under
the Financial Institutions Act, 1993? (tea =0
Sovo HIER e e wikems wdfie 3o
ATEH1?)

A. Sonali Bank Ltd.

B. United Leasing Company Ltd.

C. Exim Bank Ltd.

D. Uttara Bank Ltd.

E.B&C

Which one of the following is not a long-term
financial instrument? (A7 AT wNEwm wifds
wierE w67?)

A. Common Stock
C. Preferred Stock
E. Debenture
Which one of the following institutions is a major
player in the money market? (fRt53 =i &fedi= ot
ST G0 THT FLHAZIF17)

A. Stock Exchange

B. Commercial Bank

C. Development Bank

D. Non-Bank Financial Institution

E. Specialized Bank

Due to diversification of portfolio, the risk :

(cotorifers tafoaptatas o I )

A. 1ncrease to some extent

B. remains the same

C. increase significantly

D. reduces

E. 1s not a affected

A savings account earns 4%. If the saver is in a
28% tax bracket, the after tax rate of return on
savings would be percent. (930 Fw7 fFEe
MR T 8% | I GIEA ALTIAA IHF B4 0% A
39 e 21, O@ AL B -9 WD oAl T

B. Commercial Paper
D. Mortgaged Bond

W —)

A.280 B. 16.72 C.4.0

D. 2.88 E. 1.12

Which of the following is not a feature of a Bond?
(woa (=i Ires 3T 71?)

B. Protective Covenants
D. Residual Claim

A. Indenture Agreement
C. Principal

E. Coupon
Approximately, how many companies are listed
in Dhaka Stock Exchange Ltd. right now? (3919
AT CIEE I SifFFIeSE @i« Ll 4
FE?)

A. 3,000 B. 1,300 C. 300

D. 1,000 E. 2,550

Which one is a hybrid security? (&% *k33
Hfsefit?)

A. Treasury Bill B. Bond

C. Stock D. Repurchage Agreement

E. Preferred Stock

Which annuity requires payment to be made at
the end of each period? (&= 3FF & cram cim
ity IS 71?2)

A. Annuity Due

C. Growing annuity
E. Growing perpetuity

B. Ordinary annuity
D. Perpetuity
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01.

02.

03.

04.

05.

06.

UCccC

Risk of a single asset is usually measured by
which of the following? (Ftsz &= fem 9= I=
=fsaret T4t 77?)

A. Variance B. Standard deviation

C. Coefficient of variation D. Correlation

E. Covariance

Answer Keys: 1.C2.C3 E4E5A6.C8D9.B
10C11.B12B 13.B14.D 15.D 16.D 17.D 18.E
19.B 20.B

Marketing
FTSH YBRT FEIA K IRATR TRt @ 3=
Z4- (As a large-scale retailer, ‘Agora’ of Bangladesh
is called-)
A. TeA6trS @617 (Department store)
B. [gidt la=lt (Multiple store)
C. ©37 @517 (Chain store)
D. 7= *% (Super shop)
E. Fsifa W0 (Super market)
B @F 4P’s @7 =% &? (Who is the father of

4P’s of Marketing?)
A. (729 @@es (Neil Borden)

B. .o @@l (E. J. McCarthy)

C. f9.car. saga= (P. J. Verdoorn)

D. f&ferel @bera (Philip Kotler)

E. w@=feq (7 @19 (Kelvin Lane Keller)

et W «@wa @9a? (Which type of promotion
is ‘Advertising’?)
A. T7&= (Personal)
C. A= (General)
E. &va (Publicity)

e (= IERETesTeE Giiee 5&? (Which one

of the following is the fundamental base of
Marketing?)

A fafsr (Exchange)
C. %42 (Relationship)
E. ®=swma (Production)
fsta aifiFaia < 919 &=B? (Which one is the first

step of Marketing Process?)
A. ceFet o5 we (Capturing customer value)

B. Tl duaew 8¢ ok 9g9iE9 (Understanding

customer needs and wants)
C. fasavi= Qe fediet (Setting advertising budget)

D. fawsw itz =167 (Organizing sales force)
E. #&f2 #fqme (Measuring satisfaction)
AL FaES “REeE Bwizgd? (Which one is the

example of Macro-Environment?)
A. gferarit (Competitors) B. &1z (Customers)

C. #iggf® (Culture)
D. wurzaigear (Middlemen) E. s=etist (Public)

B. t7df@= (Nonpersonal)
D. fet=® (Special)

B. fa@w (Selling)
D. 3rEg (Market)

07

08.

09.

10.

11.

12.

13.

14.

N @ [T 7 A ¢figm? (In which stage
sales reach at a peak level?)

A. #41 T8+ (Product Innovation)

B. 351 @9 (Introduction Stage)

C. &3 %9 (Growth Stage)

D. #e=s1 €4 (Decline Stage)

E. #i<fet %1 (Maturity Stage)

e T TEDL 97 AEES AREeR Soiwe w32

(Which one of the following is not an element of

Macro-Marketing Environment?)
A. sedTIsts #ifate* (Demographic Environment)

B. @=s#td (Customers)

C. agfesis “fata= (Technological Environment)

D. wf{afes 4@ (Economic Environment)

E. siegfes #fata* (Cultural Environment)

e m ifes TamEl oo w3 WA de
e st2? (Which of the following social factor

influences consumer’s buying pattern?)
A. 7iggfe (Culture)

B. swifers xifet (Social Class)

C. Eowggfs (Subculture)

D. fta=i= wa1 (Reference Group)

E. siqa€i6 (Lifestyle)

faee Faon ey It 97 Tots ettt i3 x@?
(Which one of the following creates possession
uftility in Marketing?)

A. sirwifs g5gerrE (Import Trading)

B. 3i9®n (Commerce)

C. @3-faz=a (Buying and Selling)

D. adi 5@ (Export Trading)

E. @74 (Production)

TUIE 8 HPIEH &I g T (SIS STeH @74 Fa0e
T ©itF I3- (Anything tangible and intangible
that has the capacity to satisfy customers’ need is
called-)

A. 391 (Service)

C. viizwi (Demand)
E. 5@ (Satisfaction)
= @6 3% @ FE? (Which one of the

following is a distribution related activity?)
A. & (Purchase)

B. =« €@t (Quality Determination)

C. mre<wa4 (Packaging)

D. wi¥=eg (Financing)

E. @9 (Advertisement)

wieiferes [Feresad &=v? (Which one is the

behavioral segmentation?)
A. siqadis (Lifestyle) B. 5feg (Personality)

C. ™1 (Occupation) D. simifé @€t (Social class)
E. B9=r% (Occasion)
“Sireq At AfAET W @ on? (What type of

product is “Life Insurance Policy”?)
A =19 =<y (Specialty product)

B. A4t 7«1 (Convenience product)
C. tare-tg #e3 (Impulse product)
D. =m@ifee #4471 (Unsought product)
E. @e=i1 #<7 (Staple product)

B. =<1 (Product)
D. st=i9 (Market)
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20.
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wolms GaFTel [F74Ea & “faEe® Sem=? (The

purchasing power of customers is an element of
which of the following environment In
Marketing?)

A. FiE= (Social)

B. qrEiafss (Political)

C. w<ftsifss (Economic)

D. safifes (Demographic)

E. wE=ss (Legal)

ReErita 9 Tt IESIEST A9 @ eI
4itF? (Which medium of Advertisement stays
effective for a long period of time?)

A. #@m~a (Newspaper)

B. sifa<t (Periodical)

C. gvaa (Leaflet)

D. fateidi #=1@ (Billboard)

E. Tfefe*= (television)

I G A SR T o, T, Bi2H, T, BAgeEo! 8
taf¥8; et =3 sigE 2 A4 T9 =3- (I at the
time of purchasing a product is considered in
terms of quality, value, price, style, suitability
and features then if is called-)

A. smifes 73 (Unsought product)

B. fat=r¥ =ity (Specialty product)

C. =if%2 =<y (Shopping goods)

D. =ifs 78%iife (Heavy machineries)

E. Hfagie== 23 (Convenience goods)

e e By stm &FEr 7@? (Which of the
following is not a characteristic of Industrial

Product?)
A. o= ifzat (Derived demand)

B. s+ sifzwi (Inelastic demand)

C. #faa<== vifgml (Fluctuating demand)

D. cerotz Hediifg (Large number of buyers)

E. 9282 ¥$< &7 (Purchase of large unit)

e e R @E w@? (Which of the
following is not a characteristic of Service?)

A w=diet (Intangibility)

B. sigewy (Variability)

C. #iver=iieret (Perishability)

D. w#adisad (Inseparability)

E. wifer wew (Obtain ownership)

e 1 43R It (o MEgEy Agawaies] IR?
(Which of the following products involves low-

price sensitivity of customers?)
A. Hfaqtes @47 (Convenience goods)

B. =fsig #ie1 (Shopping goods)

C. fat=19 <3 (Specialty product)
D. =@ifes #iey (Unsought product)
E. e=e4l @i (Emergency Product)

Answer Keys: 1.D2B3B4D5B6.C7.E&8B9D
10.C 11.B 12.C 13E 14D 15.C 16.D 17.C 18D
19.E 20.C

I YR vwiET 20d@E-20>Y

10.

11.

12,

13.

14.

15.

16.

17

AW S 61 AT : 320
<=

CFI= 40 F6a13 “Frot” Fitww S <ihewt Im?

A Sl 8 wEH B. tzaa 8 fa=@msi

C. i3 8 FifZrey el D. @%@ @

E. w5t ¢ wifgrsy =

e e woe FRw?

A. Twreig B. 97 C. Si¥7 #4 Qe

D. s 92 999 E. *mafa

‘2’ e A == FE?

A. oS B. wipe C. szt

D. 319 E. 9=

‘TrRIRG! PFE SiefbT ITet IMT @Te I’ 9% I RE
BT’ (9 FEF & FefE?

A. 30 ad B. <0 wdl C. I$RLE Tl
D.FeaR@ wdl  E. 3% M

“gifest wiTet BRITE SRIRA We— I 18 71 1 "—
T ‘e’ == @ e IS TER—

A. f5gfs B. afexpfe C. *toief

D. gemm E. sif®etm

“WEIgh’ *H (P AN SAIZRe?

A. FgEm B. woiwE o2 C. 39 =897
D. 595 oe9@q E. 7% s

A. g @[ B. @™ C. sefie

D. sif = E. cafa

‘ST El - (F TRe FE?!

A. 339 S5 B. =g qigwie  C. T34 Wizam

D. @i Fiww e E. twm w@t s
e (1 Tl W (3 SIS >t wow T

A. 39 B. == C. -7l
D. - E. —&

CF I =0 57

A. fas & B. #ifes= C. SRl
D. 53 E. sz

FIad T4 A1 TCACR?

A. 35 B. &w&iditas C. w=Ag<QimE
D. it E. s

"FEFIS T IS (FRIT—

A. TG B. seifzgeel C. ©ud

D. *@et E. S5 g

I G 5T A0S?

A . qma it B. a9 @ I C. qUFd (NS
D. quae wrefts E. 3 @

"ote 4= =R g Rt (R o Gt cadi?

A. AFH B. far C. &b
D. @ifis E. o=
AT “Fae” e WIS JANH?
A. SEfes B. SirEi< C. Ji7mIsF
D. S5\« E. w=s
"y’ *=twa IdSF =% @B
A. =7 B. 39531 C.9&
D. Ty E. =~
. I SRNA 7oA YT q?" U & ITER?
A. sisiqif# B. == C. &<
D. 6494 E. s541g o5



18.

19.

20.

o<t i “~meemeoataitaE” ¢ fE &0 oy
T TG FS AT ]

A. Yoo HE B. 55®3 HAIA C. 598 HI=
D. 359% A= E. ssov A
‘et T’ IA0S @RE—-

A. JEIMITE (911 B. (om@m 991 C. A== <41

D. zf%s® T E. wze< e

“o1 i FIBH *Md? iR e R - e &
TA?

A. TIF AG B.deaAwE C. 99 A

D. ¥od qr5 E. 52 g

Answer Keys: 1LA2E3E4DS5C6.B 7.CRE9D I10.E

11L.D 12E13.C 14D 15.A16.C 17.A 18.D 19.E 20.D
ENGLISH

Read the following passage and answer questions 1-5:
Many young people know that conservation 1s necessary.
Boy scouts in many countries study man and nature. These
‘conservation volunteers® spend their spare time planting
trees, building bridges, and so on. Some girls in a town in
United States cleaned the banks of their niver, and a
group of boys 1n a village in Bangladesh mended a
wooden bridge on a canal and cleaned the canal of debris.
Actors; singers and writers in many countries have
spoken about conservation. The popular English rock
band, the Beatles and the singer Cliff Richard, have made
records on conservation. The money from the sale of the
records has helped conserve wild animals.

1.

UuccC

Choose the appropriate title for the passage above:
A. Saving Man and Nature

B. Man and Animals

C. Conservation Volunteers

D. Cleaning River Banks and Canals

E. Singers. Writers and Actors

What do Boy Scouts pursue?

A. They look after animals

B. They study man and nature

C. They mend bridges on canals

D. They plant trees

E. They clear river banks.

What is common between the girls in United
States and the boys in Bangladesh?

A. They live in two different countries

B. They work at conservation full time

C. They work as cleaning experts

D. They do conservation work to pass exams

E. They do voluntary work

What did the Beatles and Chiff Richard achieve?
A. They made records

B. They popularized their genre

C. They conserved nature and wild animals

D. They helped conserve wild animals

E. They made a lot of money

‘Spare time’ means
A. Make time

C. Extra time

E. Too much time

Find the correct sentence (questions 6-7)
A. She had faith and hopes for the future

B. She had faith and hopes in the future.

C. She had faith and hopes in future

D. She had faith in and hopes for the future.
E. She had faith for and hopes in future.

B. Siesta time
D. Extended time

7.

A. She was interested both in plant and animals.

B. She was interested in both plants and animals.

C. She was interested both in plants but also in animals.
D. She was interesting 1n both plants and animals

E. She was interested 1n plants, animals, both.

Select the pair that best expresses a relationship similar
fo that expressed in the pair FISH : SCALES

A.plane : wings  B. cat: claws C. bird : feathers
D. snake : fangs  E. song : notes

Fill in the blanks with appropriate words (questions 9-12):

9.

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.
20.

1.

Let your — be your guide.

A. information B. conscience  C. data

D. hands E. legs

We were friends in that strange country.
A. among B. upon C. looking
D. between E. into

— all his attempts to solve the problem, he failed.
A. After B. Because C. Before
D. Despite E. During

My dog is smarter than —

A. their B. theirs C. your

D. her E. we

"He hardly works’. In this statement "hardly’
means:

A. very hard B. rather

D. rarely E. remarkably
Find the antonym for the word "Infatuation’:
A. Apathy B. Fascination C. Love

D. Interest E. Likeness

Which of the following word is spelt correctly?
A. Restaurant B. Restaurent C. Resturent

C. perhaps

D. Resorent E. Restourent

Find the synonym of the word ‘Collapse’:
A. Miracle B. Wonder C. Rise
D. Debacle E. Lapse

Choose the correct prepositions (questions 17-19)

He died — illness.

A.of B. on C. by D.with E.in
He lives — his sister’s money

A. with B. for C. on D.from E.of
We were surprised — his failure.

A. for B. about C. at D.of E.on
What does the word "Obese’ mean?

A. Fat B. Slim C. Healthy
D. Emaciated E. Serious

Answer Keys: 1.C2B3E4DS5C6D7.B8.CY9B 10.A
1I1.DI2B 13D 14 A 15.A16.D 17.A18.C19.C 20.A

ACCOUNTING
ftmr ol 2fSo=ET IEmen wifdfs afeswa w9
(BFRS) fad@e Fw@? [Which of the following

institutions determines Bangladesh Financial
Reporting Standards (BFRS)]?
A.ICMAB B. BSEC

D. BIBM E.ICAB

a6 @i ey o9 o EwmE T @)
TPAITS TTH R oas 99 | IBAFS 9% RS T4
Z4: (A company distributed free shares among the

existing shareholders at 5:1 ratio. This event will be
termed as issue of:)

A. 130 ¢ (Right share)

B. @« 1949 (Bonus share)

C. weifgsa (g (Preference share)
D. 499 ¢4 (Ordinary share)

E. Tmire@ c<iw@ (Founder’s share)

C. BMA
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yal SEERT Sifatd PQS =i ©¢ 000 BIFIF Fiferi=t
TG AW FCT | WCERT WA TEAF 2,000 BIFF Ao
Rfaamt 3@ 992 @AW U, 000 BIFE N6 IAITT SE«
FE | I 0dCH BT Sifar FifE=ei= TF 80,000 GIF
T, ST W FITH FieFT Craiers bIFR “Hwt F5
zga? (At October 1, PQS Company reported

owner’s equity of Tk. 35,000. During October, the
owner made additional investments of Tk. 2,000
and the company earned net income of Tk. 6,000. If
owner’s equity at October 31 totals Tk. 40,000,

what amount of owner drawings were made during
the month?)
A. Bt o (Tk. 0)

C. oI: 8_ooo (Tk. 4,000)
E. B1: 9,000 (Tk. 7,000)
2003 A YA FAIR TFW 23,000 HIFR THANS e
T | TEATST FHYED Yo,000 B!, NFA=F ST ¢
WMW@?WW Yo,000 GIFt | ©F ITT
T TR Y St J@es w1en E&Ee o &=
o¢,000 BIFl | FFFAET *HSrS WIHA I FME OF
(& e #e 3t %1% 2@- (On July 1, 2002, Masud
sells equipment for Tk. 22,000. The equipment
originally cost Tk. 60,000, had an estimated 5-year
life and an expected salvage value of Tk. 10,000. The
accumulated depreciation account had a balance of
Tk. 35,000 on January 1, 2002, using the straight-line
method. The gain or loss on disposal is—)

A. 9% v, 000 B9 (Tk. 3,000 gain.)

B. #® 3,000 519 (Tk. 2,000 gain.)

C. =S 9,000 Bt (Tk. 3,000 loss.)

D. ®f$ 3,000 B3t (Tk. 2,000 loss.)

E. #® ¢,000 519 (Tk. 5,000 gain)

AT TOCHR COIFT 9o e I=ua |0 4w [ews
T4 ¥@, 00,000 BIFT WAL FFS =479 I77 @o,00,000
DIt | JWEE SHCS @I CIE (MR A T
TYGHFCH voo,000 BIF 8 Q00,000 BIF | ©F IREFF
(miE W¥%4- (Nahar Hardware Store had net
credit sales of Tk. 6,500,000 and cost of goods sold
of Tk. 5,00,000 for the year. The Accounts
Receivable balances at the beginning and end of the
year were Tk. 600,000 and Tk. 700,000,
respectively. The receivables turnover was-)

A. 9.9 99 (7.7 times.) B. 0.t 91 (10.8 times.)
C. 5999 (9.3 imes.) D. o 3@ (10 times)

E. >2 914 (12 imes)

ST RIS 7 OIFE (@ o7 W le T3 T, of =21

Zd— (The information provided in the notes that

accompany financial statements is required
because of the-)

A. FIIE-ITeR &1 (cost principle.)

B. sicfei== difeq =5 (full disclosure principle.)

C. fimeed [if$a &0 (matching principle.)

D. =¥ %TFE +lif e & (revenue recognition principle.)
E. T=[teTo[q &+ (conservatism constraints)

A o=t Zee Reaitas © i (Which one of the

following is the objective of Accounting?)
A. (TG EIIR= (Classification of transactions)

B. 934 TS YOI (To enhance business)

C. 7% ALFIOEE &1 (To reduce expenses)

D. T4 jﬁﬁ &1 (To increase profit)

E. Prae dzrm fifire w7 @39z 91 (To provide

information for decision making)

B. B1: w000 (Tk. 3,000)
D. BI: ¢,000 (Tk. 5,000)

8.

10.

11.

ABC @&r=oiiff XYZ &P (IF Yoo BIFE FRaw

T @9 FCAR | ABC @r=iifam o i 91 gsi[

*et3? (ABC Company purchases Tk. 600 of equipment

from XYZ Company for cash. What would be the effect

on the components of the basic accounting equation of

ABC Company?)

A. 7™ @2 vl ?ﬂ% (an increase in assets & liabilities)

B. 77w @92 7.7 (a decrease in assets liabilities)

C. G 3™Am (1 “f72$ 263 91 (no change in total assets.)

D. Wita (M #7994 Z& 71 (no change in liabilities)

E. 77 7{\% ¢ MITEMA (an increase in assets and a
decrease in liabilities.)

AT F, AR NLAWIE AIAET G2od AT | S

SIAIE, 098-S AN Sitra RiAwriFs Jyta #ifamm
f&= T ¢o,000 BiFl 8 Yo,000 BIF | TF TARFICR
TRIIR AN GRS TIACET TR (AT pfeTs <3 |

qQ % o RAffweiys gy «ffmt &= 3,00,000

ot | wemife pie s ot Rfvceies yeyes
BT 0% T I 41 FA1 T | 008 Fita wdc Brwa

STt A= TAY4ER 9@ 97 (Sayem and Sabrina

are the two partners of a partnership business. On 1st
January 2014, the amounts of their invested capital
were Tk. 50,000 and Tk. 60,000 respectively. In the
middle of the year, Selim entered into the business
and signed the partnership contract by investing Tk.
1,00,000 as capital. According to the partnership contract,
the rate of interest on the invested capital was 10%. What
will be the amount of interest on capital of Selim at
31st December 20147)

A_T1: 9,000 (Tk. 3,000) B. Tl 8,000 (Tk. 4,000)

C. BI: ¢,000 (Tk. 5,000) D. B1: So,000 (Tk. 10,000)

E. B1: 3,000 (Tk. 2,000)

TWIEE ¥ COIET RN Tgwitiie (59 3¢,000 BIF |
T THAFFIE &9 Yo, 000 BIF, T (TS 3,000 GIF 8
WEATTZT T ¢,000 BIF | REARFE CRF SRR A7
7t T So,000 BIFR 247 @8 TS Witz | Aarmemrh
I e Afawid T3 (Leatherex Shoe Store has a

beginning merchandise inventory of Tk. 15,000.
During the period, purchases were Tk. 60,000;
purchase returns, Tk. 2,000; and freight-in Tk. 5,000.
A physical count of inventory at the end of the period
revealed that Tk. 10,000 was still on hand. The cost of
goods available for sale was:)

A. 51F 93,000 (Tk. 72,000) B. B Y 000 (Tk. 68,000)
C. 519t 9,000 (Tk. 78,000) D. 519 2,000 (Tk. 82,000)
E. 019 50,000 (Tk. 90.000)

aF% 6% T FoTer IRF FI+ Ff¥e ¢ AR
TR 88v bIFE frg Toa® [T (5F0 8v8 BTN
s <03 | IRF FHEw [Fdw o Hew e AGe?
(If a check correctly written and paid by the bank for
Tk. 448 is incorrectly recorded on the company’s books

for Tk. 484, the appropriate treatment on the bank
reconciliation would be to:)

A. T (ERF A 9y B @5t 2491 1 (add Tk. 36 to the
bank’s balance)

B. 7571 (&a7 A Wy G119 2941 | (add Tk. 36 to the
book’s balance)

C. @ (&R (A= 0y Bl [ 341 | (deduct Tk. 36
from the bank’s balance)

D. 599 (&9 (AT 88 bt ezl <41 | (deduct Tk. 448
from the book’s balance)

E. 7999 (57 (AT® b8 bist sl <411 (deduct Tk. 84
from the book’s balance)
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13.

14.

15.

16.

17.
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G35 QB W bo,co00 B! FATa O w1 391 | BT
WS IRME /W ¢,000 BIF! SN T T | NOF WiEA
flices o <3t WA S (1 T8 99R 9 J1EW 496 19
9,000 BIF | TFELN WS A, R 37 & a3 w9
T (A company purchased land for Tk.80,000 cash.

Real estate brokers’ commission was Tk 5,000 and
Tk. 7,000 was spent for demolishing an old building

on the land before construction of a new building
could start. Under the cost principle, the cost of land
would be recorded:)

A. B! 9,000 (Tk. 87,000)
C. BI: »¢,000 (Tk. 85,000)

E. BI: 3,00,000 (Tk. 1,00,000)
e @R emma iEEEt 19 geife FaE T2
(Which of the following transactions would not affect
owners’ equity?)

A. Tafars iriyq <54 feif*iem@ad (Recording cost of goods sold)
B. =15 fa@sn foaaead (Recording a cash sale)

C. 4tz Resn Afaaead (Recording a sale on account)

D. 3o/t @ fAf9amesd (Recording utilities expense)

E. 7tmsgmae &¥ (Rurchasing inventory for cash)
A TGy Awfers g Faasa @Er=Hifas o
" fR 4F? (Which of the following accounts

appears in the ledger of a merchandising company
that uses a perpetual inventory system?)

A. &7 (Purchase)

B. faf@s =iteia 953 (Cost of goods sold)

C. &% #ifq2% (Freight-in)

D. &¥ 918t (Purchase discount)

E. dafes wgm W= (Beginning inventory)

&N IS/ w4 I FEIFE FoUg GF 0 Feaqia
GER A2 47 THE @R wgares &E?  (Which

concept or convention allows the accountant to
expense a pen-stand with a ten years life?)

A. 99 91991 (Materiality)

B. veie gf9el (Going concern)

C. fexpizarsivst (Reliability)

D. wifds Agt (Business Entity)

E. &aMif® (Disclosure)

e e g@gs wre™m 5" 79?7 (Which one of the

following is not a capital expenditure?)

A. "HR9a & (Purchase of furniture)

B. ©fil @¥ (Purchase of land)

C. (#9126 =& 219 (Copyright)

D. 3@l w==iféq a3 (Depreciation of fixed assets)

E. (567 =i @ (Purchase of motor vehicle)

o it saifitas e ¥3t 4te? (Which of the

following errors can he detected by trial balance?)

A. (@ @7 SIEAWIPS 41 27 (A transaction that is
not journalized)

B. g3t wiawi witdet 123[ 4fSmie o 7a 6z (A
journal entry that is posted twice)

C. =tae ferfeiamaard ’[%"Eﬁf ©4 (Offsetting errors are
made in recording the transaction)

D. == gt g4 (A transposition error)

E. (=147 9= (Error of commission)

e e o P Resaes wfss @=? (Which of

the following is the correct sequence of steps In

the recording process?)

A. ZFiEsead, E@viead, faead (Posting,
journalizing, analyzing)

B. witawissel, faee=e, g=ressad (Journalizing,
analyzing, posting)

B. Bi: w0000 (Tk. 80,000)
D. 5i: 53,000 (Tk. 92,000)

19.

20.

C. Reemet, gieaq4, wi@wiea (Analyzing, posting,
journalizing)

D. R, siavi<ad, gesaa4 (Analyzing,
journalizing, posting)

E. siawiad, gmeaqd, [remd (Journalizing,
posting, analyzing)

e o 77 i s Tl e s

9 owgd? (Which of the following is less

important as a measure of short-term liguidity?)

A. e 31 w74 H (Quick or Acid Test ratio)

B. ve1f® wqii® (Current ratio)

C. wiE w9g9® (Debt ratio)

D. veife S (At@ 791w &1z (Cash flow from

operating activities)

E. (AR SEe9d 999 (Receivable turnover ratio)

TN ATSBR TerAifrs <= 6T TgW dooo «F,

AP TG boo GFF G fAFT wroo @TT | TM

BeAWe 979 Wo,co00 BIFt TH, T TeAiWe A O F

#f®s 371 5?7 (In an organization, opening stock of

goods produced was 1000 units, closing stock was 800

units and sales was 6,200 units. If the cost of

production was Tk. 30,000 what will be the per unit
cost of production?)

A.T1: 8 (Tk. 4) B. Bi: ¢ (Tk. 5)
D.%1: 9 (Tk. 7) E. 5l v (Tk. 8)
Answer Kevs: 1.E2B3.B4B 5D 6B 7.ER.C9.C 10.C
11.B12D13E 14B 15.A16D17.D 18D 19.C 20B

PRINCIPLES OF BUSINESS

MANAGEMENT

(Which one is the best sequence of the process of
management?)

A. RIEA-REGF-("og-FTEe  (Planning-Organizing-
Leading-Controlling)

B. sife@gi-fagd-Aeiea-(7eq (Planning-Controlling-
Organizing-Leading)

C. +5-(Tog-7ia-f98 (Planning-Leading-
Organizing-Controlling)

D. fgd-seea-oReg-Teg (Controlling-Organizing -
Planning-I eading)

E. oo fage-(eg-siies  (Organizing-Controlling-
Leading-Planning)

G0 fSHIR 7AW oY=l 7==1% z=1: (The most

important asset of an organization is:)

A. =4 (Money) B. =§iiifs (Machinery)

C. &M (Land) D. w%wel (Efficiency)

E. =9 7= (Human Resources)

13res fFfRde @i 4w fivg e Bfe® #fos a7

(Which of the following statements is incorrect in the
context of a private limited company?

A. g @i ciae ea $aR 0 [99 2| 257 S99

WRSIA (72 (There is no need to issue prospectus for
selling its shares)

B. 9 @i (<19 TBIEE CF0d (3 19l 7 (712 (There is
no restriction on the transferability of its shares)

C. 9 @iifFa fomeem s Fdws 99 6 sam
(19 qqIIgFel (12 (There is no compulsion for its
accounts to be audited by an external auditor)

D. 5 7'ew Mo TUEE (@i sew 91 1w (It
can be formed by a minimum of two members)

E. @ @rtfva “Afacmeme w<oe azr[ agaessl @2 (There is

no obligation on its directors for retirement)

C. 51: v (Tk. 6)
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1L 8 - IIAER CFCa AR5 TR 4T

TR TG 8 | (The maximum number of
partners in a banking and a non-banking business are
— and — respectively.)
A. do, 3¢ (10, 15)

C. %o, 20 (10, 20)

E. 20, ¢o (20, 50)
FIZFAED & W@ 4RSS TS (1 Area? (At
which levels of management conceptual skills are
mostly required?)

A. {78 S9 (First line)

C. 39 @49 (Mid level)

E. E%-5141 %9 (Upper-mid level)
a3 e FRnge @A v [ew swgsd
wierer €1: (The most important document of a public
limited company is:)

A. R9q9 «q (Prospectus)

B. “far=a FEgEt (Articles of Association)

C. if¥® f9a@fl (Annual Report)

D. sifste<es (Memorandum of Association)

E. ¥<Ed “fﬁ'ﬂ% “d (Centificated of Commencement)

TN sgwAaE 29al ©f6s? (In consideration of the

owner’s liability, which of the following businesses
should be the least preferred?)

A. 93 Tiferid= S@a9 (Sole Proprietorship)

B. atefe R AICEa &= SeHlivi€l <9919 (Partnership for a
banking business)

C. 991 GER &) SLKmIdl Ials (Partnership for
a non-banking business)

D. @fgret ffee @i (Private limited Company)
E. #fes fafigse ¢@==ifs (Public limited company)

Rftas et dwren 23 @7 (50 | (The statutory

meeting is applicable to a . )
A. @33 Tifesidia $19419 (Sole proprietorship business)

B. w-aniefe I<tId & SeAwidl S99 (Partnership for
a non-banking business)

C. ayiefere Traoiitas &= Selimidl a9 (Partnership for a
banking business)

D. gigteb f@tee (=i« (Private limited company)

E. #irafers 16w @i==iif% (Public limited company)

A A YT, Sov8 FIAH FIF I Ao

GFEH FARH] AASA (A0 AT FINGF IS *SIt g3

FAS AA? (According to the Cooperative Society

Ordinance, 1984, what percentage of the total capital
of the society can a member hold?)
C.>¢% (15%)

A. ¢% (5%)  B.%% (10%)
D.20% (20%) E. 2% (25%)
fotes etw =E=f&HE 41At? (Which of the following is a

clause of the Memorandum of Association?)

A. CHERTEFSRTA WR-TIRg (Liability of the shareholders)
B. “faseeaa et (Powers of the directors)

C. C*RIAtRIBIRtaa 7Sl (Meetings of the shareholders)
D. f£5119 8 W€ (Accounts and audit)

E. =11 2%+ (Distribution of profits)

«f¥E F1eF &7 -97 TfEFE €37 2= : (The ownership
pattern of Exim Bank Ltd. is:)

A #1Zreb FRes (@M= (Private Limited company)
B. #irafers e e @i==iifs (Public limited company)
C. 737 FifesEt (State Owned)

D. w=mifd @19 (Partnership)

E. siwamm #Affe (Cooperative Society)

B. 3¢, 20 (15, 20)
D. 20, 9o (20, 30)

B. ©% &4 (Top level)
D. 59 24 (All levels)

12.

13.

14.

15.

16.

17.

18.

19.

20.

Ffeorm Ry IR (T TH e [7g® IR 9=
=51 T9 : (Choosing the best course of action from

among different alternatives is called:)
A. W=t (Direction)
B. =@ @z (Decision making)
C. "‘lﬂ‘[‘ﬂ’ﬁ?ﬁs fti=[1 (Consultative direction)
D. Stw*3 (Objective)
E. <if® €@l (Policy formulation)
Eeta fB-Beiaie ©tg% @99S &7 (Who is the proponent of
two-factor theory of motivation?)
A THE (Maslow) B. =E@tst
D. 9951 (Thomas)

(Hertzberg)

C. wiwwe (McGregor)

E. (z7f@ w59« (Henri Fayol)
IR IR AAReEE We-fRore Rew FE 7@ @ Wb?
(Which one acts as the guideline of partnership business?)
A. A=iifs= e (Mutual Trust)

B. pfe=i@ (Contract)

C. wwitaq @tsiter (Qualification of partners)
D. =% (Good relations)

E. si@faei (Sincerity)

Tzt wwot I97e RIA: (Technical skills mean:)
A. 31 7@ W @I+ (Task related knowledge)

B. &< &9 (Social knowledge)

C. 5%« ==o1 (Thinking ability)

D. atetafes = (A Political knowledge)

E. wifé% @i (Financial knowledge)

(T TAST SABEER T FHATF R T AT S
Z4? (Which one of the following requires at least 2

directors?)

A. 3@ #f4fe (Cooperative society)

B. we¥iwifa @919 (Partnership business)

C. &f2teb fa. (@i« (Private Ltd company)

D. #ifafers fo1. @=iif4 (Public Ltd company)

E. «ssuifsei=t 619414 (Sole proprietorship business)
FUTGESMTE T ((ATF T IS (FF [IAE WgS
ToIzaPit? (Which of the following organization is suitable
for eliminating the exploitation by middlemen?)

A. ¢=Tiferai= (Sole proprietorship)

B. we=iwiR (Partnership)

C. &3t fa1. @i (Private Ltd company)

D. #ii7fers fa1. @i (Public Ltd company)

E. st sifafs (Cooperative society)

FATHLH A5 I Atsw (F116? (Which one is the
oldest form of business organization?)

A. @1 (Sole proprietorship)

B. ©ie*imi{ (Partnership)

C. @1 =g @=iif (Joint Stock Company)

D. s=aty #Afafe (Cooperative society)

E. 939 19419 (State owned enterprises)

AR IIAITT TS (F 329 F@? (Who bears the losses

of the state owned enterprises?)
A. g9 (Managers) B. 399 (Government)

C. #ifasEdsid (Directors) D. d=F#i< (Clients)
E. sF=ed (Officers)

2 Roaem e N ToE 96 (Sie! W GF6
cereta W6 7t #97 @ F? (In which of the

following models of e-business a consumer directly
sells goods to another consumer?)

A. C2B B. C2C
D. B2C E. B2G

C. B2B

Answer Keys: 1.A2E3B4.C5B 6D 7.A8E9.D 10.A

11.B12B 13.B 14B 15.A 16.C17.E18.A19B 20.B
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FINANCE

How do the interest rate and bond prices change?
(7 ZI7 8 ST JeE WE e *ﬁ'ﬂ%@‘{ﬂ?)

A. in the same direction B. in opposite directions
C. without any relationship with each other

D. positively

E. sometimes is the same and sometimes in the negative
direction

In which year the Financial Institutions Act was
passed? (T AfTBIA w2 TS A7 =197 T30 @A?)

A 1994 B.1993 C.1991 D.2002 E.2010
Which institution issues treasury bill? ((F15 feoiT
FER @eie &9 7ee?)

A. central bank B. Ministry of Finance

C. listed company  D. private commercial banks

E. specialized financial institutions

What interest rate doubles Tk. 500 in 9 years
according to Rule 72? (92-{f¥ S=@i@l ¢oo 5=t & 373
fHe Tt Tm TwRiE T =St 7o 7d?)

A. 8% B.9% C.10% D.11% E.12%

The market where new securities are bought and sold for

the first time is called market. ((3 I I94 IR
[ Qe &F/Rea 39 28 ) [0 — J1e19)

A. primary B. secondary  C. tertiary

D. capital E. treasury

Which one is not the source of long-term financing?
(A FEEM SLAFIAR B8 717?)

A. debenture B.share C. bond

D. commercial paper E. treasury bill

Which investment is the most risky? (= R&fscamst
AL QA o)

A. bank deposit B. bond purchase

C. purchase of preference share

D. purchase of government bond
E. purchase of ordinary share

What does BSEC stand for? (BSEC I=ts Ft (I131a7?)

A. Securities and Exchange Commission

B. Bangladesh Security and Exchange Commission
C. Bangladesh Securities and Exchange Commission
D. Bangladesh Securities and Exchanges Commission
E. Bangladesh Security and Exchanges Commission

Which one is the non-discounted capital budgeting
technique? (FF4= &L IFRAZ 77 &AM (F=67)
A. payback period B. net present value

C. internal rate of return D. capital rationing

E. profitability index

Which one should be greater that the cost of capital to
accept a proposal for investment? (Rfstarestz &=
O Iy AT FAO A FOR TH [AYET I
et (@ g TW?)

A. ARR B. NPV C.IRR

D. payback period E. profitability index

Which one is the least liquid current asset of a
company? ((F=Aa FIHCE T3 ST F=9W (JFI167)

A. cash B. bank balance C. prepaid expenses

D. A/C receivables E. inventory

Which of the following components of capital has the
highest cost? (Rt Tayw BeitwiwefaR b7 399

A @D
A. ordinary equity B. preferred share C. debenture
D. retained earnings E. profit

Which of the following is not unsecured short-term
credit? (M3 (0 WAFs Fgcaam &< 7172)
A line of credit B. revolving credit

C. transaction loan D. floating lien
E. bank loan

14. Which type of annuity requires payment of installment
money at the beginning of each installment period?
((FN 4T IR0 wd «fFeies afe cme
SFTS T IR [P s F?)

A. ordinary annuity B. annuity due
C. annuity compounded D. effective annuity
E. perpetuity

15. Which type of risk is avoidable through proper
diversification? (I W@ IO &N 7=
3+ afoa arem e3?)

A. portfolio risk B. systematic risk
C. unsystematic risk D. total risk
E. financial risk

16. What does the discounting process mean? (Fe518{51

i wid F17)

A. awarding concessions

B. taking less money

C. ignoring importance

D. converting future value into present value
E. converting present value into future value

17. Which one is considered the ideal current ratio?
(Feaz A e vafe weirs & Rwfte?)

A 10% B.15% C.1:1 D.2:1 E.3:1
18. What does the BSEC regulate? (BSEC f& g 3a?)

A. bond market B. share market C. money market
D. secured exchange E. financial market

19. Which one is not an external source of financing?
(=TT wefrarz A= B 71?)
A. retained earnings B. share capital C. bank loan
D. trade credit E. share premium

20. To whom the bonus shares are distributed? ((IHH

CTI TR W4T I5H <41 77?)

A. existing shareholders B. previous shareholders
C. new shareholders D. directors
E. employees
Answer Keys: 1B2B3.A4A5A6D7E8C9A10.C
11.LEI2.A 13.D 14.B 15.C 16.D17.D 18B 19.A 20.A

MARKETING

TSI STICH &0 9F I GFIEF TMRFT G5 4157
FA17 Af SIS 3271 27 : (The process of selecting one or
more market segments to enter is called:)

A. TCET Bieelibe (market targeting)

B. Wits6 S (market dominance)

C. Iit306 716 (market research)

D. w6 “iferif=e (market positioning)

E. M<6 o=+ (market segmentation)

fem o 932 =T JreE 8 WISeS Witw 99
agwer (oot T siffs z@? (Which of the following

consists of a group of customers who share a similar
set of needs and wants?)

A. Taw faoida 598l (vertical marketing system)
B. e 9t®b (market basket)

C. et =139 (market share)

D. <r&d (it (market segments)

E. 9E9 ¥9 (market level)

FEREoFacid T Srw* f$? (What is the main
objective of marketing?)

A TF%] € F41 (to earn profit)

B. (@Fe1= Bifzwt 2@ <41 (to satisfy customer demand)

C. =47 T4w« 41 (to produce product)

D. 47 6 S9! (to distribute product)

E. (ereta 7 {49 5@ Y1 e =41 (to earn profit by
ensuring customer satisfaction)
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e T Tret FRerER Teifgs Fefesards Sohmia?

(Which of the following is mnot an element of
psychographic segmentation?)
A =1 (social class) B. Siqagi@l (lifestyle)

C. ¢5*11 (occupation) D. 1&g (personality)

E. 99% (interest)
e o coret T Fefesars fofe w17 (Which

of the following is not a basis for consumer market
segmentation?)

A. ceitstifers (geographic)

B. #fapt=e fagw@ (operational)

C. sl f99% (demographic)

D. s=%ifg< (psychographic)

E. wivaf< (behavioral)

qF6 FFE o FF A TeIm IRRT I+
©4g&? (When is the production concept appropriate

for a company to use?)
A. 39 A4115 wwifo® (If the product is unsought)

B. 949 4RRQIES <4799 B3« @™ (When continuous
product improvements are needed).

C. I4F 2970 Tofdd @2 AN FACS SRAMIeTe!
= s (When the product cost is too high and
improved productivity is needed to bring it down)

D. 9 A9 A999IR (4TS (@t (When the supply
of product exceeds demand).

E. T4+ i impulse #43 (If the product is an impulse good).

T @0 SrmiEE @0 MBSt Tt avd
A3 ©f fq€="d F0a (79 SitF I3 (When an importing

country sets limits on the amount of goods it will
accept of a certain product category it is called a:)

A. 361 (quota) B. 941 (barrier) C. % (tariff)
D. S9tA14 (embargo) E. 919 (bar)
FERSTSFICIT TONYFF TSI (F1=6? (Which one is

the latest concept of marketing?)
A. ©=AM= T4 (production concept)

B. 77 ¥99% (product concept)

C. fa@g 794 (selling concept)

D. SiEaeresgd T9qW (marketing concept)

E. sifvs qferiqeiesae 94 (holistic marketing concept)
SATHETSFACTS TITCH (T GRS 718 T2 23?
(Which type of utility is created by warehousing?)

A. Z1=5Te Togalst (place utility)

B. sr@sie S4tate (time utility)

C. catsts BTt (service utility)

D. =gsie T=itatst (possession utility)

E. 95 oiratst (form utility)

5 (ATF WA (57 oF e e & aea St
'-jﬁ F9l T? (Which type of utility is created by
producing furniture from wood?)

A. st BT (form utility)

B. Fwasts THte (time utility)

C. Z17sTs S=itatst (place utility)

D. g5 ©#tatst (possession utility)

E. oraris 8sigsl (service utility)

TSHEA (19 433 43?7 (What type of product are
magazines?)

A =S A (impulse goods)

B. Sie*l1s 947 (staple goods)

C. (o€l #97 (consumer goods)

D. faf*2 A7 (specialty goods)

E. 31341 447 (convenience goods)

e (el TremEeTace wREE Frer? (Which ones of
the following is a facilitating function of marketing?)

A. (ISRl (packaging)

B. gwiwEesa¢ (warehousing)

13.

14.

15.

16.

17.

18.

19.

20.

C. i kw8 @dia<ad (standardizing and grading)
D. f<@ (selling)

E. #ifeaz= (transporting)

(T AT (@ [REaedt 8 G JTrE I9EE I
TY FRAET TG A [Twa T2 @ o 3@ (The
promotional strategy that calls for using the sales
force and trade promotion to move the product

through channels is called:)
A. g#ete (@104 (place strategy)

B. #* =¥ (push strategy)
C. #=1 &= (pull strategy)
D. 3t &= (blocking strategy)

E. sf¥e (s (integrated strategy)

55.5¢ ¥ 4373 =17 (What type of pricing is 99.95?)
A. T I (promotional pricing)

B. w=@ifgs I (psychological pricing)

C. (FsItrG6 T51 (segment pricing)

D. W&-19 3= (markup pricing)

E. ¢of @ =1 (decimal pricing)

fiem o e st @rED e
AFETAT (FoR o e Tt S JeiRe T
& HIpizee  F1EFq? (Which of the following

marketing communications tool is most effective at
influencing customers at the conviction stage of buyer
readiness?)

A. fREeto= (advertising)

B. #f=(T (publicity)

C. (&9 &9« (sales promotion)

D. =ife= @@ (personal selling)

E. 3to6%9 «w @@AREEE (events and experiences)
I I o A7 AfSEAR e (6w o, T 8
CIMETT e (AT ©F® Tq, ik (72 =4 Ia1 =4 (If

a new product is better than the same product of
competitive firms in terms of quality, features, and
value in use then it is called:)

A. ©F® #9j (quality product)

B. ©&siy B4 #4] (unique superior product)

C. #f&™% =3 (positioned product)

D. #td 51 ¥4l 7443 (pre-launched product)

E. feifsmams <141 (premium product)

CFIRIT CATF #17 AT AT fewnian oz qeat ©fos? (Where
should product or service design start?)

A. 2 fa©i5l (A3 (from the marketing department)

B. WtFB2 AAfaeg«l (7@ (from marketing planning)

C. 703 (SIS B3 (AES (from the product development team)
D. (@91 (4TF (from the customers)

E. «ita%ell &f$® (AT (from the research firms)

frm e 3% 29 ¢ SIS T I ORI
AT A <9 F I =W (What are businesses or

products with low market growth rates and high
relative market shares called?)

A. 7513 (Stars) B. <1 918 (Cash Cows)
C. (31059 < (Question Marks) D. @515 (Dogs)

E. F31* {47967 (Cash Rebates)

*TATR G BTH3 (I TR 9T (e &35 s Aes?

(At what stage in the product lifecycle does the sales
growth start to slowdown?)

A. #43 T3 (product development)

B. 591 (introduction) C. QFIFE (growth)

D. s<fst (maturity) E. %<+ (decline)

A i IrEETeead Rt Setiw =7? (Which one of

the following is not the element of marketing mix?)

A. 3+ (place) B. T (people) C. =7 (product)
D. &5 (promotion) E. 377 (price)

Answer Kevs: 1.A2D3E4C5B6C7.A8E9B 10.A

11.LA12.C13B 14B 15D 16.B17.D 18B 19.D 20.B 31



I RTveTs 2038 -205¢ IR
pr s s BRI

T 3 S (ﬁﬂ-c) "I : 330 C. 99 + @39 = S D. &fs +=ieiae = efeyisia=
e E. 3% + o6 = 35f@
1. "SRIGR “ITe T IR 44 SIS 70 (I At 17. 2038 A=A & AfaF-dFrmE =ro7g 4 gr=?
A. IREmI B. st@i= C. Ag%re A qweefa B R C. Fqeeia
2. THO5R FIID AT (B8 ? 18. ‘GIR SR’ IR “GIR 41 IS 5 I ZER?
A 93 B. €35 C. 49 A. faefa g B. wifar i+ C. &iqwTa izl
D. «3fae E. g3ifeyg D. g sw  E. amify g1
3. FRET o2 19. GG ¢t It *1=1?
A. B. W@t C. g g-;ﬁ‘_ﬁm gwﬁj C. iR
D. A& E. 7reie O -
4, I TR @A SR SCEADS 202 20, I e SoIGR W A R
A B wwaowmd  C.ud or@ A. 3509 B. box C. Sbab
D. Sbay E. b9
D. 57 e E. g 21, ‘<R R AR o )
5. 'IF ORF TFACR I0T FIUATIR F14F (F? N B swefism  C. Swael
A. EAINSIA B. €<=t vt C. JF1E a1 D. Set *feret E. wga5e!
D. F1&! wewret HAANE. *TH3R A=A 22, ‘Srcerd Tl 79gt wEifeiee SR SI9gl 130S TS
6. fwoa (FwivTe =ind ‘o' THwsio qrame T 4T ARAR'—aR 0 F1 T W+ ©?
Aggg  B.asem  C.gad D.awie E. @erR A. (zTE B. ggwiaoim  C. (IR oI
7. ‘e vaeE B8’ 3 forog (e e |'—a% Tl D. sidreHt E. ifzres ¢3=1
&I e A T TER? 23. ‘coitd A *ReE uiEt T @RI TER?
A. ORIEE Ate T B. S %1 9 A fmarqrem B g etem C.wfe fam
C. 93l ¥l D.ongd  E. e 5 Iﬁmw O SBIRL AL Crl
8. Fortm Fefea el (@ 7= 27 3L (T TN “oita A Frey T Y — C. <edifE
S TSI I S e D. i i E. Sy-weent i s
A. TR BRI C. i e 25. ‘et SRl whin sead i FIAY (WAE @5
9, ‘ot (reIt-emt G ATE [ M -AgfE T TSt (72 A. S*E B. a3 I C. wfsrey
A @ ©EEE  B. & TEwd snew C. S 2[kR D. “=R7e E. Swae
D. @ g E. 93+ o154 Answer Keys: LA2D3 A4A5E6A7.C8B9. A
10. ‘CTERES =40 (17 SiFt (T T eI T6 R? 10.C 11.A 12.B 13.D 14B 15D 16.E 17.C 18.C
A.%Fs B.wrM C.w@R@  D. +ghe E. ofF 19.D 20.C 21.C 22.D 23.A 24 A 25.C
1. TR T e -6 i S ENGLISH
IR ¢ [Fefe =t F? Read the passage below and answer questions 1-5:
A Tarel JE B. o0l 7eW  C. WAMWIGT A7 Singapore ranked by the World Bank as the second most
D. wag=r w8l B e Jes densely populated country of the world, imports more
12. 053 1R BB TRl SRNSHTS &I 571 FE? than 90 percent of its food. Singapore produced nearly
A s B sl C. sASoare 22,000 tons of vegetables in 2013, compared with a little
D. @i E. i more than 17,000 tons 1in 2004. Last year, it imported
o T TR S S 514,574 tons of vegetables.
— A ' e & wiasio ) While Singapore ranks fifth out of 109 countries in the

Economist Intelligence Unit's global food security index,
the government wants to diversify its food sources and

D. wferg &= E. e

14, fees i *mio G-2rom 3-3& i? become more self-reliant in producing eggs, fish and
A. Guifeat B. vgn C. =t leafy vegetables. As part of its efforts, it has provided
D. =5t E. e some funding and research support to local vertical

15. "SItA WA TS 794 (AR iR’ s fifes farming company Sky Greens, which grows leafy
I HTS SR 7T 57 vegetables at its farm in three-storey high frames inside
A. fom B.as C.v2 D.s@ E. “® greenhouses.
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What could be an appropriate title to the
passage?

A. Food Scarcity in Singapore

B. Lack of Food Security in Singapore

C. Diversification of Food Sources in Singapore

D. Singapore's Food Imports and Exports

E. Research Support to Vertical Farming

According to the passage, the Singapore
government wants to diversify its food sources
of its high position in the global food
security index.

A. despite B. in case C. because
D. as a result E. 1n spite

Diversify means

A. branch out B. contract C. continue
D. stop E. divide

Greenhouses are

A. ecologically suitable houses

B. buildings or complexes where plants are grown
C. buildings that are painted green

D. safe houses 1n a war zone

E. buildings that save energy

Vertical farming is more suited to areas where

B e ana s WWAWW. €XAMbd

C. people eat a lot

D. people live in poverty

E. trees are numerous

Find the correct sentence (Questions 6-7):

A. Ratan failed to carry out his studies for poverty.
B. Ratan has failed to carry away his studies for
poverty.

C. Ratan failed to carry on his studies for poverty.
D. Ratan has failed to carry about his studies for
poverty.

E. Ratan failed to carry oft his studies for poverty.
A. He casted his vote for you.

B. He cast his vote for you.

C. He caste his vote for you

D. He cost his vote for you

E. He cusped his vote for you.

Identify one of the underlined word(s) or phrases
that must be changed in order for the sentence to
be correct: ""Popular method of treating colds
include taking exira vitamins, getting a lot of

sleep, and drinking plenty of liguid."
A.method B. colds C. extra vitamins

D. sleep E. liquid

Which underlined phrase in each of the following two
sentences should be replaced by an alternative given below to
make it grammatically correct? (Questions 9-10):
9. Since Ruma didn't want to be disturbed while
studying, she left the phone off hooks.
A. of hook B. for the hook C. off hooking
D. off the hook E. from the hook
10. Since the officer was overburdened with work, his
colleague decided to give him hand.
A. giving hands B. give him a hand
C. give him handful D. give him handy
E. give him hands
11. Choose the pair that expresses a relationship
similar to the one expressed by the capitalized
pair: HEART: HUMAN

A. Tail: Dog B. Hand: Child
C. Kitchen: House D. Brick: Wall
E. Engine: Car

12. Which of the following words is spelt correctly?
A. comittee B. comitee C. committe
D. comitie E. committee
Fill in the blanks with appropriate words/phrase
(Questions 13-17):

13. His health has because of hard labour.
A. broken up B. broken into  C. broken out
D. brpken for E. broken down

yﬂ@fﬁld me that he in Khulna in the
previous year.
A. had been working B. has been working
C. has worked D. was working

E. have been working
15. Ten thousand dollars

a lot of money.

A. are B. is C. were
D. aren't E. it's
16. The word 'Brittle' means
A. Strong B. Wiry C. Enduring
D. Resistant E. Fragile

17. In time of financial crisis, such lavish expenditure
should be

A. justified B. curtailed C. encouraged
D. corrected E. organized
18. While going to office, take your umbrella it
rains.
Al iaf B. if not C. perhaps
D. in case E. by the chance
Choose the correct preposition (Questions 19-21):
19. She was blessed a Son.
A. by B. for C.in
D. with E. of
20. I will write your phone number.
A. off B. in C. on
D. down E. up
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21.

Sumon 1s beating around the bush. In other
words, Sumon 1s

A. avoiding the main point B. attacking aggressively
C. solving a problem  D. clearing the undergrowth
E. speaking to the point

Find the synonym of the following words (Questions 22-23 :

22,

23.

Degrading

A. Damning B. Lowering C. Corrupting
D. Minimizing E. Maximizing

Ardous

A. Hazardous B. Difficult C. Different
D. Pleasurable E. Tedious

Find the antonym of the following words (Questions 24-

24.

25,

UccC

25):

Perilous

A. Risky B. Greedy C. Curative
D. Secure E. Dire

Perfect

A. Spotless B. Immaculate C. Sheer
D. Superb E. flawed

Answer Kevs: |.C2E3A4B5SB6.C7B8A9.D
IOBI1.EI2EI3E14A 15B 16 E17.B 18D 19.D
20D 21.A22B 23 E24D25.E

ACCOUNTING
e (Fiais B veara @16 4191 79? (Which of the
following is not a step in the accounting cycle?)
A. 77§57 (Identification) B. ff*e=s2¢ (Recoding)

C. 312329 (Verification) D. @424 (Classification)
E. 7@ (Communication)
wigetifers ww Mot 3 (Unearned revenue

represents)
A. =% (Income) B. vafe wim (Current liability)
C.<¥ (Expense)  D. v wit (Long term liability)

E. 541 5==% (Current asset)

Tedt (IR 050 HTHF F=AAE I A bo,000 BIF
3 WIH JH A 90,000 BTt | SixEe fewmt T
(During 2013 Uttara Company's assets decreased
by Tk. 80.000 and liabilities increased by Tk.

30.000. Its owners equities therefore)
A. ¢o,000 5191 3f& A (increased by Tk. 50,000)

B. ¢o,000 GIZH “1F (decreased by Tk. 50,000)

C. 0,000 G191 §f& @i (increased by Tk. 110,000)

D. 330,000 GI91.ZH “ (decreased by Tk. 110,000)

E. bo,000 5191 3@ 21 (increased by Tk. 80,000)

e SR Fife s <1 I wis Wi W wids

ff=afits @4R: (Contingent Liabilities should be

shown in the body of financial statement because we

follow the principles of:)

A.wge«ife (Entity)  B. fz#iRai= «ife (Periodicity)

C. fr=sae «ife (Matching)

D. giqifzeiz «ifs (Consistency)

E. s eiwit=fa «ife (Full disclosure)

TS A T I T @O TR afXes e Afees

%d: (The purchase of merchandise on account

would, in the buyer's record,)

A. 5w & @32 wIa @ (increase assets and increases
liabilities)

B. v 3w @32 “Afar«iiis @9 g (increase liabilities
and increase paid-up capital)

C. Wi gfm @32 W I (increase liabilities and
decrease assets)

D. 5= g% @32 19 97 (increase assets and increase
expenses)

E. w3 3% ¢ w&# JA (increase liabilities and

decrease revenues)

6.

10.

11.

e e@c wgEr Z=R? (Which one of the

following is a temporary account?)

A. =5\ (Cash Account)

B. wgr® #i¢f5 f&11@ (Inventory Account)

C. 1= 7z (Bank Account)

D. 7i&ee w9539 (Accumulated Depreciation)

E. =it f&31% (Rent Account)

3033 FIER YA wIgEIR o7 Igme oy iy [t i

T ZEAR 9,000 BIFT | IR AT 0 Br7wa FI¥7

wif=t it z23? (Insurance for 3 years Tk. 3000 has

been prepaid on 1* January, 2012. What will be

the adjusting entry on 31* of December, 2012?)

A. S B3R (OR06 9,000 B, TV &3 (@G 9,000 BI
(Insurance Dr. Tk. 3,000; Cash Cr. Tk. 3,000)

B. dm 4a5 & RE 3,000 Bigh &N S N9 (s
3,000 B19 (Insurance expense Dr. Tk. 1,000; Prepaid
insurance Cr. Tk.1,000)

C. 31 495 T3] (©Re ©.oco O SN 9 RAR @eD
9,000 5@ (Insurance expense Dr. Tk. 3,000; Prepaid
insurance Cr. Tk. 3,000)

D. It <19t (S5 W,c00 DI, WV (&Feb 9 coo BT (Accrued
insurance Dr. Tk. 3,000; Cash Cr. Tk. 3,000)

E. @i i (SR[0 Soco Bl W 496 (@FEE dooo BIF

(Prepaid mnsurance Dr. Tk. 1000; Insurance Expense
Cr. Tk. 1000)

ea = 49507 & W W< 57 7@ F1? (Which of
the following expense dose not require cash?)

A. A&7 = (sales commission)

B. =W e Qi1 (prepaid insurance)

C. (399 (salary) D. ©%l (rent)

E. ©96% (depreciation)

e =fe W@ 77=+1f&? (Which of the following is

a fictitious asset?)

A. W (Goodwill) B. ¢#t6* (Patent)

C. == 1t=15 =% (Discount on issue of share)

D. ={*=1256 (Copyright) E. =g =fwi (Prepaid Rent)
fwen = wifds =@ we=t 71?7 (Which one of the

following i1s not a component of the financial

statements?)
A. S¥= w937 92990 (Statement of Financial Position)

B. =1 Jiggates f@awell (Value added Statement)
C. sfeirzaihe wig agdt (Statement of Comprehensive

Income)
D. 715v @i f7e=elt (Cash flow Statement)

E. TR (TSR ¥0gd “d3es gl (Statement of
Changes 1n Shareholders’ Equity)

T dfie 32 (A AT NS AN @ A

Tuow 7 oits S 51 3ta? (The error committed at

the time of transferring a figure from the primary

record to the ledger is related to)

A. 9% “% (omission) B. (1419 & (commission)

C. @mif¥=1t (posting error)

D. ifa*jg= w1 (Compensating error)

E. Sifests w=1 (Error of principle)

, SgReTs e W R ot 93 efRe By 4n?

(Which of the following sets of accounts normally
has debit balance?)

A. =, J9599, 7=7% (Revenue, Capital, Assets)

B. v, ¥=1¢=, 919 (Liabilities, Capital, Expenses)

C. =y, wiw, 394« (Revenue, Liabilities, Capital)

D. =, wfEed ©EEE, <96 (Assets, Owner's
Drawings, Expenses)

E. @, SraEe, il (Sales,

Drawings, Discount)

Owner's
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13. Tees 6 =@ z@ T49: (Net income will result

when:)

A. 7= WitIa (508 @™ (Assets exceed liabilities)
B. =% SIG3R (507 (I (Assets exceed liabilities)
C. <96 9i3a 6w @ (Expenses exceed revenues)
D. =i 47m7 5w @ (Revenues and exceed expenses)
E. <7 g2 496 79 (Revenues and expenses are equal)

14. 53 &= ©f&® o7 79?7 (Which of the following

statements is false?)
A. W 2[R R0 <6 FME TR 100 T S92k S
Ifelazn Afwesg oy 9 @ (A statement of cash

flow summarizes information about cash inflows and
cash outflows for a specific period of time)

B. $%8 #ia @3 MMB ANER MR AW, Wi 9 Wi
Fga dfe@mm 7@ (A Balance sheet reports the assets,
liabhties and owner's equuty for a specific period of time)

C. =TS (o1 2R GG Mg s TR =i, 93 « 92 io
A AT A6 AR 2941 @@ (An Income Statement
presents the revenue, expenses and resulting net
income or net loss for a specific period of time)

D. =i Ty faeedl qoit e wem wroer e Tige
Jfeqeq = I (An owner's equity statement
summarizes the changes in owner's equity for a
specific period of time)

E. Samm g Rifas afe @om o seee
(Withdrawal and investments are not included in
Income Statement)

15. foare At TIFIET FHieS oga 7= A RrEe

16.

17.

18.

UccC

%3 (Which of the following will be considered as
most liquid assets)

A. (v7W1E (Accounts Receivable)

B. wgm €1 (Inventory)

C. c*faitss "fes (Investment in shares)

D. 971t ©9@ (Bank Balance)

E. @&y 39 (Advance Tax)

GF6 FIAF Ao AT Y000 BIF G, I T 80% T
F9-7F T=iwt 3- (If the net profit of a firm is Tk.

6,000 and tax rate is 40%, then the amount of

profit before tax will be-)

A. 5,000 5= (Tk. 9,000) B. 9,583 Bi=1 (Tk. 7,942)

C. v,290 5= (Tk. 8,333) D. 9,000 5t (Tk. 3,000)

E. 0,000 5= (Tk. 10,000)

IE Ey [aadics “Rriites Sgmfes" $ i@ (Ina

bank reconciliation, ""deposits in transit’ are:)

A. I3 TEH (AF F99 = (deducted from book balance)

B. 3 IEEe Ad @l S0 =¥ (added to the book
balance)

C. I [{e@9 /R A @l F90e 27 (added to the bank
statement balance)

D. 37 R==e9l [5iee™ e v Mee =9 (deducted from the
bank statement balance)

E. =wivi RAEK At @l ¥90e =¥ (added to cash account)

747 773 &7 (What is Prime Cost?)

A, JoEE+SRE S (Raw  Material +Factory
Overhead)

B. sdt Sofaarm+e=miee afiarm (Factory Overhead +
Administrative Overhead)

C. JIBME T + JoTF WG IS0 2o5F 436 (Raw
Materials + Direct Labor+Other Direct Expenses)

D. siers Wg + kiS4 (Direct Labor + Factory
Overhead)

E. === <59 + fa=@ @73 (Factory Cost + Sales Cost)

19.

20.

21.

22,

23.

W LAeS TGS Yo ooo BIFT, FAMA ISET @ Yoo, 000
O, SRRl Afiegd 495 Yooo B, IGH AFTEH
So,000 BIFl, & (FIS 8 Sl booo BIFl, FIAIEA
FAAN TGA ¢,000 GIFl G #ITHTT AT TG7 ¢0,000
bt 7@ o@ [A@e i 4w T@- (If beginning
inventory is Tk. 60,000, goods purchase Tk.
300,000 during the year, freight in Tk. 6,000,
freight out Tk. 10,000, purchase returns &
allowance Tk. 8,000 ending inventory of supplies
Tk. 5,000 and ending inventory of merchandise

goods is Tk. 50,000, cost of goods sold will be)
A. b 000 1=t (Tk. 298,000)

B. vt 000 51t (Tk. 318,000)
C. vd9, 000 519t (Tk. 318,000)
D. wob 000 51 (Tk. 308,000)
E. 359,000 5191 (Tk. 293,000)
=6 w8 @i AR <= IAUFT Yo,000 BIFt 8
Y,000 B! TEA FIIENT B4F A T F9? (Net sales
and net profit are Tk. 30.000 and 6,000

respectively. What is the rate of mark-up:)
A 3va% (16.67%) B. 20% (20%) C. 2¢% (25%)

D. wo% (30%) E. ¢0% (50%)

A, B ¢ C 930 WeAmia FRAMEE IR | A 93 o4
3¢o,c00 B!, B 97 TFYF 90,000 BiIF 8 C- 97 THYF
Sro,000 | C IIFHE 5@ I/ vo,000 GIFl (FSA
1T | TAIE Wo,000 BIFT FIS FCA, IR 17 C e 7%
513t #a? (A, B & C are partners of a partnership
business. A's Capital is Tk. 250, 000 B's Capital is
Tk. 320.000 and C's Capital is Tk. 180,000. C will
get Tk. 60,000 salary for business operations. If
net income is Tk. 21,000, then C will get in total at
the end of the year?)

A. 8v,000 1=t (Tk. 48,000)

B. 380,000 5191 (Tk. 140,000)

C. vo,000 5191 (Tk. 60,000)

D. 0,000 B1&t (Tk. 110,000)

E. 59,%00 5t (Tk. 93,600)

a6 TFIST FATFT ¢oo, 000 B1F, *IfFaza <76 ¢o,000
DI 8 FAFIF AI6 0,000 BIFT | LTS WTFE 8 IRT
G SR8 T ©¢,000 BIF | TRRFFS TGS IFSCS 37
F%md w358 % biF? (The purchase price of a

machine is Tk. 500,000, carrying cost is Tk.
350,000 and erection cost is Tk. 20,000. Expected
useful life is 4 years and salvage value is Tk
35,000. What is the depreciation amount in 2™

year under reducing-balance method?)
A. 3v¢ 000 515t (Tk. 285,000)

B. 383,¢o0 B9t (Tk. 142,500)
C. dov,rra¢ 1= (Tk. 106,875)
D. »ov,5¢o 515 (Tk. 138,750)
E. o¢,000 Bi=1 (Tk. 105,000)

et A8 Tgw <47 So,c00 BIF, T AR Tgw TR
Y NS f&m At A @A vo% wHesEd s
TS AR | 9 I TH TTRTie T it 415 qAns
7e3? (Stock destroyed by fire of Tk. 10,000 was
not included in ending inventory. If the insurance

company agrees to pay compensation of 60% how
much would be shown in the income statement?)

A. 8,000 o1& (Tk. 4,000) B. 38,000 &= (Tk. 14,000)
C. 0,000 5= (Tk. 10,000) D. v,000 5@t (Tk. 8,000)
E. ¥,000 5191 (Tk. 6,000) 35



24.

25.

Q@A IR B sreret @wiw 3t g@- (In dividend

is paid through bonus share, it would)

A. (IR (RIS g3 #iItd (increase shareholder's equity)

B. ¢*[I¥ (JTRR T84 7 (decrease shareholder's equity)

C. Siferiet 9g '@ 7w 3% #iit (increase liabilities and
owners' equity)

D. Wiy @ WfEdH 799w “T (increase liabilities and
owners' equity)

E. s cxiesiats g “ifeafes =@ «1 (have no change
in shareholder's equity)

(T FFE I TeAmTAg A AfRSHE, Sitwas I91 Th-

(Costs that changes with production are called-)
A. o= 979 (Variable costs)

B. fg5/3@ a3 (Fixed costs)

C. =5 919 (Raw Material's costs)
D. =W« 999 (Production costs)

E. ¥<< 919 (Unit costs)

Answer Keys: |.C2B3D4ES5A6ET7B3E9 C
10.B 11.C 12.D 13.D 14.B 15.D 16.E 17.C 18.C
19D 20.C21.D22B 23.A24 E25.A

PRINCIPLES OF BUSINESS
3] A1 (I 10 A4N &oer <41 x4? (In which kind

of insurance Mortality Table is used?)
A. 2@ms (England) B. g3=«i3 (USA)
C. z=nits (Holland) D. 551 (ltaly)
E. wisiifs (Germany)
& (@19 qAa " T39S @? (In which kind
of insurance Mortality Table is used?)
A v7igige 9 (general insurance)
B. =% 91 (fire insurance)
C. =3 99 (re-insurance)
D. =7 <€t (crop insurance)
E. &i9= 911 (life assurance)
ARF A ZF ¢ = F792wF oFw F 96? (If bank
rate decreases, money supply)
A.Z™ <11¥ (decreases)
B. g% “1 (increases)
C. w¥ifsafes 1tF (remains unchanged)
D. fefa <t 33+ (difficult to determine)
E. sJ=ia1 3@ (fluctuates)
FooifE (19 470 418 37 7757 75?7 (In which of the
following cases can the word 'underwriters' be
applied?)
A. <% <=1 (fire insurance)
B. T <197 (marine insurance)
C. =1 <=1 (crop insurance)
D. &9« 9 (life insurance)
E. +fif% 9191t (Motor insurance)

5 wREds ==t Wea W c=Fea g@en? (In which of the

UuccC

following cases can the word 'underwriters' be
applied?)

A. =% <=1 (fire insurance)

B. &9« =i (life insurance)

C. g5 911 (double insurance)

D. ¢ 9w (marine insurance)

E. =9 941 (re-insurance)

e Wy [{Forh T wmee T e e
©oge? (Which of the following is applicable for

opening non-resident foreign currency deposit
account?)

A. vef® 2319 (current account)
B. %3 &7 (savings account)

C. @i &1 (term deposit account)
D. w#37ig 22719 (savings certificate account)
E. 3% &9 (bonds account)

10.

11.

12,

13.

14.

15.

16.

17.

A6 e Fie 71? (Which one of the following is
not the function of insurance?)

A. 3 g%9 (distribution of risk)

B. =fex “ifam4&™ (reduction of losses)
C. a7 w2z  (financing business)
D. wdi=fes &+if® (economic progress)

E. 3% 3% (increasing risk)

MICR-43 #j=+ 5? (MICR stands for
A. Managerial Identity Control Recognition

B. Magnetic Ink Character Recognition

C. Managerial Input Control Registrar

D. Magnetic Input Control Registrar

E. Magnetic Input Character Recognition

e TR ffawa- (Registration of Partnership
business is-)

A. 9= (Compulsory)
C. sfssg (Harmful)

E. w=esEs (Unprofitable)
TN @R T TR dieE wwifsie Srememe JR_d
@q? (Which type of bank account allows the
'‘overdraft facility to their holders?)

A. v =% (current account)

B. 7= 23719 (savings account)

C. ZiH e f&) (FDR account)

D. ¢iwg+{fd= et 23719 (recurring deposit account)

E. "f9% =31< (sundry account)

et IR TeRe 430w {97 fem? (What type
of revolution was the scientific management?)

A. W75= (mental) B. W’ﬂ%ﬁ (emotional)
C. wife= (social) D. w¥ta$F (economic)
E. fei#@= (financial)

=) fAdiae T3 @32 ot Freng wiEe 23 (12 R e
FEICE 911 T — (Setting a goal and deciding how
to achieve the goal is called )

A. &= (motivation) B. 525167 (organaizing)
C. 41 el (staffing) D. @@ (controlling)

E. #ifeeg= (Planning)

s oifdim o Afeom ‘SRa-#d’ Em e
#f25%? (Which organization of the World Bank

Group is known as the soft loan window?)
A.MIGA B.EDI C.IDA D.IBRD E.IFC
T3 Mg fFum ofw T 57 (What is the last task

of the recruitment process?)
A. &7 7199l (determination of source)

B. faeei@ awi (serving notice)

C. =41 st (appointment of employees)

D. =t &f¥r4 (training of employees)

E. wiid #€r= (medical test)

ea L IIAET e @&r+gr 71?7 (Which one of

the following is NOT a basic characteristics of
Business?)

A. %1 wew (Making profit)

B. 5o (organization)

C. If< ¢ wfFroael (risk and uncertainty)

D. sif&w #1eg= (supply of Capital)

E. =f3= %512 (labor lay-off)

FrageER wofd gt (The mirror of management is
)

A. 725154 (organizing) B. fam=m1 (directing)

C. ¢&f=9t (Motivating) D. (planning)

E. 7=l (controlling)

= ARTEER SFErems 797 2tg w1? (Which of the
following is not a type of plﬂn%i;‘%?)

A. =7 (goal) B. (target)

C. #f=f (policy) D. "= (mission)

E. =i (Feedback)

)

B. @fz= (Optional)
D. sites=s (Profitable)
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18.

19.

20.

21.

22,

23.

24.

25.
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Brifse Feoe w1ttt s7=+i"®? (Tariff is related to—.)
A. 99 (insurance) B. faw@i#i# (advertising)
C. #ifs=== (transport) D. < (risk)

E. s« (import)

e FfRbe - o AFE At Form @i
fits z3- (In case of Annual General Meeting of a
Public Limited Company, the notice should be
given-)

A. a = %td (before seven days)

B. 38 M= %td (before fourteen days)

C. 2 re 9td (before twenty one days)

D. 3 fre %4 (before twenty eight days)

E. wo '+ 4 (before thirty days)

TR NS (1N GFF WA CHAT TAYHT AT TS
FJ* T @9 FRe NE? (What 1s the maximum
proportion of shares of a cooperative society that
a member can purchase?)

A. @3 g (one-third)

B. 9= ve4ie* (one-fourth)

C. @< “%we* (one-fifth)

D. @< w={i (one-tenth)

E. ¢o *<1g* (50 percent)

a6 @F=oNfa 4 o {FFadds g9 I@? (When

does a company issue its prospectus?)
A. @i 15t 2d (prior to the formation of the

company)

B. @i *1atq
company)

C. ¢=I=13 299 #@ (after the issuance of shares)

D. <@ 3359 #td (prior to the issue of shares)

E. =e=t7@ +td (before registration)

A e fAfEwe @it ww A Tt
f@<®? (Which of the following is the alternative
for Articles of Association of a public limited

#Atq (after the formation of the

company?)
A. Table—F B. Table-B C. Table-A
D. Table-D E. Table-G

@=iifa f3= 237 $@w- (Treasury bills are issued by)
A [ae<=ifre w51z (Specialized Bank)

B. qif&n< 9@ (Commercial Bank)

C. T1o i@ (Merchant Bank)

D. @43 20z (Central Bank)

E. 3sre2ms 991:a (Investment Bank)
e = REaioeE AR A9 I=9 g@? (Which one
of the following is called is life blood of business?)
A. ¢1I$<95 (manpower) B. ©f¥ (land)

C. #1871 (organization) D. T¥+ife (machinery)]
E. w4 (money)
faen i wiEeem SftFEs wesl ARE FA I
FAE Of FUS! RS Fe aE RFafes z@? (It will be
considered Ultra Virus when an activity is done
beyond the scope of —)
A. #9579 =S (memorandum of association)
B. FwEs 9gafe=d (certificate of commencement)
C. "e=ei@ (prospectus)
D. f#a===i@ (certificate of incorporation)
E. =if¥= fa==4l (annual report)

Answer Keys: | E2E3B4D5D6D7E88B9. B
100A11.A12E13.C14.C 15 E 16.D 17.E 18.E 19.B
20.C21.D22.C23.D 24 E25A

il R _RwET R0d9-2058

FAA: S TT (G756 *Te-B) 1 - 320
kGl

1. ‘cCrRe afegfeme wEeha 9% T Tma @
Tt e 4t 3= ER?
A. (ZIER avd B. tzu8I9 q€E T
C. 57q zvd D. w9qtqe A" E. $59et

2. ‘o3% ©F W SUHAICHRT GF(6-
A. FBF B. sigag C. Som5m
D. &35a3 E. az7

3. ‘TR I T R TS TR g [ Fein?
A. 86 B. of6 C. 3
D. sf6 E. =3

4. e FF IR v TGE TATS =0 AS?
A. e B. qie=mca= C. 34
D.GiR o4l E. Giqa-a9+1

5. ‘mEae’ =eE ARy A ?
A. SEa9+29 B. S@a+59 C. WF+47
D. @+l E. @@3+59

6. ‘STerR W ofEreg 1I'—9 i Wit @ JNE?
A. TR B. 353if% C. s griire™
D. se9@3 E. o1 7=

7. R oI =77
A TS B. g1 C. afem=
D. e E. @re=

8. ‘oG’ FW TES?
A. % A B. me1smmm C. gifw s
D. 4y AN E. 2gdifz 71

9. TR TPEWMA WIS ‘IHeIgl’ FIoiog -
A. T B. sfa-argeta  C. vga74l qoremst
D. 3fq qwrerst  E. I%-wreer

10. ‘A0S SRAMI I6AE FAiw &7
A. @4 B. swei@E C. iR/
D. FigiRE cimie B, e it

11. =T 569 - 9T e 1 I=?
A fag B. %% C. fas
D. 75% E. @@

12. ‘gz’ ==ioq =g 5?2
A. @Al B. C. =Eaoie
D. =i E_sfoet

13. IR g’ *=rF A0 79?
A. 3fafg B. wq C. &g
D. w4 E saf3e

14. *+f&F’ === Fedas E=H?
A ] B.=iifd3 C. «fadl
D. IFat E &ie

15. Horizontal *t=3 sifFsEt (=02
A. i@ B. wqshis C. o
D. g% E. mesaaE
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16

17.

18.

19.

200.

21.

22

23.

24.

25.

UCcC

g SR FIgaetat FomE TE 311G =ire?

A. e foe B.ufim  C. %= fom

D. 594 fre E. iy fom

‘FERITe IR -

A. Sag B. isTeis C. 391

D. 944 E. &g

TSI NI FCAH-

A. FECL0 B. Swzi C. < oot
D. vHETel E. A=<t

SISl (AU BT AR, (TIS R ST AR

1 I'—9q I (F19 I6A1 TES(S?

A. RSy el B. =it C. tzwel
D. w4 E. 939 5=

CoITaTE?

A. Gifs B. i C. -did e
D. fawarEt E. a7 #iif%

e =it Heire s wfE?

A. Sfe+aE==rerg B. S0+ =9g
C. f+feg= fafoes D. A+ 4RI=]FYRI
E. s+fo=gg=fs

‘TreE’ FESE TS S’ e =d-

A. =ifzeits B. <l C. s#7 1"
D. StARE E. SI9=I

% (one fofEs T3¢

A req @ Bl e wma Clowise: 994
D.#7E0 : 8¢9 E. 9% : 3ow

TR IS &FF Fooitr i T iy f==?
A. T =iz B. s sirg C. <1 AR
D. F341 sifz E. S#F011 9i1g
AR e wid-

A. Sfeay B. sifete C. gfem-wele
D. Sfedre E. sfemaisty

Answer Keys: 1.C2A3B4DS5SE6.C7D8EY9.B
100E11.A 12B 13.E 14B 15.B 16.C 17.D 18.C 19.D
20E21.E22.C23 E24.C258B

ENGLISH

The antonym for 'delicious’ is:

A. appetizing B. scrumptious
C. displeasing D. dainty

E. toothsome

A dolphin
nose.

A. different B. differs

C. different from  D. differs from

E. differs than

The people of Quebec have been considering
themselves from the rest of Canada.

A. to separate B. separating

C. separated D. separate
E. to be separate

a porpoise in that it has a longer

. aFe I SitRR FRAI i FeieEn Aot qferes 4.

10.

11.

12,

13.

14.

15.

'A piece of cake' means

A. A task that can be accomplished very easily

B. A very mild punishment

C. A result that 1s still unclear and can go either way

D. A hidden or secret strength

E. A kind, innocent and mild mannered person
Identify one of the underlined words or phrases
that must be changed in order for the sentence to
be correct:

He made me sit down, and he was tving the

A B
string of the new rubber apron tightly around
C D
my neck, and combed up my hair.
E

Taking the time to eat a good breakfast is a simple

way to make the morning——and the day ;
A. best, easiest B. ease, easy

C. easy, easier D. better, easier

E. well, at ease

He was happy to be friends.
A. between B. middle of

D. into E. among
While going to the class .
A.thedogbitme B. adog bit me

C.adogbiteme  D.Iwas bitten by a dog
E. A dog had bitten me

C. along

Which one of the following words 1s spelt
incorrectly?

A. repercussions  B. examplification

C. sausage D. cigarettes  E. grammatical

Despite the lack of evidence, politicians
blaming the media for violence.

A. cannot resist B. will not have resisted
C. may not resist  D. should not resist

E. do not resist

Choose the correct preposition: Do you know the

solution the economic crisis?

A. at B. for C. on

D. to E. about

The word 'off-spring' means

A. Twins B. Children C. Strength
D. Winter E. Fountain

It is high time we
our national interest.

A. should make B. will make
D. have to E. made
What is the adjective form of the word divide?
A. divisible B. dividable C. dividible
D. divisable E. devisable

the people conscious about

C. must make

Let us not your past mistakes.
A. dwell B. dwell at C. dwell on
D. dwelt E. dwell about
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16.

17.

18.

19.

20.

UccC

What is the synonym for the word 'indifferent'?
A. similar B. unhappy C. apathetic
D. frank E. not differming

What is the noun form of the word 'defer'?

A. difference B. deferation

C. defermation D. deferment

E. deferming

Choose the correct sentences (Questions 18-19)
A. He thinks that she leaving for Sylhet.

B. He thinks that she has left for Sylhet.

C. He will thought that she 1s leaving for Sylhet.
D. He thought that she 1s left for Sylhet.

E. He 1s thinking that she leaves for Sylhet.

A. Mary has been on a diet for three weeks.

B. Mary has been on a diet since three weeks.

C. Mary had been on a diet since three weeks.
D. Mary was on a diet since three weeks.
E. Mary 1s on a diet since three weeks.

Find the misspelt word
A. asthma B. cholera C. dehydration
D. tiphoid E. headache

Read the following passage and answer questions
21-25;

The Geographical (riF-site, eicli@s) Indication
(Foa=I; oz, =rd; 3fos) (GI) Law 2013, the first of its
kind in Bangladesh, was enacted (Rfegm a1 a1 &€l
<41) 1n parliament on Tuesday to protect the patent
(FTTE% 91 T8, WRER I WFe € 739 (A WA
5@=) rights of traditional products. Historically, we
produce some unique (SAW, Wgo, RSy, GFA@)
products naturally that others cannot. The law will
ensure the exclusive (¢<wom; ¥od) rights of the
products,” said Industries Secretary Mohammad
Moinuddin Abdullah. The government has passed the
law in compliance (Ffe/f@ @) with Article-22
of Trade related Aspects of Intellectual Property
Rights (3t 7 iwFcs TRIPS 3¢=1). GI 1s a name or sign
used on certain products to certify that they possess
certain qualities because they are made as per
traditional methods or enjoy a certain reputation (I*/;

47ife; %) due to their geographical origin. The law
will protect the country's claims to commodities
(7«11 <7) such as hilsa fish, jamdani sari, nakshikantha
and fruits, including pineapple and fazli, a varnety of
mango, said Mahboob Murshed, who 1s an advocate
of the Supreme Court and a legal expert on GI law.
This means that the real producers of any particular
goods in an area will get the absolute rights to their
registered products, he went on to observe (57 =4I,

=< F41), and added that the law will ensure that
customers get genuine (21; wFfew) products.

21.

22,

23.

25.

Who is the authority to pass/approve GI act in
Bangladesh?

A. The Parliament B. The Supreme Court

C. The Prime Minister D. The Ministry of Commerce

E. The President

The phrase ‘protect the patent rights of
traditional products' can be explained by which of
the following phrase?

A. to encourage others to supervise patent rights of
traditional products

B. to effectively thwart others from securing patent
rights of traditional products

C. to ensure that patent rights of traditional products
are safeguarded.

D. to actualize patent rights of traditional products
effectively

E. to realize patent rights of traditional products
comprehensively.

The government passed the GI law in compliance
to certify that,

A. The products are made according to some specific
methods and their location

B. The products are made according to some
traditional methods or have an exclusive reputation
and originated from a specific geographical location
C. The products are made according to some random
methods and originated from a specific geographical
location.

D. The products are made in accordance with a very
systematic process and originate from a historical
location.

E. The products possess superior qualities or enjoy a
certain reputation due to their cultural origin.

. GI law will look out for the interest of

B. The consumers
D. The importers

A. The government

C. The hoarders

E. The registered producers
The GI law will protect our commodities so that
other countries cannot:

A. claim their rights to the products and also the
customers will have access to genuine products.

B. claim their access to the products and so that
customers also can sell the products.

C. deny their authority to the products and the
customers will have access to a diversity of products
D. demand rights to the products and the customers
will strive to buy genuine products

E. offer export privileges to the products and also
oive customers the authority to mass produce the
commodities.

Answer Kevs: |.C2D3B4A5B6D7.E8D9B
10,A 11.D 12.B 13.E 14 A 15.C 16.C 17.D 18.B
19.A20D21.A22.C23.B24.B 25.A
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ACCOUNTING
BIRDE (F=if"g A==t IgS #I47 8,000 BIF TH (WA
TR | IO AT q=Ea RiGs «tiw a5 g3 9% wieww
Bolw 9 B go 3@ s (Titan Company's
ending inventory is understated by Tk. 4,000 The
effects of this error on the current year's cost of goods

sold and net income respectively are):
A. ¥ gvife TE, @™ @we =@, (Understated,

Overstated)
B. @™ aw*e =z@, I gwe =@, (Overstated,

Understated)
C. ¥1 owise =@, I ouffe =@, (Understated,

Understated)
D. @ owHFfe =@, @™ auifes =R, (Overstated,

Overstated)
E. &f* ewffe =g, *It=5 (Overstated, Zero)

e et Refes garEeErsm 495? (Which of the

following is and example of deffered revenue

expenditure?)

A. wigems ©lgl (Prepaid rent)

B. 5763 (Depreciation)

C. grafe® 436 (Preliminary expenses)

D. <779 ©+7 q181 (Discount on Debenture)

E. S=ee95 (Amortization)

=3 = oI oo {eeiw f&fses =@ 71?7 (Which of

the following events is NOT recorded in

accounting records?)

A. 41T T8~lIf® @F (Equipment is purchased on credit)

B. I13=w 51w f{f=canel (A cash investment is made into
the business)

C. s Tes Ffesie e w=m s (The owner
withdraws cash for personal use)

D. 41tz @7 (Sale on Credit)

E. <% S3bi4! BIpre 207 (An employee is terminated)

W ST TFSAUG vo,000 BIF FIFS TR T Wbo,000

Bt 32 AN TGS ¢o,000 BT ; CUHGE [AfGo4m @

Z=1 (If begining inventory is Tk. 60,000, cost of goods

purchased is Tk. 380,000 and ending inventory is Tk.

50,000, then the cost of goods sold is).

A. w90,000 5191 (Tk. 370,000)

B. w90,000 B1& (Tk. 330,000)

C. who,000 513 (Tk. 390,000)

D. 820,000 5i& (Tk. 420,000)

E. wvo, 000 =t (Tk. 360,000)

I 9E T (Accrued revenue are):

A. Sfers zezla At wiy f2onte a2 st 32 feiem a1 =7
(Received and recorded as liabilities before they
are earned)

B. ofz¢l 914 =Itd Wi 2o wifere @<k @i+ =3 (Earned and
recorded as liabilities before they are received)

C. wfers ReiE e 2 @< Aies 2 Ine «dee o
41 =3t (Earned and recorded but not yet received)

D. wfE® =M @im =1 3t eonny wiEre e 9 b iEes
<1 =tz (Earned and already received as recorded)

E. <3p 2971t fif+iaa <591 2@ (Recorded as expenses)

6.

10.

©fet fZAT ¢,000 b1t (O30 (o3 et | 37 oftw oot 1%

(9, 93 WYT R,000 BIFT 7S IRTA AN FH=F | GTHFE@

fotea =t s wifd=t frs z@? (Rent expense has a

debit balance of Tk. 5,000 At the end of the year,

it is found that out of the total amount, Tk. 2,000

is related to the next year. Which adjusting entry

is related to this)?

A. =9 TR (8Rk0, TmE 2999 @ et (Rent account
debit, cash account credit)

B. wiidw Sl &R ef[0, Sl &7 (@S5 (Prepaid rent
account debit, rent credit)

C. = TR (B[0, ©el TR @&t (Cash account
debit, rent account credit)

D. M@ TR eke, wigw sw e @6 (Cash
account debit, rent account credit)

E. el fT91 (@90, 9w ©ret 23] (&b (Rent account

debit, prepaid reant credit)
A W Eame wiEEE T geite T Al

(Which of the following transactions will NOT
affect the owner's equity)?

A. wigw 5@ (Deferred Income)

B. =& @wis (Dividend payment)

C. widw wEes w9y Wik« (Adjusting entry of
deferred income)

D. ats=1 <490 g7« (Payment of outstanding expenses)

E. sifea g9 (Depreciation on Fixed Assests)

GFB oA Sl afem TEefe TR-¢ T o

GRER | 92 T Wi &9 < wiEw 7@? (A

manufacturer of goods showed purchase of machine

as increase of purchase account. What would be the

correction entry?)

A. @1 R (©f[5, 75w 5[ (@6 (Purchase account
debit, Cash account credit)

B. @ &5 (=6, Atgam &feb (Purchase account
debit, Creditors Credit)

C. gx9ifs fZ9R (=6, @ =37 &F%6 (Machine debit,
Purchase account credit)

D. @1 &9 of<e, Ix+ifs &9 @6 (Purchase account
debit, Machine credit)

E. a3+ o (efQB, et &) @es (Machine
debit, Suspense credit)

a7 (e Beotwe itiig 379 79? (Which one is NOT

a product cost?)

A. gfa (Wages)

B. fawai#% <59 (Advertising expenses)

C. Fi=iiet FAiFeI2ed e (9 (Factory supervisor's salary)

D. s vsiifes w63 (Depreciation of factory

equipment)

E. <ii5fie wiewi== @& (Import duty on raw materials)

RS It @1 T2 3Y,000 BiFt W3R ara I3 91 0%

TR #1S A AT <t 7aa 770 F9? (Given the cost of

goods sold Tk. 16,000 and profit margin on sales 20%,
then the sales figure is):
A. 30,5%0 Gt (Tk. 20,160)

B. »9,uco Biat (Tk.13,600)
C. 33,000 51 (Tk. 21,000)
D. 23,%ve Bi=t (Tk. 21,160)

E. 20,000 5141 (Tk. 20,000) 40



11.

12.

13.

14.

15.
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ey T=ce + 3atE? (Revenue implies):

A. 79It @R (Inflow of cash)

B. 7=itwq w@gaiz (Inflow of resources)

C. 77 weear T8 weifagd o) Wi 7z (Inflow of
resouces but not nccessisarily eash)

D. e e, 8 9AfEd g «smie (Inflow of
resources and must be in cash)

E. @oridats 47 912931 Gl avits [RfFwe 7==itvre seeqig
8 weifazr st 7w 7z (Inflow of resources not

necessarily cash in exchange of goods or services
provided to customer.)

aFo1 I AfeHIAR @eTife e e swee
HITe- (AAIWIT 2¢,000 BIF | WA &WIF S0 0oo BIF, I
THIMSE& @000 BIF, *NSTWIE b 000 BIF, FAT 746
3¢, 000 GIFt, FR#IH TGW b,000 BIFT | efsiabn T
T4« ¥97 (A business has the following accounts

on its Trail Balace: Trade Debtors Tk. 25,000,
prepayments Tk. 10,000, Bank Overdraft Tk.
5,000 Trade Creditors Tk. 8,000, Fised Assets TKk.
15,000, closing stock Tk. 8,000. Which of the

following is the correct figure for the working

capital of the business?)
A. 83,000 B (Tk. 42,000)

B. 8¢,000 6131 (Tk. 45,000)
C. wo,000 G5 (Tk. 30,000)
D. ¢o,000 1 (Tk. 50,000)
E. 3v.000 % (Tk. 28,000)
qq 97 FI A SIFT g 97 T ok F=at =0,
«pt 5 w37 ¥ T®@? (An amount to be paid to

Enam has been debited to Harun's account. What
type of error is this?)
A. 3w [ ¥4 (Error of Omission)

B. “if®x @& (Error of Principle)

C. <femrefex & (Error of Posting)
D. #ifas#= &1 (Compensating Error)
E. 71419 @ (Error of Commission)

v 2FiE {7291 Cof9a 4 FRe &Fi=io? (What is the main

reason for preparing the statenent of cash flow?)

A. i SRR AR @ares & (To agree with the
Company Acts)

B. dfevirm wiffs =<3 w#w &5 (To show the
financial position of the Company)

C. dfevi= @re-canes &=k &= (To show the profit
and loss of the Company)

D. #=itiag ©=7 ¢l 999%d MR &= (To show the
sorces and uses of cash)

E. ©%8 #itq wvime “ifenet g &0 (To know the amount of
cash to be shown on a balance sheet)

fimr oW o o 97 FuETs @es 858 AT?

(Which of the following sets of accounts normally

has credit balance?)

A. 91, =144, 727 (Revenue, Capital, Assets)

B. Wi, ¥=1<=, 9% (Liabilities, Capital, Expenses)

C. @i, wiw, 1514+ (Revenue, Liabitics, Capital)

D. =M, Tiffnsa ©rEEe, <96 (Assets, Owner's

Drawings, Expenses)

Drawings, Discount)

(Sales, Owner's

16.

17

18.

19.

20.

21.

49 Fiv Ffe T, Wi [FI=a6 (When a net loss

has occured, iIncome summary 1s )

A. (ST W3 BreFe (@S0 (debited and drawing is credited)

B. ufqb @a2 =4 (&b (debited and owner's capital
1s credited)

C. (@feb a2 o4+ (&fa0 (credited and owner's capital
1s debited)

D. (&b 9 W[Fos W (BRo (credited and retained
earning 1S debited)

E. (@et «3: oraem @ et (credited and owner's
drawing 1s debited)

foes =16 vafs wm 71? (Which of the following is

NOT a curent liability?)

A. &tay wgfs (Wages payable)

B. =gtawi ¥4 (Short-term loans)

C. &tm¥ <9 (Taxes payable)

D. &twa 93 (Bonds payable)

E. fafad #rgamia (Accounts payable)

a3 Teimae Afdee ‘dfFmere Tgs’ EEe

csfas s 373 off 27 (In a manufacturing firm,

the costs debited to the work-in-process inventory
account represent:)

A TTS TF JHEE, JOrF WGH, 9 JSTF 496 (Direct
material used, Direct labor, and Direct expenses)

B. tofd #tei19 ®=#iw= 9579 (Cost of goods manufactured)

C. Fi=i+ 5% 8 B« 97 (Period costs and Product costs)

D. @2 2 eRee Fie amef @i F9s (o[ 2™
faf*@em ©47 S9 F1d (Costs debited to this account
will depend upon the type of products being produced)

E. J9%° dors JoME, derF W[, 8 SRAMa ©F <4ab
(Direct material used, direct labor and manufacturing
overhead)

e R sifFedifas @it wgis (Which of the
following is payout ratio?)

A. I TS0 I9%! (Cash dividend/Net Income)

B. «i6 I@1%i/6 @7 (Net Income / Net Sales)

C. =i A&/ 1% 3777 (Net Sales / Average Assets)

D. (G /W% 77=°W (Total Debt / Total Assets)

E. w6 &7 / oT% 7™°W (Net Income/Average Assets)

e (9 4R A [ifS AT w=oa 46 30 I@
(Which Accounting concept or principle describes

charging of annual depreciation?)
A. =< @=r= «fife (Full Disclosure)

B. fiFesel «ife (Matching)

C. verai= izl <ife (Going Concern)

D. stweened [ife (Consistency)

E. we=i catsivel «ife (Comparability)

qF TGS “TTT T T H,¢o BIFT 8 ISR S,000
B! T =T I8 AgS It SI91 (4TS IM 0T Cohtg | @R

TGS A5 ATenm TRve T @ IR THEE
99 &S] *e@? (What would be the effect of a

business's profit of discovering that inventory with a
cost of Tk. 1.250 and a net realizable value of Tk. 1,000
had been omitted from the year end inventory?)

A. T Y 3¢0 BRI 9 (Decrease of profit by Tk. 1,250)
B. Tt 3,3¢0 B %A (Increase of profit by Tk. 1,250)
C. = b,onofﬁﬂm([rﬂezsdnfpmﬁt by Tk, 1,000)
D. e 3¢o Biel A% (Increase of profity by Tk. 250)
E. T1% 3,000 B G (Decrease of profit by Tk. 1,000)
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22

23.

24.

25.

1

UccC

T T TS S s TR A5

A. e sz e f=fsiem @ate 29 (Assets should be
recorded at their cost price)

B. 3=ife aeifi ©ita @3 Jeen fafoiam @l 29 a2 qreis 190
Aafee T sy e =W (Assets should be
initially recorded at cost and adjusted when the
market value changes)

C. I AfeBitm IR e (AF WEml ARTS =03
(Activities of an entity are to be kept separate and
distinet from the owners')

D. 795 gIiaa @@+ b S9! $a0s 2@ (All transaction
must be expressed 1n terns of money)

E. vz qenaaeen f=iivias sare =@ (Assets should
be recorded at their market price)

e 7=4e s 93 T4 (Total Assets will be

decreased by:)
A. 33 7oy (Stock Dividend)

B. %53 fqere (Stock Split)

C. =17 =regie* (Cash Dividend)

D. s=¥ifé @ (Purchase of Assets)

E. ”&a (Fg< (Sales Return)

I welifers witma sy wifkst st crswt @ oe— (If
the adjusting entry for uncarned revenue is not
given then —)

A. & @ 4 =3 (Assets will be overstated)

B. i@ @1 (74 =3 (Revenue will be overstated)

C. T @it 14 21 (Expenses will be overstated)

D. w=iee (@t (i1 72 (Capital will be overstated)

E. wia @i (74 =3 (Liabilities will be overstated)

TAYH SO [ (@A @A z@? (Where will you
report the capital expenditure?)

A. wu-Aes IR (Trading Account)

B. AlS- (@AW 23719 (Profit and Loss Account)

C. T=e#itma Wi #iit4 (Liability side of Balance Sheet)

D. S%e+tzR F=f@ =i (Asset side of Balance Sheet)

E. ©4®1 A 932 B ¥s¥2 (Both A and B above)

Answer Keys: |.B2.A3E4.C5C6B7.D8&8C9B
IDEILEI2ZCI3.C14DI15C16.C17.D1I8E19.A
20C21.C22.A23.C24 E25.D

[ SIS (PRINCIPLES OF BUSINESS)
fasr = tawifee IegeaE Bowiw w5? (Which of
the following is not an clement of scientific

management?)
A. &s334 (Standardization)

B. fagarw (Economy)

C. fazd (Controlling)

D. wnfd% @retv (Financial incentive)

E. =¥ lRe==e (Job analysis)

e T 9= IIZEF #iFFE=1? (Which one of the

following is not an single use plan?)
A. «iifs (Policy) B. #iwf® (Economy)

C. wiga/F@ (Controlling) D. =516 (Program)
E. zeitat=1 (Strategy)

G *ITTT U TS 77 FITZ “1H? (When does the
cost per unit of a product decrease?)

A. =47 B3+ 319 (Development stage)

B. 7p=t ¥4 (Introduction stage)

C. @gf% 1 (Growth stage)

D. #i<fwi @ta (Maturity stage)

E. #ie7 ¥t (Declining stage)

A6 ISRT WEF AN IJIZACENA I I

(The plans used for more than five years are
called:)

A =g crav! “fqsge (Short-term plan)

B. wi{ crami sfesge (Long-term plan)

C. 933 ™A “if@gai (Single use plan)
D. w33t ezl Affes«t (Double use plan)
E. #«=if¥s «ifqeg=t (Five-year plan)

FJFeEE fHaEee w<¥eE gt &=e? (Which one is
the last step of management control?)

A 3 1=l (Setting standards)

B. s=iifve ﬁ‘iﬁfw (Performance evaluation)
C. s=iifws @ $e=1aa9 (Comparing performance)
D. A== 9Z] A= (Taking corrective actions)
E. *1f® @w¥ (Punishment)

. IO FAFIET I TR IR AN [Fge B

Rt TS 3317 w0 T 280 fAge Besim s rR?

(How many units of electricity have been
generated to double the production of electricity
during the last four years under the current

government?)
A b, 000 cUESEG (6.000 MW)

B. 4,000 csitewme (7.000 MW)

C. v,2¢0 #i1sHE (8.250 MW)

D. .¢oo cIE1STE (8.500 MW)

E. 9,¢00 @5118316 (7.500 MW)

s 3y wdtafes = wite e &% H-a3 &=
g T IRATT 351 517 T=07 4RRIRE o we Ty
Zraer?! (In the last four years under continuing

world economic crisis, which of the following has

been the average growth rate of GDP (Gross
Domestic Product) achieved by Bangladesh?)

A.e¢% (5%) B.e.¢% (5.5%) C.v% (6%)
D.v.¢% (6.5%) E. 1% (7%)

fee T wizi® wieem ww? (Which one is not a
shipping document?)

A. 3z7°@ 71 v 7w (Bill of lading)

B. v=i+ (Invoice)

C. fafrz fe=1(Bill of exchange)

D. #¢3 ®e#fesi@ (Certigicate of origin)

E. a9tz i@ (Indent)

gizren HNwT @A i T e o5Ea 79 FaA0

*@ 91?7 (From which of the following sources can a
private company not collect fund?)

A. s fa@w (Selling shares)

B. ¥<#i@ (Debenture)

C. 3if4fens 9@ (Commercial bank)

D. w3 (Members)

E. 2@s qififess 991iF (Nationalized commercial bank)

10. fes AT @ Pea T8F AWe JILAFT TAFIS 7a?

(Which one of the following is not a principle of

management given by Henry Fayol?)
A. efe (Division of labour)

B. Sitateiq @37 (Unity of command)
C. fem3g9 (Controlling)
D. @4iead ¢ fateyizze (Controlling)
E. *34=1 (Order)
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11.

12

13.

14

15.

16.

17.

18.

UccC

aF I BT Feifrs 8 AfFsEmt IR W
e I @zt I &? (Who rtakes the risks
necessary to organize and manage a business
organization?)

A. 919g1%F (Manager)

C. Sparet (Entrepreneur)
E. wi=i= (Broker)

A AOF GFGH TR (IR (FHE FI6 A g3
(The maximurn limit for buying shares by a

member of a cooperative society is:)
A. v 000 Bis (Taka 6,000)

B. (G w=14tq ¢ % (15% of tatal capital)

C. it I19=9 2¢% (25% of total capital)

D. 1% 51477 0% (20% of total capital)

E. 3= =12 (No limit)

N3 =1 GFTEFE FI ARGET F0S FIF wiEEn

FeR 4o <7 (Which is the document required to

operate a sole proprietorship business in

municipal area?)

A. 91 F99q (Certificate of income taz)

B. =aws &9 (Memorandum of Association)

C. 4w =2 (Trade license)

D. «iw= fFawigE! (Article of Association)

E. fweffAeme fewgem  siftRecss

registration certificate)

e e T IeEiaet F9A9T 'Q-cash' v F@?

(Which of the following banks first launched 'Q-

Cash' in Bangladesh?)

A. Gt 951 18 (Sonali Bank Ltd.)

B. 5=} aies 12 (Agrani Bank Ltd.)

C. et 9515 13 (Janata Bank Ltd.)

D. &2 9n1e3 =13 (Prime Bank Ltd.)

E. 93p. @s.fa . fas (HSBC Ltd.)

7 e e i) wfes orF F1? (Which of the

following is not a party to a cheque?)

A. wimel (Drawer) B. wiw2 (Drawee)

C. &19e (Payee) D. Sw9taiv« 91 &191< (Endorsee)

E. #tssmig (Creditor)

T vy FHT FMEFT 79 (The name of the

oldest central bank in the world is:)

A. 1= &1 2% (Bank of England)

B. @11t {6 151 (Banque de France)

C. 9= qieF 919 2531 (Reserve Bank of India)

D. e e a1 o9 38 @ ¢ (Federal Reserve Bank

of USA)

E. T7itF <9 &7« (Bank of Japan)

FiEeat MDG (Millennium Development Goals)-S9 (Fi9

] WEAT G TS FTFS R

A. 7o 39y Zazmari w9 (Reducing child mortality rate)

B. s&t=a &= e MiseeariR &0 (Ensuring education
for all

C. wfm ?E FqI WE GABH @ &5 (Eradicating
extreme poverty and hunger)

D. WatE 8 gy SFure w0 (Improving
maternal and physical health)

E. sffw@rrm 5= Foe e (Ensuring environmental
sustainability)

FIEATR N FHAATAR &0 (T @R THS Jolers

=Wtg? (What is the prevalent rating system for

insurance companies in Bangladesh?)

A. F.9.«n 2 ga (CAMEL)

B. 28.u%. wiz. 94 «i. (UFIRS)
C.arq«s 4 (S &P)

D. &. 9. w7, 9. 9% 2. 951, (CARAMEL)
E. a%. =18, k. @3, (FIRS)

B %<t gfzret (Borrower)
D. 5= (Banker)

(Municipal

19.

20.

21.

25.

JoIRA “f@’ 7AW dFS FEH 3?7 (Who prepared the
'Mortality Table' for the first time?)
A. ae5% =iEl (Edmond Halley)
B. . ¢=1. fi (M.N. Misra)
C. wim.«7.* 1 (R.S. Sharma)
D. f31.435. s (P.H. Colin)
E. =1¢ =iesf@ (Lord Herschell)
SWIFT <? (What is SWIFT?)
A. 936 3712F AAf® (A bank association)
B. «=f6 #ffrtq 7% (A payment method)
C. @b @b #afe (A credit rating method)
D. @35 @il fAL39 (A banking system)
E. @iiee ywei <<rem fae=id “afe (A bank distress
prediction model)
fFare afre ffEdrm Taw e @Fb geiRs z@?
(Which of the following is affected by changes in

the reserve ratio?)
A. J7¢ %1% (Capital formation)

B. tamf@ 3gi@ wgre (Foreign currency reserve)
C. 5=#itwa 3%+ (Distribution of wealth)

D. e gmt Faelq 2 (Capcity of extending credit)
E. safdl qrert «ife (Government fiscal policy)

. foon et Ffew == Tstatra F@s 792 (Which of

the following is not a cause for the fluctuation in
the rate of exchange?)

A. iifee «ifs (Bangking policies)

B. s@=ifd ife (Government policies)

C. 7519t79 &1 (Capital movement)

D. <<eifae w@g[ Af@ae (Change in trade conditions)

E. digfes yitsl (Natural calamity)

. FeEws 5% =itE a=? (What is a Mutilated Cheque?)

A. =far wifardq 6< (Post-dated cheque)
B. w2 91 wreifgs weee faftzs 6@ (Cheque torn into two

Or more pieces)
C. =if?d 789 5= (Cheque without date)

D. wifermife 6= (Foreed Cheque)

E. =rsafegi@ (5@ (Cheque without signature)

e i Ao R FmaEret ¢ A= Teag i
&===i? (Under which of the following category of

insurance are both the insurer and the insured insured
insurance companies?)
A. 7241 (Co-insurance)

B. #=z4ra (Re-insurance)

C. k=i (Joint insurance)

D. cit8t St (Group insurance)

E. si@e <=t (General insurance)

IcEtn TdR TRt §iew e F ow <=
JreiE<w? (At which stage is the existence of
insurable interest in life insurance must?)

A. =eg 799 (At the time of loss)

B. wiitawteq 75 (At the time of application)

C. 7 e sl s «f+mi (Throughout the
duration of the policy)
D. dit eizielw g9 A (At the time of death of the

policy holder)
E. 3= widi #ff=eefice 7 (At the time of payment of a claim)

Answer Kevs: 1.C2D3D4B5D6.C7DS8EJA
10.C 11.C 12D 13.C 14.A 15E 16.A 17.A 18D

19.A20.B21.D22E23E24B25.B
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i RfRwea 20o33-20 5@ IR
A. Tiemafw vowig B. fa=f3t C. tzwal

;S T (G5 FTS-A) T : 30
E G D. 9#4itza <19 E. 309 =@
T i a——y 17. =7 3B *ITg | @ I "B’ (& FEE & FeieE?
A T B. =it C. é A. S S5 B. wfgeare a3t C. 3aed a3
D. 44 E. =isa D. wfasard ==y E. St ==
2. R FIT A @B AT FrewT crewTs R 18- I o Rt Sere?
&I (Wb E IT95S 247 A = fF B. T4, #fq C.94, q
A. 3 B. G+ C. GifaEm D. =, ¥4 E. "%, 4
D= E. wife 19. ‘I=-fFex’ I 541 WitR?
3. '@RTRE PN 4RE =7 A. =TS B. =t C. a3 oI5
A. sifFere B. SRS C. gomaete D.w#<1tze g E. 1t s
D. ostere E. ®iee 20. ‘=iE oF A’ FEewm Fiew 5a e wrst?
4. ‘WigE as e A. SHIIE B.swmaw  C. wif@
A. T B. WA C. Tfie D. 3134 (514 E. &ty fage
D. Ty E. Sy 21. ‘Transparency’ >t It «ifererat zeat:
5. ‘33 e owd <@ Wt Mt & e A. &l B. wiogwel  C. w5zl
A. F=el B. ta*4 C. wify= D. HARAETS] E. =itz™s
D. Tgw E. sz 22. ‘FoI9R" At o FHteEs:
6. 0 i’z s == 71? A. M ofE ST B R wEwe ClgwEE SiRem
A. TS B. =44 C. frs=dt D. g &% == E. wizg qmEe
D. T E. =mif® 23. ‘IXS[’ FAAGIG (FI BCW A6S?
7. ITASIO AT 17 A. IF9qe B. w@iqe C. %=qe
A. =t B. vl C. trad D. wf@rss E. A3
D. It E. i@ 24. ST SR BT (FECS B ()
8. “mw Cpros Bt TN, Apros WS 5 |” (I T6A19 T S? A R e B. @S sitae C. w8 1w
A. QRS o= B. femw wemi C. Afzrss &= D. g5t (ivit®d B, (W51 Iweeiwa
D. 43T g E. 9%a1&7 g 25. “fareR v B9, F g, o= o= " 310 FHRTE’
9. ‘Hiferot SHITER' | (FIF 43 q199? I IRT @ wSHF &7
A. @fs3ss B. & C. SR A. IR J6E (qd B wifelg ferwmm
D. ¥ E. fois C. =7 THE (i D. (2074 T9i0e
10. ‘Siooies” *=oa AfRfEcem: E. ftem 3974 o
A. =i + “g B. sy +oit@  C. Sl + #ii€ Answer Keys: 1.C2.C3B4.C5D6E7B 8.C9B
D. w7 + &1 E. 9+eee I10E11.B12E13.A14C15.A16.E17B 18.A 19.E
11. ‘o’ (& ANES? 20D 21.C22.C23.A24D25E
A. %% B. 945 C. S@rirer ENGLISH
D. 3gdiiz E. ©9%n o=oes Read the following passage and answer (Questions 1
12. ‘T S’ IS @R through 5):
A 58 B. w95y C. w3l Joy Card and Printing Ltd, a local company made around 4
D. 3=f¥e E. <& million SIM cards since 2011 at it own plant for the
13. 1S forey g6- 5T ) country’s mobile phone operators, a testimony to the
A. el B. oz C. =z capability of domestic enterprises. From 2010, the
D. wsf E. frw company also supplied 40 million scratch cards used for

recharging balance in mobile phones. This local initiative
was able to gain confidence in both national and
multinational cell phone companies. Joy, a 200 person

14. ‘F=S" g Aot 432 It 9F BT ) F9e?
A. TeAE e B. ffeeewfze sqe  C. 919t e

D. &x (e E. AT o strong company with the capacity to produce 2 million

15. 96 3= ’[‘fww GF FAW T SIM cards a month, imports ABS sheet and then installs

A. 9T TEEl B. 3¢t wmret C. 7ers T chips for making the SIM cards. However, the company

= D. s ¥ E. 2ifear sl today i1s faced with a setback due to poor custome
U 44
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acquisition and the operator’s unwillingness to buy the
SIM cards from domestic markets.

1.

The passage is all about -
A. The 1nefficiency of local mobile markets

B. A local mobile firm’s experience of SIM production

C. The competitive nature of mobile banking

D. Lack of govermment inttiative in SIM production

E. The structure of the mobile market in Bangladesh
‘Plant’ in the passage refers to:

A. aplace in the ground B. something inserted
C. a perennial product D. an industrial site
E. a large estate for crops

‘Testimony’ in the passage implies:

A. hypothesis
D. glamour

B. test case C. evidence

E. denial

One drawback faced by the company was:
A. overproduction B. under production SIM sets

C. regulatory problem D. lack of interest in local SIM card
E. lack of government support

‘Acquisition’ in the passage implies:

A. lacking B. loss C. gaining

D. dearth E. want

Choose the correct sentence (Questions 6 through 8):
A. It I found a bag in the street, I will take 1t to the police

B. If I found a bag 1n the street, I would take it to the police.
C. If I found a bag in the street, I took it to the police

D. If I found a bag in the street, I'll be taking it to the police
E. If I found a bag in the street, I have taken it to the police
A. He used the phrase you know so often that I
finally said, No, I don’t Know

B. He used the phrase ‘you know’ so often that I
finally said, No. I don’t know

C. He used the phrase you know so often that I
finally said, “No, I don’t know

D. He used the phrase “you know” so often that I
finally said, “No, I don’t know.”

E. He used the phrase “you know™ so often that I
finally said “No I don’t know

A. Why you have done this?

B. Why did you have done this?

C. Why have you done this?

D. Why you had done this?

E. Why did you done this?

Fill in the blanks with appropriate preposition (s)/
word(s) [Questions 9 through 14]:

9.

The doctor suggested that the patient------- weight.
A. should lose B. would lose C. loss

D. lose E. lost

10. Our friends will ------ for two nights.

UccC

A. put us up B. put us in C. provide us 1n

D. provideusup  E. provide after

11.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22,

23.

24.

The ozone in the upper layers of Earth’s
atmosphere is beneficial, ----- animal and plant life
from dangerous ultraviolet radiation.

A. withdrawing B. thwarting  C. displacing

D. reflecting E. protecting

. Once the audience began to applaud and laugh at

his jokes, Monem felt more --------- .

A. professional B. ambiguous C. uncertain

D. relaxed E. uncomfortable

We drove------- the river for an hour ------- turned
north before we reached it.

A to, and B. back, when C. towards, but
D. 1n, to E. on, so

There is --=-«--- in one of your front teeth.

A.afiling B. acavity C.decay D.food E. growth
Which one is the correct spelling?

A.scaning B. stoped C. dyeing D. recomend E. buget
Which of the following pairs expresses a
relationship different from the rest in terms of
their parts of speech?
A. Convince-Convincing
C. Vary-various

E. Fame-Famous

B. Persuade-Persuasive
D. Economise-Economic

Synonym of ‘paradox’ is:

A. exaggeration B. hyperbole
D. invective E. poetic device
Antonym of ‘tedious’ is:

A. boring B. monotonous C. tiresome
D. refreshing E. dull

‘Out and out’ means:

A. not at all B. someone from outside

C. to get out D.tobelast E. thoroughly

C. contradiction

‘Pediatric’ relates to the treatment of:
A. adults B. women C. old people
D. children E. men
Identify one of the underlined words or phrases that
must be changed in order for the sentence to be correct:
Joseph'’s storv is a clinical poriraval of man as an animal

A B C D
trapped by the fear and hunger.

E

Which do you think is the nearest in meaning to
‘proviso:
A. sanction B. substitute
D. supply E. stipulation
Antonym of ‘dogma’ is:
A. doctrine B. principle
D. unbelief E. rule
Synonym of ‘apex’ is:
A. base B. zenith
D. low E. floor

C. directive

C. tenet

C. bottom
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25.

UccC

“To smell a rat' means:
A. to smell a bad smell B. to suspect a trick or deceit
C. to misunderstand  D. to have dirty ways

E. to be bothersome

Answer Keys: 1.D2.D3.C4.D5C6B7DR8.C9D
10LA11.E12.D 13.C 14.B 15.C 16.E 17.C 18.D 19.E
20D 21.E22.E23.D 24.B 25.B

ACCOUNTING
GF0 (BTG v,000 BIFT (1 AR IR T4 ©Y BIFt
CIGTE 496 WERE 41 ZCACR | 77 T b 000 (B
e o T4 zraR | Are-we TR 93 Svdeim @3
F! &eF *IteR? (A motor vehicle was purchased for

Tk. 8,000 that includes Tk. 36 for petrol. The total
payment of Tk. 8,000 was debited to the motor
vehicle account. What was the effect on the profit
and loss account and the balance sheet?)

A. FS @R Wb B R F1A 7fe @z v 5 (Profit
overstated by Tk. 36 and fixed assets overstated by Tk. 36)
B. 7If® @%E ob bR R FE FE e oy 6 (Profit
overstated by Tk. 36 and fixed assets understated by Tk. 36)
C. #ife IAZ 9b O R T e @eE oy o (Profit
understated by Tk. 36 and fixed assets overstated by Tk. 36)
D. @fe IR W O G & e e vy oF (Profit
understated by Tk. 36 and fixed assets understated by 36)

E. 71t (@ e[ #itel [« gl =@ @reE ov 69t (Profit
not affected but fixed assets overstated by Tk. 36)
tﬂﬁﬂﬂ'ﬁﬁ?mﬁﬁﬁiﬁm 29,000 GBI, AT
TgW 29,000 GIFl, ILET [THFT Y0000 BIF @I TH
TR B0 % TS @ AT [FTEw 7@ I_EE @9 IS
G1=F1? (The records of a business organization show

beginning stock of Tk. 23,000, stock at the end Tk.
27,000, sales for the year Tk. 1,60,000, and goods
sold at cost plus 25%. What is the amount of
purchases in Taka for the year?)

A. 3,20,000 (1,20,000) B. 3,28,000c0 (1,24,0000)

C. 5,2v,000 (1,28,000) D. 5,90,000 (1,30,000)

E. 3,903,000 (1,32,000)

‘qia a9z Toig WWE 2w T AfTs ez “we
e & it A Smesys)? (The method

of maintaining allowance for bad debts as a
percentage of 'credit sales' is consistent with
which of the following accounting principles?)

A. g Aife (Consistency)

B. awy difs (Materiality)

C. g1 «ifs (Disclosure)

D. fieresad wife (Matching)

E. gierei «ifs (Conservatism)

AR TR (4T A it P o @R w=m 75,
J 437 T 2@? (An amount received from Robin
has been credited to Peter's account, what type of
error is this?)

A. I *w[K €4 (Errors of Omission)

6.

7.

8.

9.

B. 4femimgfes w1 (Errors of Posting)
C. #ifa=@= & (Compensating Errors)
D. #fifeq &= (Errors of Principle)

E. @&<df9 €43 (Errors of Commission)

CRAREERmIE T ¢t Tea: (Dividend paid to
shareholders will:)

A. 7@ e 32 9T FAE (increase assets and
decrease liabilities)

B. 3=if@ a9 w32 Wi 9wid (decrease assets and
increase liabilities)

C. 3@ @ ¥ UEAERSEama 79 F9@ (decrease
assets and decrease shareholders' equity)

D. sife F1 @32, CREREMREIME g I (decrease
assets and increase shareholders' equity)

E. ¢RI Y 9 g9 #1%td 711 (have no effect
on shareholders' equity)

s weits fadftas o s =it Rsat = g3 12
(Which of the following is not considered in
calculating the quick ratio?)

A. 7#1v 519 (Cash)

B. &+ f&519 (Account Receivable)

C. wiaw gwe 435 (Prepaid Expenses)

D. 5§ 27 (Inventory)

E. &t &7 (Accounts Payable)

e AT =i [39its it @@ w17 (Which of the

following is not reported in the Income

Statement?)

A. =® 8 (#FAFIR (Gains and losses)

B. ¢ feifimm (Share premium)

C. 574 490 (Income tax expenses)

D. <& 3181 (Sales discount)

E. wi#ifapi=e 41® zre =@ (Non-operating income)

@7 i W& 7==1f&? (Which of the following is
a lictitious asset?)

A. 7% (Goodwill)

B. T3y 6% (Trademark)

C. «1df® <49 (Preliminary expenses)

D. =122 (Licensing)

E. /%7186 (Copyright)

P AT (S0 8 AFA WIF G AP TF oo 20
HIEWILY 3= &% z@? (If all assets are debited
and all liabilities & equity are credited, what will
be the nature of the journal entry?)

A. 2fafes witawt 7799 (Opening entry)
B. sttei«it witawi fade (Closing entry)
C. =3l witavt 7199 (Adjusting entry)
. e wcaml 4w (Rectifying entry)
E. g4 witamif=d= (Transfer entry)
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10.

11.

IR B weT I IR FAfER Tolw 41 A
ZA? (Depreciation is charged on which type of
assets in business?)

A. vafs 3==if@ (Current assets)

B. w=ie w=#ife (Fictitious assets)

C. s==+ra 7=+f& (Intangible assets)

D. 314 7=+{f@ (Fixed assets)

E. 37&*® 377 (Personal assets)

Fwie e Ed Sowe ww? (Which is not an
element of cost of production?)

A. &er% 351 (Direct material)

B. #tar® 361 (Indirect material)

C. #41 feear fraifere cuibsaa ==@ea (Depreciation of
motor van used for distribution of goods)

D. ger= wgfd (Direct wages)

E. G Sp+fitabtas @o+ (Salary of the machine operator)

12. o 1 WG’ FtvEs: IagaeEey 55?7 (Which of

13.

14.

15.

UcCcC

the following is generally not an item of
adjustment?)

A. =4=ifar=ife® 496 (prepaid expenses)

B. 93 9490 (accrued expenses)

C. 930 9rer? (accrued revenues)

D. @& 9E® (revenue earned)

E. sAfers A& (unearned revenues)

e @A AT A w21? (Which of the
following is a part of the summarization process?)

A. fofeead (Identifying) B. Rt==d (Analysing)

C. witawt ford= (Journalising)

D. @sdife ggesad (Preparing trial balance)

E. 4fsu@g® T2 (Posting)

w59 A%6TS TrR: (Accumulated depreciation is:)

A. 936 FG1-7=%% [ZA] (a contra-asset account)

B. w=fG 3496 29719 (an expense account)

C. a3t Mt %9 %319 (an owner's equity account)

D. @36 =9 ZA[ (an asset account)

E. 4= vy 23119 (a liability account)

OF B T AFEHT /50, nfYo *ITS v,ooo BIFF A4 T
F@| d000 BFE A (FFSTST TW @I [F BiF
FAGIFEA AT T4 A=Y T2 g, SR g At
51518 57 (A business firm purchased goods worth

Tk. 6,000 on credit terms of 2/10, n/30. Goods
worth Tk. 1,000 was returned and the remaining
amount due was paid within the discount period,
what would be the amount of discount in Taka?)

A. 330 (120) B. 300 (100) C. voo (600)
D. ¢oe (500) E. 3,00 (1,800)

16.

17.

18.

19.

20.

s 1A fR=fes gt wrsiw <=5 7@? (Which of the
following is not a deferred revenue expenditure?)
A. Rr=rg 2jpfeq crmreard (special type of repairing cost)

B. 939K E+189 <59 (expenditure on shifting of a factory)

C. 3157 ©#9 3w (interest on loan)

D. @ +I6t= <=5 (expenditure on formation of a company)
E. 3% 9tEa f<@i+i= 496 (advertisement expenditure of
a large amount)

TPFS BF IRF FoF WW@m T AT o F ofg
%@? (Which entry will be passed in the bank
account for cheque issued but will be dishonoured
by bank?)

A. 125 2o cefqE, sitewmis f2o1e (&St (Bank a/c —Dr.
Payable a/c —Cr)

B. wime & (w5, Wi &9 @6 (Drawer a/c —Dr.
Bank a/c —Cr.)

C. 7T 79 (uf4n, mmia &9 (@fes (Bank a/c —Dr.
Debtors a/c —Cr.)

D. Wi TR (s[5, 75w ZA[ @%b (Bank a/c —Dr.
Cash a/c -Cr.)

E. @ «=i§ (737 &gamee 72 (No entry is required)

a5 2fEHima wWifds w2gt 1 IF &= T3: (Financial
position of an organization can be known from:)
A. 7°Iv @11z 9= (statement of cash flows)

B. T%%7@ (balance sheet)

C. wiferpiat g f"a=ell (statement of owner's equity)

D. =re-teesiEAa (profit and loss account)

E. wu-fe@a &3 (trading account)

e & NIt W wues st 9 2@? (Under which
principle, adjusting entries are passed?)

A. fiereqd Hifeq &+ (as per Matching Principle)

B. siig «lifes & (as per Consistency Principle)

C. <73 #lifex &= (as per Cost Principle)

D. wi=jieTet «ifeq &0 (as per Conservatism Principle)

E. a3y «iifeq &= (as per Materiality Principle)

J03Y HIA FAF TR &, 97 F=94fE ¢o,000
BIF TR 992 WIN So, 000 GIFT FCACE | €T T JiEF (=1
Ty @@ (During 2011 Square Pharmaceuticals

Ltd.'s assets are decreased by Tk. 50,000 and
liabilities are also decreased by Tk. 90,000. Its
owners' equity, therefore, is:)

A. 80,000 (%= (increased by Tk. 40,000)

B. 3,80,000 F0E (decreased by Tk. 1,40,000)
C. 80,000 % (decreased by Tk. 40,000)

D. 5,80,000 (%% (increased by Tk. 1,40,000)
E. wi+ifqaf® atat (remains unchanged)
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21.

23.

24.

UuccC

frafafre surmR 7o b Ren ¢ 6 7w o bt 7@
=t o ==

A S5 (1.16) B. o.5v (0.96) C. 0.v8 (0.84)
D. 512 (1.2) E. .02 (1.02)

&S =ITi79 T vo,5o0 BIFA, (TG TAF 95,000 BIFT @R 25 foggz &= o116 c=Twea 78?7 (Which of the following

5= 435 9s,¢oo 5=t | (Calculate sales revenue

and net income in Taka from the following
information: Cost of goods sold Tk. 83,900; Gross
profit Tk. 79,600; Operating expenses Tk. 39,500.)

A. ¢8,900 € 89 oo (54,300 & 43,800)

B. 3,20,000 8 bo,c00 (1,20,000 & 90,000)

C. 5,9u,¢00 8 3,83 000

D. b, v9,¢oo 9 80,500 (1,63,500 & 40,100)

E. ,v9,¢00 9 5,338,000 (1,63,500 & 1,24,000)

e s o e 3fifs @wr? (Which of the

following is the expanded form of accounting equation?)
A. sfeiir=aftes T+ e SrerF+SiE+ 9/

(Assets+ Liabilities = Owner's capital + Owner's

events is not a transaction?)

A. fz513 <itee weifarhifes @« (Unpaid salaries for the
accounting period)

B. CRWA (e WH ¥ w@Ee IR0z, 8 Aiem I@E
(Service revenue earned but not received)

C. Wﬁﬁﬁ (Increase in the value of inventory)

D. y<Garg <12 263 7 (Merchandise damaged in accident)

E. &R SR s@-S9ws 19 FI0ed {9, [ 2187 it
{8 “fr=lis =1 =@ (Utilities bill received for the
period but not paid)

Answer Kevs: 1.A2E3D4B5E6D7B8C9.A
10D 11.C 12D 13D 14.A 15B 16.C 17.E 18.B
19.A20.A21.D22D23.C24D25.C

drawing+ Revenue + Expenses) [FI=1H [NTS (PRINCIPLES OF BUSINESS)

B. sWM=vr+fted Toa + s SreEeesE- W 1
(Assets = Liabilities + Owner's capital + Owner's
drawing+ Revenue - Expenses)

C. ™M=mA-NfEed TRa - AFEEe SrEHa-SE- I5F
(Assets = Liabilities - Owner's capital- Owner's
drawing- Revenue- Expenses)

D. FW=vR4aifed e - W SreEESE- a5
(Assets = Liabilities + Owner's capital- Owner's 2.
drawing+ Revenue - Expenses)

E. 7 m+am=aftes Toq - W] Sreea+Sy- Y
(Assets + Liabilities = Owner's capital- Owner's
drawing + Revenue - Expenses )

TRREeT ¢ [ S g9.99. e srwm - 3.
M wviEs «ifFars wiers g2 feges F@? (Which
accounting principle is the basis for recording

revenue in N.S. Corporation's books of account
when it iIs earmed iInstead of when cash 1s

collected?)
A. a@fszi%s amm (Historical Cost)

B. s o= (Full Disclosure) 4

C. 51 %igfe (Revenue Recognition)

D. <5ifE= 78l (Business Entity)

E. s%¢*erel (Conservatism)

arorE 1. @7 o) s 200 S s Ives faafirs
FRER SR e o = 5.
A&7 do,00,000 BiFt; F&HT 45 3,2¢,000 GiIFT; G
AT T 9%; AT 4T6 Go,000 BIFY; ©Y/53/308)
S AANE TGH bo,ooo GIF 8 WY/d3/0d0 TIEFHR
A€ TgW Yo,coo BIF | BF W03 AW TGRAT
ey wan % Aie? (Operating data for Apex
Ltd. for the year ended on December 31, 2011 is
given below: Sales Tk. 10,00,000; Selling expenses 6.
Tk. 1,25,000; Gross profit rate 30%;
Administrative expenses Tk. 350,000; Ending
inventory on 31/12/2011 Tk. 80,000 and Ending
inventory on 31/12/2010 Tk. 60,000.

What is the stock-turnover period in months for
the year 2011?)

zsdq Hifered @@t (7 (Who is the promoter of
Hawthorne Studies?)

A. zafa Tiw= (Henri Fayol)

B. snssfeafer (Mckinsey)

C. zf7 firremtsf (Henry Mintzberg)

D. u% sf3e =@ (F.W.Taylor)

E. @=167 118 (Elton Mayo)

FFeEE FEe s wieE? (Which shall come
first in management rule?)

A. (@94 (Salary)  B. af*r=el (Training)

C. =457 (Selection) D. =01 #e@z (Recruitment)

E. stw@rs (Promotion)

& IR «ife 79?7 (Which is not a principle
of management?)

A. =15t @ieirel (Academic Qualifications)

B. feamifafes (Discipline)

C. #pi<=t (Order)

D. = fJere (Division of Work)

E. i< (Remuneration)

SRS T 97 I e e (Deciding in
advance what is to be done is called:)

A. 159 (Organizing) B. =% (Planning)

C. 7= (Controlling) D. &gy (Leadership)

E. 9o (Directing)

AfSBITTR Aorifie Gy T99 FeATH S Fat T I
SitF I9: (The expression of expected activities of

an organization stated In numerical terms is
called:)

A. st (Budget) B. =1 (Objective)

C. @ (Strategy) D. =155 (Goal)

E. #faf (Policy)

FIRG RS E FOTHE Twzzs 79? (Which is not an
example of organizational structure?)

A. F7EARS AeieA (Line Organization)

B. =rdfsfes Jwton (Functional Organization)

C. ReafAes g a1 121e+ (Line and Staff Organization)

D. caG3esita (Matrix Organization)

E. (awife 9551+ (Scientific Management) is



1.

10.

11.

12.

UcCcC

@ @ FroAa AR TS A FRwW &N AT
wtg? (Which of the following organizations 1S most
similar to military organization?)

A. s@=tafds Aeien (Line organization)

B. srfefés #eid (Functional Organization)

C. 5= iweiea (Matrix Organization)

D. <6 Aie (Committee Organization)

E. 5"eiaR% ¢ #ng @3 75127 (Line and Staff Organization)
AeEert By T 8 e By ¥ wEE 9o
Aetmifis Iroa =i F? (What is the name of the

specialized bank formed after merger of
Bangladesh Shipa Bank and Bangladesh Shilpa
Rin Sangstha?)

A. fRfefq.«s (BDBL) B. s fe.«s(BDDL)
C.fsfafqa.vs (DBBL) D.fufs fa.9s (DDBL)

E. f6fi.fa.9as (DCBL)

OB e =it s = {9 zre I=@ 300,000
OISl IR FECR | S TEAFS SR JATFE [PASH FS
i<t &5t F94@? (The workers of a mill earned a

profit of Tk. 1,00,000 from their cooperative shop.
How much in Taka will they set aside as a
minimum in reserve fund out of profit?)

A. ¢,000 (5,000) B. So,000 (10,000)

C. 3¢,000 (15,000) D. 20,000 (20,000)

E. 2¢,000 (25,000)

HRYF (oA, 9 w41t Firen =) Rvww &= 37
FAMIE S FAN LR Fgare x? (Which type of
partner permits the usage of his or her goodwill in
exchange of benefits (salary, money or profit-

share)?)

A. sHrevizts wiAivig (Quasi Partner)

B. =3 we=imia (Working Partner)

C. Aifrs we=iwia (Limited Partner)

D. ff&w we¥iw@ (Dormant Partner)

E. =@ we<ivi@ (Nominal Partner)

fiaR =l s ¢ 2 frEe T3ge @ 717
(Which of the following mechanisms is not used as a
tool to control imports and exports?)

A. =13 993! (Licensing)

B. @& 9itai9 (Imposition of Duty)

C. 151 =@ (Fixation of Quota)

D. s15##9q (Freight Note)

E. tamaf*i= 11 frmae (Control of Foreign Exchange)
faam = 7= Fig? (Which of the following is a

labor intensive industry?)
A. 93¢ (Pharmaceutical)

C. g=tg+t (Cosmetics)
D. tefs ¢vi*if= (Readymade Garments)
E. ie617 (Computer)

B. 7@ (Fertilizer)

13.

14.

15.

16.

17.

18.

19.

FIAEE TFE ‘Ao’ F q@Aw SoiwEnt giE E?
(What type of utility is created by standardization
in business?)

A.73se (Time) B. &bE%s (Promotional)

C. =7sf® (Quality) D. f[@ase (Sales)

E. 9% (Form)

@R R %< FaEee weiss =iws? (Which of the following
is a qualitative method of credit control?)

A. &ers fade (Direct control)

B. (@517l @@ 959 ¥4 f@d (Consumers credit
regulation)

C. 9% d4rIq =Wifew 2ae #feqeq (Change in margin
requirement of secured loans)

D. 0T [ #Fe (Variation in bank rate)

E. (<= g% (Moral persuasion)

e e wafdfeps wEfEm %4? (Which of the

following is a non-commercial documentary credit?)
A. goiF #q (Letter of credit)

B. ¢i-w¢ra (Pay order)

C. @51z 515 (Bank guarantee)

D. wisesei=ig (Bank draft)

E. stmie 6 (Circular note)

A2y A FEsEE €39: (The ownership type of
Prime Bank 1s:)

A. @3 qifq@i (Sole Proprietorship)

B. we#iwifq <sw@is (Partnership)

C. 413t®b 1. (Private Ltd.)

D. #g=14l (Government)

E. =iafére 1. (Public Ltd.)

A AN CFGa JIEFA (490 57 (@ wiasi Tex?

(Which of the following is the best altermative
security to banks for giving loans?)
A. >4 (Shares)

B. F¢9@ (Debentures)

C. 16 8 35 (Note and Bond)

D. &ea9d (Letter of Credit)

E. ZrH wiaere 9w (FDR)

LI (I 4IT R YACS e “f2lea e =3
=1? (For opening of which type of bank account,
no identification is needed:)

A. 59 &) (current account)

B. %3 &3 (savings account)

C. =¥ 2517 (fixed account)

D. fat=4 veife {23117 (special current account)

E. ‘-‘1‘531'213‘.3’! f&s@ (house savings account)

e IRF TR 7 4w, 9 77Iz: (If the bank rate

decreases, money supply:)
A. 3% A (increases)

B. w+{f#afe® <t (does not change)
C.ZF 4@ (decreases)
D. @ <54 (fluctuates)

E. faefy =ster 7% 719 (is not easy to determine)
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20. fAee o Ahwfer [ A 4ot 8 e Teng

21.

22

23.

24.

25.

UuccC

&==fw? (Under which category of insurance,
both
companies?)

A. sz-fT=1 (Co-insurance)

B. ##:/@ (Re-insurance)

C. %+ /9= (Joint insurance)

D. v=ifs fa=it (On-goinginsurance)

E. ¢3! fast (Group insurance)

'Jettison' IS It @RIE? (What is meant by
jettison?)

A. ANZH<99 (goods reduction)

B. #¢3 (ar312 (goods loading)

C. 23 Z=Ea9d (goods shipment)

D. <1 ft=®% (goods throwing)

E. 743 fafm@ (goods exchange)

a7 = | =t sz wwge w127 (Which of the
following is not included in insurance contract?)
A. =< =gl @ [t (utmost good faith)

B. f&=itiey ¢ (insurable interest)

C. %fo%ad (indemnity)

D. 9199 @A (business expansion)

E. =629l 174 (proximate cause)

'Causa Proxima' @3 9< 1?7 (What is the meaning
of 'Causa Proxima'?)

A. Fraie <199 (adjustable cause)

B. 32 <194 (cause of risk)

C. sbex 3@9 (nearest cause)

D. =fe774 (indemnity)

E. wig#fifes s@wi= (proportionate contribution)
A A it e Tegie e = 12

(What is the abbreviated name of the regulatory
body for insurance companies in Bangladesh?)
A i3S ey (IDRA) B. =g oy (IDA)

C. Wiz w39 (IRA) D. =g 57.fe.«9 (IRDA)
E. a.wi3.fE (AID)
RS EhEwe e R [REa® ‘=hgs'? (What
is 'limited’ in a public limited company?)
A. *IR5™E3 R (number of directors)
B. ¢*fIa 747 (number of shares)
C. 351941 (capital)
D. c[a<ramitnd F43 (number of shareholders)
E. ceiwstzreiseaq wid (habilities of shareholders) |

Answer Kevs: 1. E 2D 3. A 4B 5A 6 E 7A BA
OCI0EI1IDI2DI13.CI14E I15E 16.E 17.E 18.C
19.A20.B21.D22.D23.C24.A 25 E

the immsurer and Insured are iInsurance

i YR wEg R0dd-203

AY: Y TO1

7

10.

11.

12.

13.

14.

15.

16.

17.

18.

(156 318-3)
LT
‘TR A e oream T = et &t 9 FAR
- ‘<t «t' -7 7RG Wiyt

A. 19[S 419 B. g=irge 34
C. IS Q78 D. g=ieiw
The fire is out. IO INE NTIM
A. e BT Aoz | B. wiew s oftg | C. Sies @39 98 |
D. q1%%a wife | E. sitew fergfag |

gD’ =it wef

A e B.efimy C. gt
‘T’ *ItrE g

A .=y B.%w® C.®m=«a DSl E. M
‘Agora’ *ItsE wd

A w4t B. A9 C. o D.q&w® E. w@Ew
TR 1507 TS FS TN WITH I I ZTER?

A. @A B. 25 9+ C. 95 9%2

D. 2w s q2= E. & @3 351

F1F FoAE n ‘Ffd e bt & Fw@'?

A. Tfamive B. efoa  C. sfamiva e

D. ITAFIER E. SIS 900904

&I 9FTF *?

A. T B.wm C.w@ D.<rw E. 354

‘FEEIT IEIGAEST ST F(F ©IFG AAFEAR FCE0
v < gt For et weimms JEe <
= |'— BfeTs FTe IS Sraa TR0
A. fom B.sm C.9v D. =
FCATBIES *=rgets 7
A. fost-5i

D. Stoa-#jet

i featds *=?
A. oie B.woad C.feawm D. ¥ E. Io%
@IS B’ Tomf fog (mtewm J3F?

A. B B.Beige C. Eoferr D. Beifafq E. o
*FE S AT g€ \ReiE I
A. 39 B. @@w C. wile
I SIS STt SfE5s *1w-
A.-s@fm B.w#H C.wed6 D.Sreaw«  E. 69
‘eTi’ (i AR BrigaT?

A. %% B. oy C. oeo7m D. 9gdifz
TYPAVCATN FHYTICAT At

A. siffgarl B. #ivzife C. wivgim D. Ssege E. dww
‘Y -7 oS ==
A. gz B. wi=
(FI0 OF JAE?

A sfedg B.9erHl C.e54 D.fwse E. <
a0

"l‘f’l’lﬂ : 30

E. «Ffdsm

D.2ps  E. mwE

E. 3 T®

B. =m-w] C. wif*-r=f

E. 339

D. o<t E. Gifaae=

E. fan

D. == E. vgd

C. =zl



19.

20.

21.

22

23.

24.

25.

UccC

A3 B.oie  C.Feemi D. 5
‘WI-FAG FFE I T Tm &I o917
A. FiTETey &= B. =i C. TR g
D. ¢35 Teril Siited S E. w4r3

E. 3=

A.s@Em B.¥ee C. Fieeww D. 513%@ E. Tt
‘Fifore FIHTe 49 951 3731 --- G ‘FIoTe Foe’ F9

e 71RES?
A. Feesel B.fem C.swife D. e/« E. sierael
A. 3rEfest B. sasifast C. @9l D. @nifd E. 3$3911%

‘FreEer’ FESH &I 10T T SER T TER?
A. 39 B.7iz C.%ges D.wge E. <@ciH
TFI0 &= =7

A.Sg B.wem  C.4fw D. i E. &

Answer Kevs: 1.C2.A3D4D5D6.E7.C8C 9D
I0BI11.BI12B 13D 14B 15D 16.A 17.C 18.A 19.E
200A21.D22.A 23.B24.C25.C

ENGLISH

Select the lettered pair that best expresses a
relationship similar to that expressed in the
original pair: EXPIATE: GUILT

A. canvass: support B. adorn: appearance

C. testify: conviction D. correct: error

E. preach: conversion

Pick the option that best completes the sentence (Q. 2-3)

The cyclist —— he crossed the main street.
A. looked with caution after

B. had looked cautiously before

C. was looked cautious when

D. looks cautious when

E. had looked cautiously when.

Neither Jane nor her brothers — a consent form
for tomorrow's field trip.

A. need B. needs C. is needing

D. has need E. are needing

The word 'Gravity' is

A. anoun B. an adverb  C. an adjective
D. a verb E. a gerund

Identify the incorrect spelling

A. contamination B. conjunction C. connection
D. commotion E. conotation
The opposite of 'inflation’ is

A. strangulation  B. stagflation
D. deflation E. expansion
A mediator is

A. a thoughtful person B. a middle man
C. someone inclined to meditation D. a media expert
E. a settler of disputes

C. depression

10.

11.

13.

14.

15.

To markdown prices is to

A. make them remarkable B. reduce them

C. deemphasize them D. make them outstanding
E. depress them

Fill in the blank

—— Bangladesh has many new growth sectors,
foreign investors are coming here in great
numbers.

A. Why

D. Ever since

B. As aresult C. On account of
E. Because

Choose the correct word for the following
sentence: The teacher — student evaluations were
the highest won an award.

A. which B. whose

D. who E. whosoever
Choose the correct verb form: '"Central bankers

C. whom

—— themselves ready to tackle the problems
likely to be caused by falling share markets."

A. had shown B. having shown

C. have had shown D. has shown E. have shown

. Choose the correct options

The government has extended a warm welcome

—— the visiting delegation.
A.to B. for C. with
D. among E. through

Choose the correct verb form: Marine biologists
are concerned about the effects of untreated

sewage that — into costal water.
A. flow B. flows C. is flowing
D. flowed E. flown

Read the following passage carefully and then

answer question 14-18.

Oil markets are full of uncertainty. Asian
demand is booming and doubts abound over the
ability of supply to match the world's appetite. What
goes for crude oil also applies to the stuff squeezed
out of vegetable matter.

The price of frying food and cooking has rarely
been higher. Over the past decade the price of
vegetable oils has increased substantially. Like
other commodities, prices hit records in 2008. The
subsequent slump i1s now forgotten: prices are back
close to the peaks. Increasing demand and supply
problems indicate that prices will not go down 1n the
near future.

This passage is mainly about rising prices and

A. o1l markets; B. the world economy;

C. vegetable oils; D. Asian markets;

E. Demand and supply problems.
'Substantially’ in line 5 is

A. an adjective B. an adverb
D. a gerund

C. a noun

E. a participle 51



16.

17.

18.

19.

20.

21.

22,

23.

24.

25.

UccC

A synonym of 'subsequent’ is
A. antecedent B. recent
C. consequent D. current
The passage suggests that

E. existent

A. crude oil prices are rising while vegetable oil
prices are falling.

B. both crude o1l and vegetable oil prices are rising.

C. both crude oil and vegetable oil prices are falling.

D. crude o1l prices are falling while vegetable oil
prices are rising

E. prices of crude o1l and vegetable oils are going to
stay the same in the future.

The antonym of 'booming’ is

A. explosive B. peaking C. slimming

D. shrinking E. growing

Which is an adequate translation of “vsvs Fata12
G = A1

A. All that glitters i1s not gold.

B. Shining does not make a metal gold.

C. Glittering 1s not alone for gold.

D. All that 1s glittering 1s not being gold.

E. Glitters are not gold.

Choose the correct sentence.

A. We have many works to do in summer.

B. We have much works to do in the summer.
C. We have a lot of work to do in summer.

D. We have a lot of works to do in summer.
E. We have lot of works to do in the summer.
Fill in the blanks with appropriate choices.

The government is considering —— a new

infernational airport.
A. to build B. building

D. for building E. that build

Choose the word that is closest in meaning to the
keyword in italics (Q. 22-23)

C. to have built

The bank charges an exorbitant rate of interest.
A. marvellous B. excessive  C. moderate
D. increasing E. fair

It was an indiscreet action on their part.

A. unfair B. secret C. dishonest
D. imprudent E. hasty

Fill in the blanks with appropriate prepositions
(Q. 24-25)

The boy looked — his sick pet bird.

A.up B.over C.into D.on E. after

You can have no excuse — behaving rudely.

A. of B.for C.at D.on E.with

Answer Keys: 1.D 2B3 A4 A5E6D7.E8B9E
1I0B11.LE12.A13.B 14.A15B 16.C 17.B 18.D 19.A
20C21.B22B23. D24 E258

ACCOUNTING
a6 R 9 Rew@a AfFwd q,bo,000 B, HiB
TS T 80%, w6 #Ated TA % | TF ERFEw
F[IAATA AfF1E 496 (operating expenses) F5?
A. 9,53 coo B9 B. 5.59. 000 519t C. 3,5¢,000 B
D. ¢,09,000 5IF  E. 8, 35,000 B
GFH S SFeFia N 9T TRFIE v,00,000
BIFl IR WAE & IR, 9 T 800,000 B NEE
T FHE BT TR @o,000 BIFF FEANE T AN
2R Bl 9% @ | G @ 00 000 Bit o g3,
FIFFE G toco0 B @S 8 R I3gHiw
20,000 BIFt @S SWE TR | AU FFLAT 496 80,000 BIF
wabfez (B ¢ooco Bt EERT FRAML-SHIRE
(factory overhead) &I Fo biet BAHAH Bi6t SRR
A. 9 go,000 5@ B. 90,000 5& C. 9 90,000 GF
D. 3.vo.,000 BIFt E. @ wo 000 BIFt
e wiE Afei A st (firm's ability to pay
current liabilities) =6 o <fa=t= T2 I13?
A. 3Fte0fR Bigel (Inventory trurnover)
B. Jisdltzs % ' (Average collection days)
C. aPw (635 w71® (Acid Test Ratio)
D. ["=aeeis %19 @em (Return on Investment)
E. ¥7%11 wg1® (Profitability Ratio)
TG (6 IAFa (gross profit) *oxat = IreE?
A. &g A 9 B. 490692
C. a1zt WA 419 2w (long term credit)

D. fR@ren §f%eed (Increasing the selling price)

E. #ti74 @@ 9%

fafesaeda 48w (recording point of view) Zts
"ereEwt’ 8 ST - 97 w7 AT 2

A. b SR’ G5 AR RS (related to each other)

B. @32 FRgSE 70

C. ¥fouis fEfeRasara 8 29 weaat

D. 92759 o1t (&F (Wl

E. 1257 ererziog wifds faaadi egten T

Jod0 FAER S HAIE BifEtd wo, 000 BIFE G0 TH &1 TF
T FEFa SwE (effective life) 3¢ IF=1 %% T@
FREFEH AEers (written down value method) 03
R o formes st Tmrs w75 fTaw cr v T@?

A. &7 8,¢oo 51 B. & v,03¢ 513 C. 2 $5,¢9% b1l
D. &t 58,980 B9t E. ¥ Su,20% GBI

@3B A FI-Rered dfedm 39 9 Remsie
aFR APRE @ F9 AT Wi JE AR Tgm
A9 TAAEE (F G HIogA FAE qGW *ICd Ta
P AAR?

A. feicet (LIFO) B. fFwwt (FIFO)

C. #9194 1% (Simple Average)

D. si=ge e (Weighted Average Method)

E. oo+ 1@ (Moving Average)

o2



8.

10.

11.

12

13.

14.

UccC

TG T 7a?

A. izt 90 Tre wiew @29 ¢o,000 B |

B. #53S] [ Aty AFA10ZA &= Hie 3790 91 291 @2
3,600,000 BI® &N (FEHT T |

C. W% wo,000 GBI GeH 1P e <=1 2 |

D. So,c00 BIFE A1 &Wiv T4t T4 g 79 a1 i+ |

E. 9 I ¥, 000 GIRIR Werel S#=ifae (Wastage) |
2S5 WS @t T (bad debt already written
off) (3T TH HLAGHHTSITT o1 G T, T

A. (iR @2 4E B. (AR S C. <95 A0S
D.wm gt Ats  E. e (s e

fotma e o 97 o JEfes wi@wa (opening
entry) e <A

A. 91573, 430, € 7=+f@ (Revenue, expenses, and assets)
B. 7=+ifs, wiw @ wWifermmt g (Assets, Liabilities, and
Owner's Equity)

C. 7=if&, Wiy, ¢ Tif- s SrarF™ (Assets, Liabilities, and
Owner's Drawing)

D. srer, 19, 8 Wi (Revenue, expenses and Liabilities)
E. 7oz, 959, ¢ 46 sffé (Revenue, Expenses and Net Assets)
¥ita T&T voo 51t Rwn R 8 amwe T & fen
o geaee | 9T &sig F1? (Credit sales of Tk. 600 was

credited to sales account and Debtors account.
What is its effect?)

A. (MR TSR (81 5,200 BT 9 TR |

B. wiR fEA1R7 (514 voo Bl W TR |

C. @7 5,300 B! (@ 49t ZENE |

D. fa& Yoo b1t @R 491 ZoE |

E. @ R ¢ (rmmik i Sews o< =i |

TE1oa e 36 (Addition to the plant assets is)
A. arer7 wiielw 436 (Revenue expenditure)

B. cris 49t ¢efab (Debited to a repair expense)

C. @ f&29a ¢uf<t (Debited to purchase account)

D. w=g= wrsiy 396 (Capital expenditure)

E. R=1f¥e qrers erei 96 (Deferred revenue expenditure)
PG 78 17 FoHfER Toiw Jesfas wRef® (depreciation)
414 3717 fefEg=s (base value) =

A. F>ifeq &1 T

B. sff&x %=: 319 =15 (Replacement value of the asset)
C. s=ifieq wmracatsiy I=5 (Realizable value of the asset)
D. sifg (s o “Afar=ifre w2at “Afariices s vicgs Aife
E. sifeft (1 Sy (1 TR ©IF T+ (W6 Sjieigs 7=
(sacrifice of resources)

Y '8 O Y2 WHAWIE GF0 HLAWIAT FIFICT 03 TR AT
S B FCE | 00 AT ) FEIIR ST =T a4
@@ TYSFE bo,o00 8 ¢o,oco BIF FE wWEIE
LW REF TACET BT Yo% W INT @I WY
TfAFE do000 B @S HEF| Wdo A IR0
3,00,000 GIF! (A6 AT I3 | AfF5Ew 476 (operating

15.

16.

17.

18.

19.

20.

expenses) T 9o,0cc BIF 8 I I6 ¢,000 BIFT |
R0d0 R IBAFS TR A T27

A. 3,3¢,000 BiF] B. 3,%9.000 519 C. ,90,000 GBI
D. 3.00,000 OIS E. 3,33 000 19

FEfES wgw %% (Periodic Inventory Method) T53%®
IE g AN Fu-Reaed afednmes qenfiem @i
o =ihent Tz w11?
A. R@Fa-a181 iR

C. W=z 4= e
D. ffers #ittr a5 2371 (Cost of Goods Sold Account)

E. orafes 5w

o< s7eg i 971 =1 =9 (An accommodation bill is drawn for)
A. MIER 2=l (IR &+ (To settle with the debtor)

B. Im<iw afewitra f=dite o Era@ea w0 (To raise
money for a valuable consideration)

C. 4ITR 13318 919 e Ff2 S w0 (To facilitate
business on credit)

D. (31t fenia wret w4 BrarEes &« (To raise money
without any consideration)

E. GrIvi® #i%¥ 47a 919 &0 (To hold up to the date of maturity)
TR o win R stely 2 2 e SRt S
A. sieig ife (Entity principle)

B. @=it* «iifs (Disclosure principle)

C. v=rai= «iife (Going concern principle)

D. tefaiEt wife (Materiality principle)

E. wwitgs «ife (Realization principle)

a6 (FEE FEAW 75w #%fS (periodic inventory
system) S FF 932 OF FI-FFET o0 (FIA (T3
3t Gt (discount) (W8 F WU IS TGS 7AW | (&Fq
sifErers wa /& “t® IEF (cost of goods sold)
AN TA?

A sRies 5w 247 =+ B. FTaiof«l srem =Aely ==

C. dReT 5w 20 FN= A=« TGw A7

D. @ aesiia org 9

E. i« 5w #ic] AiFES Igm «i7 (A Q@

‘Fapraeaa 5 (@ (Festival bonus) crsat €1'--93
IS HIETSE

A. @7 ¢ ©fe] &3 (B[R0, F5viA 23 (@

B. 7w 23 (w6, (@7 @ et &3 (&Fen

C. T7) @ f23 (B[0, (@97 23 (@fen

D. @eA &g (Si{5, T9g @1 18 (et

E. $4@7 @62 719

IRF AET T SEesiE (@e I6F IRT e
REIIER-T e

A. Fowiw 3RS FFIgFa (w1 20S IW TS 2@

B. T4 #IPRR SRR IR (6 209 9 M9 2@

C. 7w IR AFILFA (A AN o FACS A

D. i “AFRE AR G0 (S AL @ A0 2R
E. (It AR va (712

B. @1 2919

23



21.

22

23.

24.

25.

UccC

WEF R @Wi| 49 I CIEE QoM 908 ]
%4 (In the stockholders equity section bonus share
distributed is reported as)

A. ARTES J14w 8 TIPS e ZCO FAIC T
(Deduction from paid in capital and retained earnings)
B. =iz feifsmit caist =i (Addition to share premium)
C. B¢Ig saigs wWer 2re I A (Deduction from
retained earnings only)

D. g Tere A @r =@ (Addition to capital stock only)
E. ¥ige SeH 20e 9 09 G2 JALTa A Q@ =09
(Deduction from retained earnings and addition to
capital stock)

TR orge wersard IRgEE (internal user) F?

A. ORI B. i€l

C. 959g7= (Management) D. Qo 2&fT=

E. 37919 (government)

IIIAM ATSHITAT FAYA oZfqa Fece @@ (Capital
fund of a non-tfrading concern means)

A. @30 faive F1tee o1 ¢ JER 1<

B. @35 A2 <iteta =5iv azd 8 AReiegs =iy

C. a3t M2 sitem w76 ¢ witam “fid<y

D. w5 fawa ftrm s7=ife ¢ witzm Atdwm

E. cut &€ w9 (Total donation received)

@sTitea Y2 (supplies) T 3¢,000 BiF R
TR | W IS (1T b, 000 BIFR AR (supplies) TS
T, O AT Sicaql (adjusting entries) T3

A A <496 (B0 b oo BIF 92 AR (@6 b oco BIF
B. #i212 (R0 b,000 BiFl Ga2 AL 496 (FED r,000 B
C. 311212 (BfRb 9,000 B ¢ AZ2 496 (@HE6 9,000 B
D. =2 <96 (BRG 9,000 Gl «JL TV (S5 9,000 GIF
E. 122 <45 (B[0 9,000 GBIl @2 AAE (L6 9,000 B
9Fo IHET Afedies ERFTEe AEm @ FT=4me
AfTd  32,00,000 31?5[, Aot i Wi Sifeend
3,00,000 BIF! (ITT CAB 5,00,000 BIFH RIGETE | FHIR
e o=t 909 S =@ bv,00,000 BTt I™
FAED BF FARFICA 00,000 BIF TAF Fe" IR
AT G2 THF TBA FF Y, 9¢, 000 BiFt RAfwamt T2 dite
SR BF ARSI TS FEF Srareed At F79?
A.* B. 9¢.c00 5F  C. 3,¢0,000 B
D. 3¢.,000 Gl E. 5.2¢,000 BIF |

Answer Keys: 1.B2A3.C4B5C6C7B8.C9Y9A

10.B 11.A 12.D 13.E 14.D 15D 16.D 17.A 18.C
199A20.C21.E22.C 23.D24E25B

[ S (PRINCIPLES OF BUSINESS)

AT W IR, T T IR T Wi 37 A B |

A. 399 B. witaeea @95 C. FIeE (58
D. #ed=1 E. forR @

‘T @6 Tt 3@

A FfEgs g B.3Rake  C. @I IS
D. RemEe e E. w4 q@dem

10.

11.

12.

13.

FIETACH LI FIAT ---- AT TR 2 gt
s |

A. pd9 B. 593 C. 3593
D. 3558 E. 2003

‘CFeIEE fers e’ (I (AR (FRE TF?
A. TFAEH B. w7 gwae C. =i
D. =9« E. ¥ deirey

I SCTmE SweAmia Tk oy Rfacst s (g 93
I e 8 [IFEAE A G RS FE w17

A. fEFEn s=ive B. 9@ 9=

C. siirevfRrs seivE D. #Affire siimr

E. wtg@d s

FIF TEEE -3 “AfavEat F@?

A. T B. M= C. 5
D. Gt Afgaza E. AFg

TG ITASICAT TA FOGH I F1e IFAE S {09
R IR I IR TS

A. Afssga B. Aeifoesad

C. (7o &= D. =it 2w

E. @

‘Frme sitaw 3w R3S’ g0t w3 (‘Statement in Lien
of Prospectus’ is issued by)

A. Frsifrw B. 78T Siwa=

C. gigrst Ehees @i D. A[Es FRese @i
E. 593/ Jafs

FRZAR &5 &7

A =7 frpeast B. g% ©fgs. (be14

C. Tl Wit D. z7fa cow=

E. 199 St3q9

o™ wz@ &4 F% (The main function of a
Clearing House is to)

A. e Emmee Frifesad

B. Siwie #Aelz @ e e Weo [oad

C. TerecEs (Bfoslierst a1 371

D. TWEEa 4o 31

E. s 31931 et <4

(5F 2 I S (4TF IS AHT T4 A SHEITa o
FEFA A

A. o TH B. v C.5TH
D. 5399 E. v 9

A& IS NS e &2

A. 757 GHHG B. i GiE C.9n3 ™
D. 54 3eliem™ E. [t

WA AT LK (FI IS6 A(5F 7H?

A. ST pfe wa=ng fafde oo 23 |

B. wAil BItfE fasa qayeiss =7 |

C. IFMI€ TIRR (R & Ao QWi IMe=o 8
AR SO Wi AP |

D. aoEs wHmE O MfASIR R TS (FIT ATsd
b ZWER FACS AE |

E. s=9= R 71 S@s @i afe a3t semid FieE

I 20O A |
54



14

15.

16.

17.

18.

19.

20.

21.

22

23.

24.

25.

AT FH GIEH FIIITS-AATSRIAY 8 IFTTS FOF
I FIE FACS B | AR ST GAiei=H-5g Sgafa
ATFCA @ FA[ I YA TS TGS FACR!

A. 5| B. Feidst e C. Iifee
D. w9« A E. SWrgl? e
Fifafens I IO T

A. T4 T B. ¥ fmd C. diEsma 9w

D. awf= @[ FEe E. [ Frad

G0 L12reh ARG @i oo i BfEt er?

A. «ft 5157 S90S INATF ATSTH AETA ST T |

B. (19 @R SN S AR e [0 @
@A 936 [Ead9a 3 a0 24 |

C. @3 T3 AABEE FRATF fomer 2ABrEa 2R 29 |
D. @39 U9 SQItY TIWE 391 Y Al |

E. 9199710 ©F 9414 & SAa0Ed Jurosid ¢2te 2@ ¢

RS Pren 2 ez A0S 2 |

A1 A1 Y (A 777 TraE @-FiEe Swee of -
A. o=l g B. Seomedl Mg

C. &= g D. gew= g E. it forg
‘Tt FAFEH (GTTEE0) W AN g

A. S5b8 HAA B. 3sve it C. S558 AA
D. yabe AA E. S5a¢ AA

=16 (5¢F7 °r% 7a? (Which of the following is not a
party to a cheque?)

A. TR B. Witma1
D. SqEmvasEl E. 479
F TR0 I Rz 35" T AHTs?

A . ARFoegka  B. 34 Wi C. fogs [reifan
D. veife wzfa= E. “facifqe geg=

A. 9% TifFEFER IR B, QWS 99w

C. @ AR A" D. #ikES FRes @i
E. =iy Afqf®

fwred arifeearcr s R It www
= (AT AT U |

A. TR e = B. =@ &g (afee  C. wi=i=

D. “nfee b E. GURt6# (01K

G T s JRfey F4=8 8 JEw AT TR
TATGCH ---- GFL —-- |

A. 3,¢o B. q,¢o

D. q, AWE= E. So, A
A wei e @ B. g i C. s3ia s o1
D. ©i5-qiea 1S 713 E. &f1dw i &3

i Afedt= 2faen Soaifes 732

A. = 1S o8 B. aife 2t @it fas

C. oo (3 CoiEe F3 D. e @@sw

E. =33 Tt s

Answer Kevs: I B2.C3B4B5A6C7B&8D9D

10,A 11.B 12.C 13.A 14C 15.C 16.D 17.C 18 A
19.A20.A21.A22B 23 E24B 25.D

C. di*=

C. So,¢0

IERIRIEEIE]

5ifd7 3ozt e o % «fB

3 CCF ¢ THA AT CSAT G [AIHISE O i1 FA-

A 8 B FauimE ZAE Sl 3, 08 SiFd IS 9,000
BiFt 8 8,000 BIF! ToYH A 7351 WF® IR | 2008 FAE SR
=1 &7 Yoo It BrarEm faem: A d¢o 513t 8 B Yoo BiFt | ToTa
T W ¢% | oot FE SR AS-FET T 33 FAES T (FH
ARET FE | ooe-9 IR A T 3,800 BIF W2 BraE
e A 3,000 5% 8 B ¢oo BiFl | TR B WICH T J9 €&l
T S i 25 008 AR AN (&EF o |

1.

e ), 00¢ S A 8 B -3 TTHEE (67 FS biFt?
A.34509 4500 B. 330094400 C. 5065 94920
D. 406594920 E. 5065 8 5420

Joo¢ A A 8 B -93 TA4R 3@ ¥ 6191?

A. 150 s 300 B. 1659220 (C.200 9300

D. 1508 225 E. 165 ¢ 200

S a ), 2008 SR A € B -3 TR (51 T biFt f&a?
A.©%0 88800 B.w8¢o 8 8¢oo C. 8oL 8 850
D. 8ob¢ 9 ¢oxo E.w8¢o 9 Boke

008 FIA A 8 B -7 TrYwTR 3w FS b1t f&e?

A. 1659200 B. 1508300 C.165¢220

D. 150 ¢ 100 E. 150 ¢ 200

BrEEE i AlS @I W I@W A G2 ISTE SAmIa
TR (ATE TS BT CITHR?

A.200 B.de C.d¢ D.de E. dobe
efEfe et sl Readices Swse T3t T 71?2

A. FHEWa SN @S B, 33w F4 C. IFI-Ea W
D. ey sre E. toxiiste fesrafaestdia s
TEE It WITER TECNAM! 3R Acaam @& et 3=t 23
A. foiRem qret e B. @feme 19 <Rl S5
C. 5o B YiFl o D). Tt Giael S
E. {2311 gt 4igell WA

‘&GN FSF 9T NMNeAMIR FEE 93T abe BRIE
5% owiv 31 Tt | frg v 3IfEes &ftes sam ==
TATS: Ly bl FEt Tl i 9 AfTeiE
T Twm ) T TuEe {939 dgeeiE T e
& = 9rs T@?

A. TV 2R (O 9F AR e O @5 Fh0e 2@

B. TviA 9201 (51 2 (S Wb 0%l Rt Fh0e =@

C. =i I20F (6@ T (® ¢ B REar Fa0S 21

D. 7iwi 92039 (EEE ARS 339 DIl (i A0S 204

E. ¥5%{7 93034 (5@ %' ¢S 529 Bl [eatst sars =@
55



10.

11.

12,

13.

14.

15.

16.

17.

18.

UccC

I Besitv T3 e aers Tyt 17?

A. S-reEe A ofFsaad  B. Fuiei! T57 IemRe

C. iy sz D. Fbidime riressd
E. =3 JemiEa

T wiEre zrE, /g wim agt o s ==t w 1=
& AR (o[t Fars T[@?

A. Seiiere =iy B. wiaw s C. I4igs] &
D. 95919 E. q9mig
TEE-T% IR Ao 4 fofes T2

A TrEee 9 75w S 916yt B, 496 @92 WiT (3% 98T
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